
���������
	��
����� ��� ������������������	������� ��!��	�"

#%$
&('*),+.-
/0' # '*)213'5476
8
'*9:4;/=<?>A@CBAD

EGFIH0FI)J'54;KLFNM?FI)2OAF�PQ>%'*),H
RS'*M?T09U-.V*<?>A-XWGY[Z]\*^%_*_a`Ab
<J'*)?+0-XbcM?' # '*)213'54edgfh) # biVA>jO

E(9:)?M2<LYk)J'5fe<Il�mg+.V*+.M,<n`jBABAo
&pT.9:M3q!FI),M?9U>*-Xlr/aFI@0<?FIs # FI)[`jBaWt\*^A^A^

u�vxwzy|{N}=~jy

�����������
�=���.���z�0�!�J���������,���J�p�n���A�%�z�x�j���j���J�A�,���j�%�j���z�J���%���������� 
�����2�¢¡a�j�%£5�,�%�����J�¢���2�����z�r���¤���[�j�A¥
�%���p�����¦�������
���� 
�=���r (�k�j¡=������§j�j¨L©
�����
�[�*�%�z�X���Q�����j���k���z�j�������������2�������z���z�5�������ª���¤�j�«�����[�k�¦����£j�����p���
 
�����2�¦���¬���������z�[�0�j�,�j�a�j���������(���2�r���2�j���z�G¨;­r�2���%�������j�������2�n�j�����������%�2�j�a�j���������=���ª�������5�;���%�| ®�������(��§j�����
�z�J���%�����������=���z���z�5���z��¡*�¢�������r���A�%�z�¯���j�3�j�¤�z°5�������ª¡��2�����±¨�­r�����%�¦�J�%�j���=�ª�z�z�0�r���ª�����������¬�
�������� (�z�ª�²�����
�J³.�z�J���
�j�¯¡=�j�%£*�2�%�����J�j¨

´�µ«¶C·Q����¡0���,��¸�¹�ºj»�¼A�a½Q¾�¿�¼A�a½pÀ�¼j¼A�0½3Àj»�¼A�.½pºA¿�¼A�a½pÁ�¼j¼
Âp���* «�j�,����¸;Ã��j�%£*�2�%�����J�j�0Ä3�z�%���2�j�tµ«°5�������ª¡��2�����±�������J�����=�������LÅ�����£j�����z�aµÆ�A�z�����������G�=¹(���z���ª��¶x���[�ª�

ÇeÈ�É2Ê
Ë|Ì�Ì�ÍNÎÐÏ(Ñ,Ò7É�ÓhÌÕÔ×ÖNÎIÓhØ�Ù0Ø?Ú
ÛxÜIËNÌÕÒhÝeØ,Ü�É,ÜIË
Þ0ßNÒhàÐÝGázß�É,ÜNÜIØ,Ü(Ô×Ø2Ò0ÓhßIÌÕàÐÒ.É?Ë|â|àÐã�ÌäÉ2Ü�Ë�Ì�ÜNã�Ø?Ö|Ò7É,Ñ?ÌÕÊ�Ì�Ü�Ó�å%È�É,ÎÐÝeØ;Óhß�É,ÜNæ«çäØ?æ?Ø
ÛxÎÐàÐÍNÒ7É2Ü�ÓhàiÝ�è=ÛäÎÐØ?àÐÝeàÐØgÛtÒ7É,Ö,éUØNè=êAÌÕÓhÌëÒ�Ù.É�Ò7ËNÝeÎÐÌÕÏ�è=ÛxÎÐÚjÌÕÒeÓhØ�ÙaàiÝeàÐÜ¬è0ìNÌ�ËNÌÕÒhàÐã�ØLí�ãëßNÌ�ÜIàiî�ÖIÌ,è�ï?Ø?ßNÜ¦ð¯Ì�É,ÜIÉ,æJØ,ÍIÎÐØ?Ý�è0ê�àiÌëÒhØgð¯Ø2ÓeÓ7É2Ò7Ë|à�è
ï?Ø,ßIÜLñ¯àÐÎÐÎcÉ2Ý�èAò;É�ÓhßIÎÐÌ�Ì�Ü�ï?Ø?ßNÜIÝeØ,Ü5è*ÛxÜ�ËzÒhÌ�É,Ý¯ó5Ì�ßNÜIÌÕÒeÓ�è¬ñxÌÕÒ7É,ã�ÎÐÌ�Ý;êAØ,ÎÐÌ�Ê!É2Òhã7ß�É2æ|àÐÝ�èAô3É2ÒeÓhàÐÜ�ázßzÖIÚIàÐæjè�çxÉ,ÚjÌ�Ì(õ*Ø?Ö|ÒhæzÏ�è�öxàÐãëßNØ?ÎiÉ,Ý
÷ É,ÜIÜNÌ�ÎÐàÐÝ�è�Ù0àÐÎÐÎ%ø�É,Ê�ÌXÉ,Ü�Ë
ÝeÌ�Ê�àÐÜ�É�Ò¯É2Ö�Ë|àiÌÕÜIã�Ì�ÝäÉ�ÓXázÈ²õGí¢ù�ï?ÖIÎúÏLû�ü,ü?üJýtÉ,ÜIËQÉ�ÓäÓhßNÌ;ðXí±Þ0Ø,ÜNÔ×ÌëÒhÌ�ÜIã�Ì;É�Óäö ÷Xþ ù�ÛxÍ|ÒhàiÎ5ÿ������?ýGÔ Ø,Ò
ÓhßIÌÕàÐÒäÝeÖNÑ?Ñ?ÌÕÝ²ÓhàiØ,ÜIÝxÉ,ÜIËrÌ�ÜNã�Ø?Ö|Ò7É,Ñ?ÌÕÊ�Ì�Ü�Ó�å
õ.ßIàÐÝ;Í�É2ÍjÌÕÒ;àÐÝ�É
ÒhÌ�âzàÐÝeÌ�Ë�â?ÌÕÒhÝeàÐØ?ÜkØ2Ô.Ó��0ØQã7ß�É,Í|ÓhÌÕÒhÝÆØ,Ô.Ê«ÏLËNØ�ãëÓhØ,Ò7É,ÎaËNàÐÝeÝeÌÕÒeÓ7É�ÓhàÐØ?Ü�àÐÜgÌ�ãÕØ?ÜIØ,Ê�àÐã�Ý�è��IÎiÌ�ËgÉ2Ó þ å ÞxåAÙ0ÌëÒhæJÌ�ÎÐÌÕÏLàÐÜÛxÍ|ÒhàÐÎAÿ������zå
õ.ßIÌÆâzàÐÌ��tÝtàÐÜQÓhßIàÐÝtÍ�É2ÍjÌÕÒäÉ2ÒhÌXÓhßNØ?ÝeÌÆØ2Ô%ÓhßIÌÆÉ2ÖNÓhßIØ2ÒxÉ,Ü�Ë
ÜIØ2ÓxÜNÌ�ã�Ì�ÝeÝhÉ�ÒhàÐÎÐÏrÓhßIØ,ÝeÌÆØ,ÔAÓhßNÌÆìIÌ�Ë|ÌÕÒ7É,Î¬çxÌÕÝeÌÕÒhâJÌ;Ù0Ø?É2Ò7ËQØ2ÒxàúÓhÝtÝ²Ó7É��%å



� �������	��

�����	�����

�������z�J�z�5���j�z���2���¯���j���j�«�����%��¡����z�����z���3���j�������J�2�z�j���z���j���z�����ª���j���C�±�j���z�������g�����j�.�j�����ª��� �j�(������������¡������
¡.�z���%�����2�j�%�z� ��� �j�������L�[����£j���������%�����%���C���z���%�2�ª�������z���.�5�������j���j�2��������¨��%�j�L�J�%�j���=�ª�j�¯���������¢�������±�U�����
���%���X�ª�|  �j�����������3�j���J�����5���p�j�«���%��­r�������z���A�������z���G «�[�����g���=���Q�U����� ���%�k�z���¤�j�r¿�����¼����±�����g�z�=���j�
���%�����2���(°*�������������j�X»�¼j¼j¼A�����j���j�t�J�������=�����!�J���z���ª�(���%�������j�=�����%�k���j�������J�2�z�j���z���:�����! I¼A¨iÁk���,�������ª���¦���" *¿�¨ú¾
���2�������ª���¢�j���¤���j���j�Æ���j�2�������j�z�p���%�������j���=���%�¦�U�����# %$*¨iÁ����2�������ª���±���& �º*¨iÀn���2�������ª���G¨�'3§j���Q�����g���j�[�g�.���2���*�G�
���%�g�����j�.�j�����ª�����j�«�J�����2�������3�J���z���ª�r���2�j�%�z� ���¤�j�������p�[����£j�����3���%�2���%�������z���%�2�ª���(���z���.�5�����!�j���j���������p���j�
�j���N 
�±�U�����)�*¨iÀ+* ���,$�¼A¨iº+* �j���¢���%�������j�.�j���������n�j�X���j���j�x���j���������j�z�r�:����� »jÁ*¨iº+* ���[¾¬º*¨Ð¼-*�¨/.

0 �����%�t�����[�5����¡.���p�j�«�.���2�������j�¯¡=�j�%£*�2�%�������ª�z�3���j�L�����J���z�j���z� �j�2�z�����ª�j¨
�%�j���J�%�j���=�ª�j�x��� ���%�[­Q���ª���z�
�*�������z���j���j���j�A�.���2�������j�21²�%���%¥h¡=���������z���43a¡=�j�%£*�2�%�=�����ª�z�ä���=�J���z�j���z���:����� ��¡.���%�¯»jÁjºr���%���=���j�����:�j�¯���%�(�7 (�z�ª§j�
�����5�������z���%�z��Å����2�2�&$A¿��t¿��jÁjÀg���[��¡.���%�65�Á+5����%�����2�j�����:�j�����%�3�7 (�z�ª§j�������5�������z�����z��Å����2�,�7$A¿��t¿����jÀ
���¦��¡.���%��¿�¨8$¦�[�����������¦�U�j�!���%�p�ë «�z�ª§j�g�����5�������z���%�z��Å����2�,�9$A¿��.»�¼j¼j¼A¨/:

©!���z���p�j¡=������§������ª�����������=�ª�[���=�������%�����������k�j���z�������Q�2���j�=�J���������
���%��¡=���j��;Ð�!�%��¡�������¡.�z�����g���,�j�%�z�±���
�j�������!�¦����£j�����!���%�2���%���������z���%�2�ª�������z�n�.�*���.�j�x�j���������!�j�����������!�k¡=�j��£5�2�������J�¦�I³.�z�J���
�J���z�������j�2�����5§j�z�����z�
���������2���.�5������¨
Ã(�z���j���������j�z�5���p���j��¡.�L¡a�%�j���2�r�j���������g�j���������p�j�������z���ª���2�r�j�Æ�j���%���2�z�.�����U�j�����!¡5���������
�%��¡����j�,�r�ª�z�j�=�!�����=���������j�ä���z�J�|§j�������:�j�r���%�z�ª�3�J���z���ª���j�,�
�j�����������r�[�ª���5�!�:�j�,�J�����%�z�����J���z�������j�2�
�����%���²�j���ª�
��� ���%�z�ª���%��¡��¦���
�j���%���2�z¨ ©!�����¦���j�S�����n��³ � �,���j��� ���z�j�J���ª���S���z�����������%� ���  
���%�z���=���z�j� �%���²�j���ª���j���
¡=�j�%£*�2�%�=���J�j¨ 0 �Q���j���L�j�������j�����0���j�a�ª�L���5§j�z���r���¢�j�������3�[����£j������1U�z�ª���%���3���ª���z�J�����n�j�3�����������z�J���ª��3;�����z���
�2�=�j���±���z�j�J���ª���=�!���j�¢�.�j���z�5�����j���ª���I³0�z�J�Q�[�������j�p���2�j�0�j�2���ª�����j�x�������.�j�=���������ª���t¨

©!�*�����A�ª�(¡.�z�J�����z�������.�j�����j�5���������������2�����j�����%�| ®¡=�j��£5�2���������ª�z���=�ª�����(���%�����%�����j�����I³.�z�J�!���¬§j�z�����j�2�
�����k���z���%�2�ª�������z�¦�.�*���=�j�¯�j�������������%�N ®���%���n�I³.�z�J�����z�J�|§j���2�n�2�����z�����±�j�2���������j�����%�| ®���%�����I³0�z�J�����,�j�����%�
�j�������%�¢�j���ª�*�������������j�r���z�����%�2�J�z�����%�2���%�������%�±���z�2�=�j������� �j�3�[����£j������¨ ©x� �%�������������ª���������[�0�j�2���j�¬�
���n�=���%���2�����j�=�����%�L�ª�����j�ä�:�2�j�[�� «�j��£��j�N§j���2�����%�¦¡=�j�%£*�2�%�����J��1U�:�j�r�J�A�j�[�=�ª�j�����%�L�2�ª���5�����j�Æ�J���z���ª���j�2�r�j���
�%��¡����j�,�Æ���k¡=�j�%£*�2�%�����J�����z  �j�=�k���%�������ª���j�a�J�*�z���=���ª�����43¯�j���k���������2�j�����%�p���=�����ª���%���ª���=�ä�j�N§j���2�����%���J�2�z���ª�
1U�U�j���J�A�j�[�=�ª�j�ä�������J³0�z�J���L�j���J�2�z���ª�p�����[�����r���C�j�����������2�j���¦�j��� ���%�[�2���ª�k�j���j�C���j�z�¬�<;Ð�g�%���²�j���ª�p���������j�2�
��� �%�������2�[���=���%� �����n�J���z���ª�n�����[�ª�[�j�=� �²�%���%�������2�j�����%� ��¡=�����ª�ë�=3,¨ ��� ���=���[�=���.���z���[�J���������2���J���C���A�%�z�
> ÛäÜpÌ�âJÌ�ÜpßNàÐÑ?ßIÌëÒXÍNÒhØ,ÍjØ,ÒeÓhàÐØ?ÜLØ,Ô�ÒhÌ�â?Ø?ÎÐâzàiÜNÑ!ã�Ø?ÜNÝeÖIÊ�ÌÕÒxãÕÒhÌ�Ë|àÐÓ¯àÐÝ¯ÝeÌ�ã�Ö|ÒhàúÓhà8?ÕÌ�Ë¬åXÛxã�ã�Ø2Ò7ËNàÐÜIÑ�ÓhØrázÓ7É�ÓhàÐÝ²Óhàiã�É,Î%çäÌ�ÎÐÌ�É,ÝeÌ�ð«åiû�ü
Ø2Ô

ÓhßIÌ�Ù0Ø?É2Ò7ËpØ,Ô0ð¯Ø�âJÌÕÒhÜNØ,ÒhÝxØ,Ô�ÓhßIÌ�ìIÌ�Ë|ÌÕÒ7É,Î5çxÌÕÝeÌÕÒhâJÌ«ázÏ|Ý²ÓhÌ�Ê ù�ÛxÖNÑ?ÖNÝ²ÓÆÿ������?ýëè¬É2ÓxÓhßIÌÆÌ�ÜIË3Ø,Ô�ÓhßIÌ �IÒhÝ²Ó¯î�Ö�É�ÒeÓhÌÕÒ¯Ø2Ô0ÿ ��� �|è¬ÍjØ�Ø?ÎÐÝ
Ø,ÔAÝeÌ�ã�ÖNÒhàúÓhà/?�Ì�ËpÉ2ÝeÝeÌÕÓhÝ �.ÌÕÒhÌA@,ÿzå BDC�Ø,Ô%ÒhÌÕâJØ?ÎÐâzàÐÜIÑ(ãÕØ?ÜIÝeÖNÊ�ÌÕÒtãÕÒhÌ�Ë|àúÓFE �tßNàiã7ß3Ý²ÓhØ�ØzËpÉ�ÓHGIB��,ü�ÚIàÐÎÐÎiàÐØ,Ü5å
J ázØ?Ö|Òhã�ÌLKGÛxËNÊ�àÐÜIàÐÝ²ÓeÒ7É�Óhàiâ?ÌAMON�ã�Ì;Ø,Ô�ÓhßIÌ þ å ájå�Þ0Ø,ÖNÒeÓhÝ�ùªö¯Ì��tÝxçxÌ�ÎÐÌ�É2ÝeÌLE¬ï?ÖNÜIÌ;ü|è�ÿ ��� �Jý¯É2Ü�ËQÌ�É2ÒhÎÐàÐÌÕÒ;ËIÉ�Ó7É|åäÛäÎiÝeØ|èjÍjÌÕÒhÝeØ,Ü�É,Î

Ú�É2ÜIæ�ÒhÖIÍ|Óhã�àÐÌ�ÝxÉ,ã�ã�Ø,ÖIÜ�ÓäÔ×Ø,ÒXÊ�Ø?Ý²ÓäØ,Ô=ÓhßIÌ;Ú�É2ÜIæ�ÒhÖIÍ|Óhã�àÐÌ�Ý�åtÈUÜkû�üLPL@�ÓhßNÌÕÏ �0ÌÕÒhÌ�P|û?å @4C Ø,ÔaÉ2ÎiÎ%ÚIÉ,ÜNæzÒhÖNÍNÓhã�àÐÌ�Ý�èIàÐÜ[û�ü?üL@�ÓhßNÌÕÏ �0ÌÕÒhÌ
üLQzå PDC�É,ÜIËràÐÜ�ÿ � ���(ÓhßNÌÕÏ �.ÌÕÒhÌ;üLRzåÐû�C
å

¿



�j�
�j� �J�A�,���j�%�j���z�J���%�����C�������k���j�
¡.�n�����z� ��� �j���j�ª� ���n���%�z�������2���%�z��¨�©
�%�¦§A�ª�� ���� �������L�=���.����1²�j���
�j�����±���¤���������j�«���%�k�j���%���p�=���.���2�3���z�5���ª���%�z�¤¡.�z�ª�| �3
���r���=���3�����U�j�����Q�j��� ¡a�j�%£5�,�%�����J�¢�����[���[�0�j�2���j�¬�
�z�J���%���[�����a�%�z�%�����z�����������p���j� ¡.�g�=�����3�j�«�j� �z�J���%���¦���g�z°5�������ª¡��2������ 
�ª��� �J�����.�����ª���ª§j���[���2£j�������j���
���%�z���L�=�%�z�%�����z�=���������J�������������z�¬�! r�ª���±�����*�j�����ª���U�=���J���ª���������g�j�������
�[����£j������¨

0 �± (��£*�%�N ��p���S���%�����A���ª���ë�j�Q����� �������%� �j�g¡=�j�%£*�2�%�����J�S����§j�����S�����G¨ �Õ�®����� ­r�������z� �*�������z�����
Ã��j�%£*�2�%�����J�L�����j������1h¹����j�����«¾p�j�	�*�z�J���ª����Ár�j� 0 ���������ª����3t ��j�Æ�j�%�j�����z�������ª����¹����������ª���%�������L���"�*���=���z�L¡.���
$*�L¿ 5�Á+5 1²������� �������z� 1�¿���$jÀ+3,�Q�=���j� À+3,¨�©!�%���2���[�ª���5�¦¡.�¤���j�2�j�
���2�������z�5���n�U�j���j���ª�| r���%�C���j�z�5�������
�����2�2�������j�����%�z�ª���%��¡���¨��
�N «��§j���z�Q�j�����%���U�����ª�N 
���%�C�=���2���j�2���=�=�n�����| ��!�%��¡a�����z�n���S¡=�j��£5�2�������J��¡=�������
�����N§*���%�p�j���=�ª�p�z�J���%���¦�������������(�=���������������:�j�r�����2���[�������,�������j�j¨

0 ���ª�N 
���%�±�U�j�L�����a�����������ª��� �j���%��¡=�����%�����%���C¡=�j�%£*�2�%�����J� ���|  ���j�C�����J���z�j���[�z�J�������[���¦�j�J����§*�ª�ë� �j���
�����=���|§j�± (�z�ª�²�����¢�j�3���*�������7�j¨ ©
���������%�z���=�j��¡.���z� �����=�%¡a�����������������2���ª���
�:�j�n���¦�ª�z�j���n»�¼j¼C�j�z���2��¨ ���j�
�J�%�j���=�ª�j��� �������z� 1�¿���$jÀ+3,�������=���j��¿zº*�A !�2�����z�«�����r�U�����ª�N 
���%�L��¡.���%�(���%�3�%��¡=�����3�����L¡a�j�%£5�,�%�����J��¡=���������
¿ 5%�j»��	�����%���j�%§j�A�������z�p�j�;�����g¡a�����e�=�������j�z�ª�±�U����� ���%�g�J���¦�����2�����j�X���z�J���ª���=�r�j�«���%�k�J�����¬���2�j�G�0�����¬���z�����%�
���%�p�%�z�J�z���2�ª�7���j�x�2�z�����j�2���%�g���[�j�J���ª§j�����,�j�%�J¥7���ª�U�r�����p���%�������j���=�«�j�¯�%��¡����j�2�������z�±���
���j���0�j���z�����3�=����¡=�ª�Q���
���z���=���!¡=���2���%�z���X¡*�k���z�j�����n�j�0�����z�ª�«�ª���j�¦�j�G���������2�2�������j�z�¦�%��¡������A�j�������%�����²�%�����������%���j�z�¦���%�r�%�z�J�z�2���ª�7�
�j�!���2��§j�z�¬�������¤���=�2�
�¤�J���=���ª���ª���C�:����� �����j�������2�������%�%¨
� 0 ���
�����j���
���
�=���j� ¿zÁ*�
� 0 �[´��J³0���,�����
 !���j���
��� Å��j���������t¸��i©!�%�¢ 
�����ª�±�J���[�����2�����j�!�2�j�J���������ª�*���%����� ���%�z�ª�������2�n�j�����������%���,���%� ���������z�ª�[�I³.�j���2���
�%�j�r£*�%�N 
���%�¦ 
�����
�%��  �U�j�����%�����[�|�¢�=�%�������z�ª�
���z�����%�2�J�z�r���¦���%�������*�j�ë¨(;����¢���%���J�A���������%�¦���������=�����ª�����j�
�J���[�����,�J�j�*�%�Q���j���G�5�ª���j�����J���=���[�%�j�«¡0�!�¦�j�%�
�j�(�����%���k���2�j�����U�������z�¦�:�2��� ���%�r�����7�������j���j���%���z¨
��­Q�����%�
���%�Q���j�%�������j�r�j�.�[�*�%���,�[�z�J���%���[�������5 (�r���j�����|���������«�j�n�z°5�=�����ª¡��,����� ���¦�j�[�z�J�������L�[ r�ª����¡=�j�%£*�2�%�=���J�
���j�¢���|§j�����j�����j�����������2�j�%�p�����j�±�j���±���������%���ª�n�=���������[�%���[���������p�j�±�z°5�=�����ª¡��,����� �������%���J�j���2�z���.���������%�
�z�J���%�����± 
�ª���%�����(¡a�j�%£5�,�%�����J�j¨

�A���[�������2���j�¬���%�p���%�z�g�j�¯�j���j�������[�j�0¡=�j�%£*�2�%�=���J�¦���z L�%���%�3��������¡=�j���j���J�z���,�ª���¬�����j�¯���J���z���ª���j�!�����j�������
���%�¤�[�����U�j�������%�±�j���C�%��¡����j�z�!���j�¦¡.���z� �����a�%¡=���������������������������:�j�����n�ª�z�j����»�¼j¼ �j�z���2��¨ �%�j���J�A�j�[�=�ª�j�
� �������z� 1�¿���$jÀ+3,�G�����=���j��¿ 55�0 
�2�ª���z�!�����L�U�����ª�| r���%�¦��¡.���%�r���%�L§A�ª�� 
�
�j�«´��j���z� 0 ¨0Ã��z�����,���j�;½Q�z���| (���2�
����¿ 5%�j»*��� 0 ¡=�j�%£*�2�%���«���z ®�%�r���z���[ ��j���%�z�J�z���������¦�������2�j���z�J�(�J���z�=�ª���j�2�«�:����� �����2�%���%�z�����j�=�¦�U�2�j�����=�ª�z�¬�
�%��¡����j�,���t�j�p (�z���Æ�j�p���±�z����¡=���k�J�2�z���ª���j�2�3���±���2�j���z�J�L�%���%�z���p�%��¡=���j�2�3 
�%���������,�j�%�����j� ¡.���z�����%¡����z�J���z�
�������%�U�j���z�����z���j�������%�z�5���( 
�%���2���j���=�2�%�����z�������«�j���a���%�z�ª�(�����j�.�����ë�[���[�j�2�����(���g�j¡����j�����k�������,�������j�j¨
� 0 ���
�����j�������n�=���j��¿zºjº*�A���Q°*�%�j���z�(���%�Q�:�������| 
�������j¡����z�J���ª§j�3�j�ä�L¡a�j�%£5�,�%�����J�����z S�U����� ���%�r�a���0���,�;�j�x´¬�j���z�
0 ¨0Ã��z�����,�G�����ë���Q�j¡����z�J�p�����.���¢����� ���,���
�=���j�J�j�0�������%�=�0�j�2�
�����2���j�5�����ª�k�J���z���ª���0¡*�¢�����j���z�J�������n���%���2�ª���5���
�j���J���z���ª���j�,�������j�������p�����[�:�,�j��� �j���������%�����z���p�j�������%�[�U�����ª���j���������2�=�%�z�¬�3�%��¡����j�,�p 
�%�¢�[�|�  (�j�����n�j�
�J�����J�z�j�ä���%�z�ª�������j�.�����ë�n r�����ª�Q���%���j�2�=���������[�U�j�2�[�!�j�¯���|  �������j�����%�����¢�����j�������!���%�z�����j�������z�J�������ª�n���

»



�z���J���%�,���j�!�U�j�����������=�������L�j���k�=�2���%�z�5�;�J���������J���¬¡5�g�z����¡=�����%�p�%���%�z���;�%��¡=���j�2�Æ���z���=�J�z��¡5�k�[�����:�j�����=�%�j�j���
���ª§j�L���±���%�z�ª�!���2�j�0���2�7�j�%�U�����p���%�z�[���z��§j�z�!�z�5���ª���z�ª���:�2�������%�z�ª�
�%��¡=�������j���±¡.�����������%�p (�j�2�����j�%�� ��% 
�����2�
�%���[�j�¤ 
�����t��§j�������z§j�����%�k�J���%�2���j�k���±�%�%�. 
�����ª�L���ª���j���j�������¤�%��¡����3���Q���j�%�������¦��� �����±¨
�S©!�*�����.�j�
�j�������¦�j�=�J���z�����������[���;�j���[�J�A�z�������ª�����ª��§j�z�a�%���.�z�������¬�j�[���%���j�������«�������%���������n���%�r�,�����2�j�J�����2�����������(�j�G���%�
���j�z�5���r���������p�z�J���%���L�j¨ �

�����z�J���%���[�������«�������������[�j� �J�*���z���2�ª§j�����ª�����,�����%������� ¡=�j��£5�2�������J�j¨�� ©ä�C�[�*�%�z��¡a�j�%£5�,�%�����J�j���[�j�¬�
�z�J���%���[���������=�z§j�n�=���z�C���=���������j�Æ�z°*�������ª¡��2���=� �U�2�j���� (�j��£0¨�©
�%�z�ª�L���A�%�z���������|§A���%�n�����.�j�����j�5���������ª���5���
��¡.���%���j�������[�j�r�%��¡����J���¬���2�j�J���z�Q��¡.���%�n�j�������[�j�Q�J�j���.�j�2�������%��¡��n§j���2�������z°*���ª�7� �j�=�S��¡.���%���%�A���j�[���
�J���z�����!�J�*���ª�z�z¨��r�| (��§j���z�0���%�z���L���A�%�z���
�%�[�%�j�
�j�ª ��z�A�Q���������%�����������:���z��¡=�j��£��J³.�z�J���r���=���
�����L�������������z�
�������%�,�j���ª�[�������%�3�j�z�%���2�j�0�z°*��������¡��2�������U�2�j���� (�j��£0¨ 0 �����%�A���%�z���p���A�%�z���(�j�����������p�j�x���%�3�z���2���ª�������A�%�z���
���¤���%�k�j�z�%���2�j�X�z°*�������ª¡��2���=� �:�,�j���� «�j�2£��J�A�j�j�z�%�������ª�¤���.�z���ª�U�¢ 
�%�����%���p�j� �z�J���%���¦�������j�z�¬�����3������¡����j�
�j�L�J���z�=�ª���j�,1²�%�z���J�n��� ���%�z���¦�[�*�%�z�����ä���j�z�5�������j�����j��¡.��¡=�%�j���2�3�j���������n�j���������L�j�=� ���z���ª���,�3�j�«�j���%���,�43
�j�������%���±�%���%�j�r���z§j�L�j�5�����z�j�t�%���������j�j�z���z�ª�7�±�j�����%�¦���%�p�z�J���%���[���L���j�z�¬���r���¬§j����§j�z�G¨;©!�%�p���z�j�����
���j�
�j���«���=�z§j�j�(�j�G�������r�j�0�����z���
���A�%�z���Æ�U�����]���%�!�=���.���2�Æ�j�G©x�| 
�=���z���91�¿��+5%�+3,�2�A���ª�����ª�F���j��� ���z������1�¿��jÁA¿ 3,�
0 �����ª��� �j��� �r���2�[�j����� 1�¿�����¼-3,� �r�����¢�j�=� Å¢�*�j��� 1�¿����I¾ 3,�LÂL�ª�j�j����£*�p�j�=� Å¢�*�j��� 1�¿����+5�3,�LÃ(���2�=�j�%£j�j�
ÄQ�����������z�=�j����Ä3�����2�%�,������1�¿����jº+3,� � �j���n�j��� �®���ª���,1e»�¼j¼j¼-3,¨�©!�����(������������¡*�����[���z�j���
�J���[�����z�%�z���2�ª§j�j¨

©!���A���2���ä�������z�������¯���3�������������¯¡a�j�%£5�,�%�����J�p���L�r���.�z�����j�¬�[�*�%�z���j���j�z�%���2�j�5�z°5�=�����ª¡��,�����  
�ª�����J�����a�ª�����
�[����£j�����p�����z� ����¡.�L¡*� �A�*�%¡=��£�1�¿��+5�»+3Q�j�=� �A�*�%¡=��£��j�=� �®��������� 1�¿��+5�5�3,¨������������U�2�j���� (�j��£¢�j�(�¦�²�����×¥
¡=�ª�N 
�k���A�%�z�*�j�=�j�z�%���2�j���z°5�������ª¡��2�����® 
�ª���k�J�����=�������!�[����£j�������¬�p���z�[�����j�5�=���.���;���¯¡5�gÂp�z�%�*���j����¶t��§A���%�
1�¿�����$+3,¨�½r�,�z 
���������±���%�����ª�����,�����%���3���¢�%�A���j�[���3�J�����2�������z���J�j�=Â��z�%�5���j�=�±¶t��§A���%�����5�����A�����J�p��������§*���=���j�
�2�����ª���=�j���ª�7���J���������,�j���¬���r�������%���U�j�2� �j�X�z�����j�j�z�%�����
����¡��!�����[������¨Æ©!�%�z���L�����=�ª�[���=���r���±�j�±�z°*�������ª¡��2���=�±�
�%�k���j�z�¬�!�����U�j�������(���n�j�5�n���������j¨ 0 �ª§������<�p�j����´j���2�¦�j����1e»�¼j¼j¼-3�1U¡=�������=���%�p���±Âp�z�%�*�3�j����¶t��§A���%� 1�¿�����$+3
�j���nÂp�*�,�%���2����£j�j����1�¿����jº+3F3(���j���(���%�z���Q�J���������2�j���5���(�������%�r�:�j�2� �j�.�.�j�����:�����ª�L�J���������,�j���¬���(�j���n���¬§j�z�����ª�������
�����¦�ª���z� �2����£5¥7�������,���%�%¨n©
�%�z�ª�L���A�%�z���������|§A���%�n�������ª���5����� �=���%���2�����j�=�����%�±�J�������=�������ª��� �j�=�C���|§j�n¡.���z�
�����z�¤�������%�k�[�j�J���*�z�J���%���[�����p���������2�����%���j¨ �
�N «��§j���|�t¡5�����%�z�ª�Q§j�������J���������2���J���ª���G�0���%�z�������A�%�z���Q�%���%�j�
���|§j�3�j�5�¦�%���²�j���ª���j�(¡a�j�%£5�,�%�����J�����[�z°*�������ª¡��2���=�±¨ �
�z�=�J�j�A���G «�Q¡.�z���ª��§j�!���������%���²�j���ª�«�j�«¡=�j��£5�2�������J�[�����
���%�j�������±�=�%�z�%�����z�=�����¤�¦����£j�������2�j�����%�±�j��� ���������[����£j���������j���²�����J���ª��� �����*�j�����ª�¤���¤���%�z�ª�p���2�z���z���J�
���%�z�±�����z���L���A�%�z�������j�����j�!�J�*�a���j�������%�p�J�%�������z���J�L�j�X�����U�j�����(�j�
¡=�j�%£*�2�%�����J�j¨

©!���r���A�%�z�����=���«�;�J���������2���J�(¡0�z�����%���;���g���%�3�����j���«�j�t�z�J���%���[���Q���A�%�z�����j�G�j�z�%���2�j�0�z°5�=�����ª¡��,�����  
�ª���
��ìNØ,Ò«Ê�Ø,ÒhÌ!ËNÌëÓ7É,àÐÎÐÝ(Ø?Ü�ÓhßIÌ!ßIàÐÝ²ÓhØ,ÒeÏ�Ø,ÔäÚIÉ,ÜIæ�ÒhÖNÍNÓhãÕÏ�ÎiÉ �Æè�ÓhßIÌ�ÒhÌ�É,ËNÌÕÒ«ã�É,Ü�ãÕØ?ÜIÝeÖNÎúÓ��kÉ2ÒeÒhÌ�Ü�ù²û�üLQL@?ý«É2Ü�Ë	�¯ÖIÜIÝeãÕØ?Ê(Ú5ù�ï,Ò�å ý

ù²ûFP,üLP?ýëå

 Û�ÝeÌ�É2Òhã7ßpàÐÜ3í�ã�Ø?ÜIó5àúÓtÔ×Ø2Ò¯ÚIÉ,ÜIæ�ÒhÖNÍNÓhãÕÏ�Ï|àÐÌ�ÎiËNÝtÊ�Ø,ÒhÌxÓhß�É,ÜLû�ÿ�����É2ÒeÓhàÐã�ÎÐÌ�ÝäÝeàÐÜIã�Ì�û�üLB,ü|å

$



�����J���[�=�ª�����«�¦����£j�����¯�j�z�¬Ä3µ;�ë¥7���A�%�z����¨ � �����������t�U�2�j���� (�j��£0�j�r���z�¦�����j���a���0���¯���t¡*�L½3�%¡.���j�¬ÄQ�z�j����£j�j�=�������
�j��� �%�5�%¡a�ª£ 1�¿����+5�3,¨9�*�������j�����������A�%�z�������2�[�����j�.�����z� ¡*��½Q��¡0���j�ÆÄQ�z�j����£j�j�=�������¯�j�=���.�j���91�¿����+5�3,�
Å��*�������A���
�=�������2�=�����e�!�j���®©¯�j���ª��� 1�¿������+3±�j�=� 0 �2�j� �����j�����X�j���J��� 1�¿������+3,¨!�*����� �j�L���%� �z�J���%���¦���
���������(�=�������������
�U�j�p�j���ª�N 
���%���%���U�j�=�ª�Q�j�=��¡=�j��£5�2�������J�±�������p���������z�5���ª���%�z� ��¡.�|§j�[���j�¤¡.�g�����z�¤�U�j�2�[�j�����
�������%�z���k���A�%�z�����0��� �%�5�%¡a�ª£��j�=� �®��������� 1�¿��+5�5�3,�ä�����.�j��� 1�¿�����$+3Q�j��� �j�������������%�g�[�*�%�z�x�!�J���������,���J��¨
�r�| (��§j���z� 1²�j�� «�¦�2���j���X������¡.�z�ª�| �3! r�%�z���J�����=�����z� ���±���%�z���[���A�%�z�����t��� ���*���z�x�.�j�����,�z�A�p¡.�������������%�
���������ª���%���ª�����k���5§j���ª§j�z� ����¡=�j�%£*�2�%�=���J�
�j��� �ª�¦�j���ª�N 
���U�j�n�j� �J�*�=�������ª�k�����ª�¢�U�j�¦�J�A�z�������������[�j��� �J�2�z���ª�
�����¦�ª����¨X©!�%�������U�j���j�������������A�%�z�e�* (�����j�¢���������ª�2�z�J���ª�[���%�p�J³.�z�J�!�j�¯���%�z���p�������������%���ª�����j�0�%�����j���������±�j�2�����
���2�j�%�j�a�%��¡������z�J�N§j�����¢�j���±�z°*��������¡��2�����]�j���ª�A�������ª������¨

½3�%¡.���j�.Ä3�z�j����£j�j�=�ª�����G�j��� �A�*�%¡=�ª£�1�¿����+5�3r�j�����������������r�j�¤���j�z�5�3�������%�2�!�n�ª�����r�����%�������ª�7�� 
�%�z���%�
�%���²�j���ª�����¯���%���ª�����������J���z�j�����%�¢�����j�.�j���������������z�ª������§��j���%�n�j�!�%���U�j�=�ª��¨¢��� ���%�z�ª�� «�j�,�����Æ�%���������7�¤�0�z�=�j�ª���ª�z�
����� �����5���������2�����z�±�j�����%�p�������j�¯�����ª�2�n�=�����ë�n�a���������=���z�¬���5�U�����%���
1²�������A�%�z�����z�23X�����a�%�������ª���±�ª�������z�����j���
�=�j�%���Q�j���J���=�����ª�z���J� � 1²�����k�=���j�
�[�j�����%�z�ª�Q�=���.���L3,¨ �r�| (��§j���z�ä�%�������ª�7���.�z���j�ª�����z�
�J�%�����Q�����������=���*�,�%���j�
���%�[�J�����2�������z¨��A���2� �.�z���j�����ª�z�r���z�z§j�[���%�[�J�2�z���ª���j���%�±�ª�����j�X���z�J�����2�����U�j���%��¡��3���z�J�|§j���2�j�x���%���¤�J�%�������%�
���%�[�2���ª���j�«�����¦�ª�����j�Æ�U�2�j���� (�j��£ �����%�������2�[�������%���j�C���j�z�5�<;Ð���,�%�����J�¦�����L�j�������%���¤�2�����g�����L�j�¬�¤�J³.�z�J�
�j�X�j�±���j�z�¬�<;Ð�r�%���U�j�=�ª�����������j���¦���¢�����(�²�%���%���3�j���J�z���!���[�j�2�����!�[����£j������¨(­
�������ª�7�¦�0�z�=�j�ª���ª�z���*¡5�����%¡a�����[�����
���%�z�����2�z�ª��§I�j�5�p�z�J���%���[���k�����A�J�z�����z���t�=����§j�z�¬���j�5� �j���j�ª�A�����Q�j�«�����z�±¨���� ���%�[���A�%�z�¯�r�J���=�����2���J���x���%�����
�����g�%�¦���ª�2�z�J�
�%���������7���0�z�=�j�ª���ª�z��¨(�Õ�=�����z�j�G�=�� (�j��£± 
�ª���¢���%�����j�2�L���z�j�����������3�U�2�j���� (�j��£±�j�X�z�J���%���[���g�j���
�ª�����j�G�=���*�J�z�2���z�!�j���±�����z�ª���J³0�z�J���r�����j�����j�z�¬�<;Ð�Q�2�%�����J���z�¬§A�ª�����=���z�¬��¨

0 �����%�Æ��� �¢�j�z�%���2�j�«�z°*�������ª¡=�2����� ���A�%�z�;�j�!¡a�j�%£5�,�%�����J�j�¯���%�����n���j� ¡.�¦ 
�=���L (�n�[�|�C���j���������2�ª§A���j�
�z°*�������ª¡=�2�����	� �j� �z°*�������ª¡��2���=� ���¤ 
�����,�����j�z�¬���L�J�*�.�z�J�p�z�J���%�����5¥h 
���%��¡=�j��£5�2�������J���j�����%�����z�J�N§j�����
���¢�������j���������Q�j�����%�z���J�L�������������
�%�¦���2�j���L���±���%�g�j����������¨ 0 �Q½Q��¡0���j�.ÄQ�z�j����£j�j�=�ª���3�j��� �A�*�%¡=�ª£n�0�����¬�
���%���0 
�ª�����0�z�2�����[���������Q�J�*�.�z�J�������ª�����3��¡.���%�Q�%��¡��
�2�z�J�|§j�����j�G�������
���r�¦�.��������¡=�ª�¦�2�z�j�������������z°5�������ª¡��2�����±¨ '3�
�J���%�2���j�Æ «���j�����¤ (�j�5�g����£A�%�| � 
���z�C���%���2�������������A¥h���2�ª§A���j�;�z°*�������ª¡��2���=�±¨n½3�%¡.���j�«ÄQ�z�j����£j�j�a�ª�����j���
�A�*�%¡=�ª£����%�N  ���%�L�J�A�������z���J�L�j�;�n�%���A¥h���2�ª§A���j�G�z°*�������ª¡��2���=� ¡*�±�2���������g�����
���%�����,�ª§*���j�G�z°5�=�����ª¡��,�����±¨Æ©!�%���
�2�����L�ª�!���%�r¡5�±�2�z°5�����2���%�[���j�z�5���Q���n�J�A�.�z�J�
�²�����G���z�J�N§j�����¢�����z�j�2� �j�������3���� 
�����,�±���%�����k���
���[���2�j�%� 1U�j�
���j���������z�������z�ª�j�Æ���
�z�j�2���j�������g�U�j�k 
�����,�C���������j�j�2���������¢§I�j���%�n�j�
�������[�����z� �%�z���ª§j����� ��� ������� 3,¨ ©!�%���
���j���ª§��������������Q¡*�� !�,�ª�����%� 1U�����=���j�¢¿ 5�3,�	�����%�[���j� 1U¡a�%�p�%���z���%�j�43Q���5�������������Q���%�z�����J�A�.�z�J�������ª�������j�p���
���%���j�|§j���2���[�z�¬�Q�������2�j�5�����z�����z���ª§j���������¢����� ���2���
���=�=�=�ª���z�����[�j�a�������¦�����z� �A¨�©!���������
�J�������j�����ª���0���2���ª¡=�ª�
¡=�%�!�¦�ª���¬�!���j�!�j�ª (�|�*�
¡.�p���%�L���j���j���z���0�z�����j���ª�¦ r�%�z�¢�k�j�|§j���,�����z�5�Q�����2�z�����J���j�5�!�j�
������¡a�ª�3���¦�J���z���ª¡a�ª�
�������2�j�5�������%�z���ª§j���2�j¨ 0 �����%�0�������r�J�*�.�z�J�������ª���=�j�x�2�<�=�%�z���z�5�Q���
¡=�j���z����� �j�¤�z���%�j�j�z�%���=�
§����2����¡=��� 1U§��j���%�

 ìNØ,ÒxËNÌÕÓ7É2àÐÎiÝäØ,Ô*ÓhßIÌ;ðXí�È.Ê�ØzËNÌÕÎ�èNÝeÌ�Ì�ô3É2Ñ?àÐÎÐÎ%É,ÜIË��¯ÖIàÐÜ ?�àÐàaù²û�ü?üLB?ýëå

¾



�j�!���2���[�����z� ���z���ª§j������3p�j���
�ª���2���ª�z�L���%������� 1U�.�������ª¡a�ª���2�z�j����������� 3p���2�ª§A���j�Æ�z°*��������¡��2�����¢¨n���%�¤�%�j�k�[��£j�
�j�5�¢�����2���J�*�.�z�J�������ª���=�j�ä���<�a�%�z���z�5���a���¢���¢���A�%�z�G���%���2�����j��¡0���[���2�ª§A���j�.�z°*��������¡��2����� �j�������2�%�|  ���%�
�J�%�������z���J���j�(�±�%���A¥h���2�ª§A���j�x�z°5�=�����ª¡��,����� ¡*���[��£A���%�±�j���2���������ª���=�r��¡.���%�3���%���J�A�j�j�z�%�����p�a���2�j���������2�p�j�
���%�L�[�*�%�z�h¨

½3�%¡.���j�*ÄQ�z�j�=��£j�j�=�ª�����*�j��� �.�j��� 1�¿����+5�3Æ���z°*���ª���(���%�!���z�������Æ�j�0�j�[�j�2�����Æ�����=�%�,�2���j���!�J�������������2�j�A 
�����2�
���j� ¡.���J���=�=���������z���ª�«�%���%���U�j�=�ª����¨L©x���j�0���,�����ª�����j���(���g�������z�t½Q��¡0���j�äÄQ�z�j�=��£j�j�=�ª�����j��� �G�j���k�����z�����j���
�j�*�*���«�j�«�=�%�2��¡=�ª�j¨ 0 �(���%�
�����[�!�j�t�%�z���ª§j���2�j�5�ª�G�j�����j�z�¬���%���²�j���ª�������
�ª�����z�«���%�r�=���%�������z���������z���.�j�����ª���[�j�
���%�
�J�������������2�j�e¨Æ©!�%�
�0�z�=�j�ª�7�g�j�t�ª���������Q�����r�������������z���������z��§��j���%���j�G�J�������������2�j�=���;�z�J���%���[���r���[�������%�2�
�j���
���%�������U�j���j�0�ª�!�z§j�����=�
���%����� � ���������ª�z�(�j�X���������ª�ë�n�.�z���j�ª�����z��¨��
�N «��§j���|�0�����L���A�%�z�G�j�Æ½3�%¡.���j�0ÄQ�z�j����£j�j�=�����
�j��� �.�j���L���¦�ª���r�j�¤�����.�j�����j�5�
�j���.�z�J�r�j�;�%���U�j�=�ª��¨��Õ�����%�z�ª�Q���*���z�ä�j�����j�z�5�p���
����§j���r¡=�j��£5�2������¨�©!�����
���(¡.�z���j�����p�������%�z�ª�����A�%�z�e�A���%�p�j�����=�¬���������!�j�±���j�z�5�!���j�����������a�z�����±�����(�%��¡��������%��§j���!�j���z�������
�����j�
���%�k§��j���%�g�j�;���%�������%���=���z���������z�¤�J�������������2�j�e¨"1²©
�����3�j�����������=���ª�z�!�������p�%��¡=�r���z�J�N§j�����¤�:����� �j� ���j�z�5�p���
���%�������j��� �����������z���2�ª���ª§j�Q���[�j�¢���j�z�¬�<;Ð�
�J�*�.���������3�����j���%���
�����j���¦��¨ 3�©!�%���J���z�������j�!���j���%���ª�����j�G���z�J�����2���
�|§j���r�j������¡0�N§j�p�������(§��j���%�3�ª�t�������«§��j���%�3�����ª�z���(�����j�����%�3§��j���%�Q�j�ä���%�3�������¦�����z�n�=�z�j��³X¨ �A���=�J�Q�j�����j�z�5�
���j�«�����a�%�2�2�=�j���r�J�������������2�j�= r�%�z�n���r���z�������j���j���������%�%�r�j�� (�|�*�����j�«�z�%���%���n���z�����%�,�J�z�����g�����=�|�¦�����«�%��¡���¨
�r�z���J�j���%�3�����%��§j����¡=�j�%£*�2�%����¨X���¦���%�p���A�%�z�a���J���������,���J���%���%�����3���(¡=�j�%£*�2�%�����J�j¨;Å��j�����|§j���|�������%�N ®�������
 (�k���j�C���z§j��¡=�j��£5�2�������J�¢ 
�ª�������%�Q���¬§j�j£A���%�����%�������=���2�����=�3�j�«���%�,��¡=�ª�L�j�*�A���3�j�����z���%�2���%�����z�������%�n¡5�
�j�¢�j�ª�2�z�j�%�����%�z�¬�������z���.�j�����ª�����j�X�j�¢���j�z�¬�<;Ð�3���=�J�����j¨

Å��*�=�����A� �r���������,�������h�=�j����©¯�j���ª��� 1�¿������+3Q�j�����=���L�������3�j�¤���j�z�¬�p���Q�z ������k�j�Æ���%�g�J�A�������z���J���j�«�������
���������z�p�j�«���%�� (�j�2��� �j��� �����| (�������j�«�j���%���2��¨gµ��j�,�����j�z�¬���a���j���r�����ª���U�j�p���������z���j�« 
�����,� �%�g���Q�| (���2�
�j���n���¦���=�2�¦�����������3�����Æ�=���j�¦�j���J�����5���(�:�j�«�U�����%�=�z�A���z�5�������j���=�=���;�%��¡����z¨¯�Õ�G�L���������Q�A�����%�2�«�j�G 
�����,�[�j�
���j�z�5�r���!�=���z ������L�j�������±�������
�����������%���=�j�!�z�%���%���¢���z�����%�2�J�z�
���[�����=�|�¢�������%��¡=�����=�%�p�����a�z�A�
����������¡����
�²�����ª�j¨ 'Q���%���2 
�����L���L�%���²�j���ª����¨��A�����J�L���×³.�����z�5�r���j�z�5���3�[�ª���5�
¡.�L�����| (���2���j�;���ª³0�����z�5�r���������z���0�j�¤���j�z�5�
�J�A�0�z�J���
�=���������j�.�2���=�z�A���z�5�!���¢�����������������%���(�j�Æ�j���������
��§j�z�����±���������z�
�j�¯ 
�����,�±�%�L�����| (���2�j¨

Å��*�=�����A� �r���������,�������I�j����©¯�j���ª���p�j�2�������Æ�������x���p�!���������;�j�A 
�=���2�p�j�����j�z�5�x���G�����z ������j�����%�;�[�I�%���g���
�.�z���j�ª�ë�¦�U�j�
�%���²�j���ª���������!�[�J�������!�����.�����z�����¢�=�������!���������=�J�����������������
���������j¨����±�����������L�j�¯ 
�����,�±�j�
���j�z�5�����Æ�z ������j�5���%�������|�k�������;�j�����j�z�¬�������=�z�A�;�����¯����¡��X¡0�z���j�=��� �����J���%���Æ�J�������������.�����(�������j���0�z�=�j�ª���ª�z�
�ª�(�ª�L�����2�J�|§j�����z�����=�������%�¦���j�z�5������¡=�j�%£*�2�%��� ��1U�=���j��»jºA¿ 3,¨ �A�����.���������=���p�.�z���j�ª�ë�¤���3�����¦���j���¦�j�L���%�
���%�k���¤�����������g�j�� 
�����,���%�k���Q�����| (�����j¨�Å��*�=�����A� �
���������2�����=�ä�j���¤©x�j���ª�����j�2�������g�������3���%�g�������U�����z���J�
�j�;��§j���������j�z�¬�p���Q���������%�����¢�����%�j�����%�k�j���¤�J���¬§j�J�.¨3�Õ�¤�j�����ª�������G�a�������.���������%�����g���r���%�g���j�z�5�3 
�%�����j�
� ¡.�����=�%�z� ���5���������z���.�j�2�j�
�2�������j���2�%¡=�����ª�������ª���G¨S�Õ� �������¦���j���¤�ª�3���%�����2���J���j���j�¬� �j�����������¦�.�����ª���ª§j�
�����������j�z�¬�k ��j�¬���g��� ���z���«�j�
���=�=���ª���[�j�[�����¬�g�j�����%���j��������¨¤©!�%�������U�j���j�X�:�j�k�j���������[���2£j��������� ���ª�z���k�ª�

À



���Q�%�z�J�z�������2���������3���%�g���2���J���j����§j�����¤�j�������p�����������%�G 
�����2���z�����z�5�����j���ª�¢���z�j�=�r���=���3�j�2�����p�[����£j�����p���*�%�
�%�N 
�G¨�©!�*�����t�����j�5���z°*�������ª¡��2���=� �j�(�2���2� �j� �z�J���%���L�j�X�ª�«���%�����2���J�k�j���j�¬���j�����������3���¢¡.�k�0���2�ª���ª§j���ª�
�g�����g¡0���������g���%���.�z���j�ª�7�� r�����2�
� �J���%���k�����.�����z�g���
�����������±�j�
 
�����,� �j�����j�z�5�[�����| (���2�¢�����������j���
�����j�����%�Q���%�p�ª�������.�����z�(���n�g���������p�j�t r�����2���%�3���������| (�����j¨;©
�����(�����=�����z�Æ���������k�J���%�������«�J�j���=�(�z�j�¬���j�
 
�����2� ���������z���j�����j�z�5�����3�z ��������j�������| (���2�j¨��A���,� �J�j�����(�z�j���J�¦���Q�����=���j���2�ª¡=�ª�3¡.�z���j�����k���%���%�j���ª��� �j�
�j�¤���j�z�¬�<;Ð�3���%¡ ���z�J���ª§j�����������g���=�j�J�g���!���5���2���������r�������%�L���j�z�5��¨r©
�5���z�=���¢�j�������.�j�����j�5�
���%¡%¥7�J�����ª�z�J���ª���¢�j�
�z�J���%���[���z�!�������2�z���z�¬���z�¢¡5�����%�z�ª�
�[�*�%�z�.���������L�����z�[�!���[¡.���j�¢���5���������������ª§j���=� � �����ª�ë�j¨

Å��*�=�����A� �r���������,�������*�j���[©¯�j���ª�����j�����L���z�5���ª���[�������r���5�=�����j�*�:�z���������z�;�j�0���%�z�ª���[�*�%�z�h¨��%�j�«�J�A�j�[�=�ª�j�
�z°*�������ª¡=�2�����  r�ª���±�����| (�����z���z���!�[�ª���5���%�j�!�J�%��������§j�z�¢ r�ª���±�J�����=�ª�������¦����£j������¨ 0 ���G���ª���������j���0���2���ª¡=�ª�
���n���¬�������=�����!���%�z�ª�r���*���z�t�j�!���%�g���± 
�=���2�¢���j�z�5���Q�j�����ª���&�������¦���2�j¡=��¡=�������7�[�������������z�Q�j�¯ r�����2�¢���%���¢�����
�����| (���2�,1U�=���j��»jºjÀ+3,¨

0 �2�j� ���¢�j�����X�j���J��� 1�¿������+3p�����j�.�������±���A�%�z�¯�������L���3���ª�����[���¤���=�ª�2�ª�Q���±���%�����%�����=���p�r�J���������,���J��¨
�r�| (��§j���z�p���%���®�j��������� �������±��������� �������:�,�j�J���ª��� �����,�®�������±���������U�2�j�J���ª���®�j�g��§j�����S���j�z�5�<;Ð�������J�����
���j���%�j�Q¡.�������,�������%�z��¡5���J���z���ª���j�2�z¨r©!�����
�����a���ª�z���������Q���%�k�ª��§j�z�¯�j�;�J�A�z�������ª�����j���n�2���2�¤���j�z�5�3���j� ¡.�
���%¡a�����j�¬�����j���ª�������2�j���������j���������L�j�(���.�*�j�����j�z�¬��¨�©!�����Q§A�ª���������z�p���%�¦�z�����z���J�[�j�������2�2�������j�j�ä�J�*�z���=���ª���
�j���n�:�2�z���¦�������2�(���¦¡=�j�%£*�2�%�����J�k���|  1U�����������z�5���¦�J�A�,���j�%�j�Q�:�j�(�:�j�2�:�z�ª�����%�L���������z�����%�,�J�z�«���¦�J�A�J�z�2�«�j�x�������
¡=�������[���=�����=� �J�*�z���=���ª���G�;�j�
���j�z�¬�����j���������,�������j���������%��¡����j�=� �������2�g�������J���[�[���2�����j�(���ª�U�¦���:�2�z���23
�j���
�ª���=�×³0���,���U����� �����,�%�A�z�
�ª��§j�z���j�
�J�*�z���=���ª���C���=���� (���j�J���=�j���ª���j¡=�����2§j�j¨ 1 �®�ª�����&�%�A�z�
�ª��§j�z���j�
�J�A�z�������ª���¢���!���j�¢¡.�3�������
��§j�����±���¦�j���.�:�,�j�J���ª���±�j�X���%�p�z���%�N 
���z�5�!�j�Æ���.�5�j�!�������ª§A�������j�a���������2�������%�z�
�j�����p�����2�j���:�2�j�J�������k�j�a���%���z�����| 
���z�5�Æ�j�.�3�2���2���������ª§A�������j�¬���¯�����2���������z�G¨ 3�©
�%�����*���z�5���=���Æ�¯�J���������2���J�
���������%�2�z�L�������L�j���.�z�J�g�j�!�j�C�J�A�z�������ª���t¨ 0 �2�j� ���¤�j�����X�j���J��� �j�������j�����=���¦�������k�j���������g���|§j�������[�����j�
�=�|�j��³.�r 
�%�����z�j�
�������%�����A�%�z�G�������
�(�J���������2���J���=�j���������
���|§j�����z�j�G�=�|�j��³.�z¨

©!���!���*���z���¯¡5�k½3�%¡.���j�*ÄQ�z�j����£j�j�=�������j���"�A�*�%¡=��£a��¡*�g½3�%¡.���j�*ÄQ�z�j�=��£j�j�=�ª���;�j��� �.�j���j��¡*�kÅ��A�������A�
�
�=�������2�=�������j����©¯�j���ª���G�*�j����¡5� 0 �2�j� ���k�j��� �¯�j�2�J�����j���=�²�j���a�������������%���3�j�������.�j�����j�5�«�j���.�z�J���j�ä�%���²�j���ª�
� ���%���J³.�z�J�Q�j�;�j�����j�z�¬�<;Ð�p�����U�j�����
���������j�2�n���¤�������²�%���%�2�����2�j�������[�j���.�j�����������7�j¨�©!�����!���!¡.�z���j���������%�z�ª�
���A�%�z�����=�z§j�������ª� �7 (���������¦�.���2�ª�A���3 
�������z�j�L�����[�z���2���ª�z���������,�C�j� �J³0�z�J�k���j� ¡0�n���������%���z�
�������C���%�
�����ª�,���.���2���*�G¨¯©!�%�!���A�%�z�A�X�J���������2�=�J�����j� �=�=�ª���z�ª���¦�j�¬�g�.���2�ª�A����¨ä�����ª���������
�%���²�j���ª�Æ���������j�2���j�.�j�[���j�z�5�
���j���I³.�z�J�r�=�����U�����%���3���2�j�������g�j�=�0�j�2�������ª�ë�n���±���²�j�ª�2���¦�j�z�%���2�j�ä�[�j���%���z¨

��� �J���=�����2���J������� �������n���*���z�
�j���S��� �=���|§A���%� �J�%�������z�=�J���j�L�j� �z°5�=�����ª¡��,�����±�Æ�[�����,�ª§j�������[�j���5���j���
�j�L�g���,� �=�|§j�j���j�����%� 0 ���2�| �¥7½Q��¡����z� ���A�%�z�;�j���p���j�G¨ �r�| (��§j���z�X���%�[���z�j�%���� 
�����H�a��� ���%�[�U�����ª�N 
���%�
�U�z�����%���z�
���0�z�����=�Q���[�����������A�%�z�G�j���¢���[���%�����2�5�j�x�(�=���z���z�5��¨

���¤�������Q���*���z�e�0�����j�5�¢�.���2�ª�A���j��� ���������k�j�«���%�� (�j�2���t�0�ª�Æ�����g�J�%�J�z���3�j���j� ���j�z�5�<;Ð�"1U�j�������L3
�����J�����

º



�|§j���������r§��j���%�r�j�ä�������J�*�z���=���ª���n���«�ª�z�2�������j�� 
�=���«�%�Q�| (�z���%���%�r�����ª���.�z���j�ª�ë�[�����.�����z�[���������]���¦�������
�.���2�ª�A� �j�������������n���3�:�j���U�z�ª���%�2�g�j�(�������3�J�%�J�z���������J�����j¨�Ã(�z���j�����������3������¡=�����ª�7�¢���������[�����z�����¢���=���3�J�A�J�z�2�
�����J���[�j�ä�j� ���j�z�5���[�ª���5�p ��j�¬�����¢���z���Æ�j� ���=�a���ª���k�j�������5���j�(�j�C�j��������¨[©x�¢������§j�z�5���������z�G�Q���5�����A�����J�
���%�Q�%�j���ª���[�j�t���J���z���ª�«�����[�ª��¨ 0 �����%�5���¦���%�r�[�*�%�z�h�����%�r���<�=���ª���ª���k�j�t�=�����.������¡=�ª�����=�J�����r���[�=���ª�z�¯�������(���%�
¡=�����j���
�����!�j�Æ�j�����j�z�5�3���j�¢¡.���%���A¥7�J���5§j�J�0¨�©x�¦�������,�j�¬�������������r���j�j�������������%�z�¦�j���¢���!�J���5§j�J�*¥h§I�j�����z�G�
���j���������p���=���!���%�L���A�%�z�G���j�
�[�J���¬�����5���=���j�X���j�z�5���Q�j�������%�z�ª�
�=�������2�ª¡a�%���ª���������������[�ª�z���z¨

��� ���%�k�����*�j�;�j�(�J�A�������z���J�k�j�(�j� �z°*��������¡��2�����¢����� �j�����ª���ª���¤���±�j�����j�z�5�<;Ð���j�������¦�j�¯�,�%�����J���j�����J���A¥
�����[�����ª���[�j���n�.�j�����U�����ª�p�=���j�t�5�ª�(�������[�0�j�2���j�¬�;���g£A�%�| S���%�r�������«�j�=�¦�%��¡��(���%�U�j�2�[�����ª���n�j�����A���������z�n 
�ª���
�������
�=���j�G¨
���J�*���z���¤���%�g�%�z�[�j���¤�����Q���������������%�p���=���r���%�:�j�,�[�����ª���G¨ 0 �����%�.���¢���������2�5�j�Õ�a�ª�Q���Q�%�z�J�z���������
�������z§j�k�¦�=���*�J�z�=�%���������J�����=�%���g���%�������U�j�����
�2�������:����� ���j�j�����������[�ª���2�r�j�������j�j�����������[�%��¡���¨
�!�%�<�=�%�
���%���²�j���ª�(�2�������J�j�����z���0���=�%�z���J�3���[���������n���%�����������J�����=���������ª���G¨;Ã(�j���±���%�z���p���A���(�a�������ª���������j� �����j�a����¥
���(���g�n�=�j�ª§j�g�j���j�����ª�����j���n�����j�������2�������*�j�Æ�j�;�J�%�������z���J�k�j���j���z°5�=�����ª¡��,����� 1U�:�j�3�J�%�j���=�ª�j�.�j�Q���ª§j�z� ���
�Q�����%�z�5¡��2�j��� 1�¿��+5N¾ 3F3,¨ �X�������j�� 
�����p�3���%�N ]��� ���������=���.�������3�������L�¢�����2���U�����j�%�j�����ª��� �j���¢�����j�=�����2�
�����*�j�Æ�j�;�J�%�������z���J�k�j���j�¤�z°*��������¡��2���������r�.�������ª¡a�ª�p��§j�z�  
�ª�������%�z���k���A���(�=�������ª���=��¨r©!�=���
�����| 
�Q�������3���
���%���J�%�������z�=�J�������*�j�Æ�������������a���0���|�% «�L�¦�z�¢���������¬���=�ª���ª���������[�����������[�������Q�����z�¢���±�n�����j�������,�±�����*�j�x�j�
�J�%�������z���J���j�X�j�¢�z°*�������ª¡��2���=�±¨t�Õ�!�j�����[���%�N 
�!�����p�0�N «���r�j���¢�j����������¡a�����ª�ë�¦�j�X���%�������j���=���2�±�����*�j�Õ¨

©x�n�U�j�2�[�j���(���L�j���������|§j�g���%�g�����j���[�r���z�¬�������%�z����¡.�|§j�j�.�����2�*�J���z�¤���±���%���:�����ª�| 
���%�¦�[�j�������z¨ �¯���2�����
�����.�z���ª�:�n���%�����A�%�z�e���%�<�a�%�p�j�¢�z�J���%�����±�j���¢�j�±�z°*��������¡��2�����]���±�ª�!�j���¢���������L���%���[�j�������z�����ª���z¨;©!�%�z�G�
�������z���z�5�
�����[�L (�z�ª�U���2���J³0�z�J���Q�j�X¡=�j�%£*�2�%�=���J�j¨ 0 �:�����r���������0�(�=���|§j�����%�L�[�j�������z����������¨��X�����j���ª�j�%���0�����¬�
���%�
�������p (�|�*�Q���� 
�=���2�� (�L�[�|���[�*�����:�¦�j�=�±�J�*���z�=�±���%�L���A�%�z�e¨

� ����� � ���
�	� � �I��� ��
��
����� ��
����

©x� ���.�z���ª�:������� ���*���z�e�!�¦�=���*�J���z� ��� �����¤�U�����ª�N 
���%���[�j�������z¨ �X�ª�2�����r�¦���%�������%���������j�����j���(�z�����ª���®�j�
�z�J���%���[���Q�j�J����§*�ª�ë�n�����j���J�%�2���j�%�j�p�z�J�������L������ 
�����,�¦���%���2�3����¡=�j��£5�2�������J�j¨Æ©!�����(�%�z�ª�=�(�������������2�����j���
���%�r�����ª�!�j�G���%�r���z�ª��§��j�¬�(�z�J���%���[���
�j���n�ª�����j�=�z�5���ª���ª�z�«�j���[�����
���z���������������j�����������%�z�¢¨X©
�%�z�G�¬�X�U�j�2�[�j�����
���5�����A�����J�[�������n¡=�j�������J���=�J��������¨ 0 �U�����L���=�����X��¡a�����2�j�J�����%���������n�J���[�0�����z�¬���L�:����� ���%�[�J�%�����������¢�ª�����j�
�U�2�j���� (�j��£a�G�r�:�j�,�[�j���(���g���%�k�2�ª���5���3�j�«�J���z�=�ª���j�2�3�j��� �%��¡����j�2�p���������k�[�*�%�z�h¨�©!�����Q�%�z�ª�=�3���3�%�������,�[���%�
���%� �=�=�j�������j�.�.�����ª���ª�����j�Æ�j�¢���j�z�5�r�������%�����*���z�e¨ 0 �U�����
���������=�:����� �������p���2�j�����%�����z�����2���J���ª�������������� (�
�j¡=�����2§j�j�%�«�%���2��§j�3�k�J���z�=�ª�������[�ª�«�:�j�!�j�±���j�z�5�!�������%�p���A�%�z�e¨Æ©!�����(���z�ª�=�(�����:�j�,�[�j���(���Q���%�3�����ª�3�j�x�J�2�z���ª�
�����¦�ª���!�������%�����A�%�z�e¨��¯�����j���ª�j���!���<�=�%���n¡=�����j���r�������.�n���z�[�j�����������.�j���z�J���%�������j���¤�j���z°5�������ª¡��2�����
���±�j�±�z�J�������L�¢�j�������������L���%���¦�j�������z����������¨

5



0 �p�j�¤�z�ª�z���z�5������������§j�z�e�0�j� ���=���ª§A�������j�.¡.�z�J�����z�Q¡=�j�%£*�2�%�=�r�ª�;�����
�2�������J�������p�������������z�!�=���j�=�! 
�����2�
�z�5���j���������;¡0�z�J���¦���%�p¡=�j�%£*�2�%�=�X�����������
���������z�«�j�.���%�! (�j�2���[�j�=�[�%�
�,�%�5�����z�������,�¦�p�a���j�G¨ �r�����2�%�����J�r�����
�[�ª���5�r�����������%���2���2���=���j���
¡0�z���j�=���L�j�;���=�J�������j���5�7���j�������%���������j�ä�U�2�j���� (�j��£0¨
­r�=�J�������j���5�7� 1²��¡.���%�Q�����
��¡=�����ª�7�n���¦�%���%�j�r�������[�����z���j�¯�²�%���%�2�3���z���ª§j�������j�x�j�*�A���43(�z����¡a�ª�z�!�j�����j�z�5�
���n�[��£j�L���2���[�����z���j�X�²�%���%���
�%�z����§j����� �j�!�j�5�A���� 
�����,�G�Æ���C�����������������z���;�J�%�J���z�������L��¡a�����ª�ë�¤��� �%���%�j�g���%�z�±¨¤©!�%���ª�����j�(�:�2�j�[�� «�j��£
�j���ª�N 
�Q�����±�=���������[�����ª���=�����ª�������a���n���z�����j�g���¤�����
�������[�����L�j���¤���¢���������2�|§A�����ª�����!�j�;¡=�j�%£*�2�%�����J�±���| ��
������£¢�=���j���z�J���ª�����:����� �J���z�������j�2��¨!©!�*�����a���%���������
�.���2�����=�j�G¡=�j�%£*�2�%�����J��¡.�z���j�����g�����J�������j���¬�ë���J���L¡a���%�z�
 
�ª�������������������ª�������ª�����j�0�:�,�j���� «�j�2£��j�����| 
���=���j���� 
�����,���z�¬���j���G¡=�j�%£*�2�%�����J�������������L���������z�!�j�X���%�p (�j�2���
���[¡.�������������%�z�����¢�j�¢���=���ª§A�������j� ;Ð�«�2�%�����J���z�¬§A�ª�����=���z�¬�!�j�=�¢�%���2���5�����z�r�����,�¢���=���j�t¨

��� �j� �J�%�2�=�j�%�j�n�z�J�������L�C���  
�����,�����%�����¦����¡=�j�%£*�2�%�=���J�j�t�z�J���%���[���n�j�J���ª§A�ª�7� �[�����¬��¡.���j�����j�=�(���z�
�j�g�:�����ª�| 
�z¨¤©!�����������2���J�����2���������ª��� �j�*�*���k�j���
�j���������z¨ 0 �j�z�5�����������j���������k�������|§j�¢�����J�����n�j�[���%�
���×³.�����z�5�����������.���2���*�����j�����j�����%�¦���ª³0�����z�5�!���������z�r�j�X���%�� (�j�2���¢���¦�������!���%���±���j�7�a���j���J�p���%��¡a�������ª�
�j�Æ�J���������[�����ª���±�j�*�*�=���������
�����������z���ª������������¨ '3���� (�|�±���n���N§j�L�²�%���%���������J���������n���%�������z���z�¬�
����¡5�
�j���������%�n�[�ª���j�G¨;©!�=�����������ª£j�����z�������%�k�����2���[�����3�U�j�!�U�����%�����%�z����§j�����¦�j�X���������j�*�A�G¨

�®�%�z���j�����j�z�¬���j�*�z�����k��¡=�j�%£¦�j���g�J���z�����(���=�����ª���%���ª���[���g�j�����g�ª���j�G�A���%�3�ª�z���%���,���%��§j���!�%�������,�[���%�
�������j�J�����j�ä��¡=�����ª�ë�[���[�����a�z�����%�p�ª���j�¢������§j�������.�������ª¡=���Q���������L�j�ä���%�p (�j�2���G¨ �r�����%���z�%���%�����z�������¦�����p�������
��¡=�����ª�7�j¨¯©!�%���L�z�������[���������%�����j�z�5�<;Ð�Æ�U�����%�������j�������j�¬�J�������2�������¯�z���=���|�A���z�¬�Æ���������=������§��j���������������X�%���²�j���ª�
���������j���g�j�=�¦�%�������2�¦���%�����%�r�2����£A���%�z���¯�j�G���%�r�ª���j�[¡*���J���������%���,���%�3�����=�|�*���z�5�«�2�2�%�z���=�ª�z�;���n�����[�������X�����j���
�����j���%���2��¨3­Q�����%�¦�����j�������2�������z���J�2�������2���[���������%�������2�[���%���j�¤���j�z�¬�<;Ð�L�J���z���ª�Q�����[�ª��¨ 0 �¤���j�z�¬�����j�¤�j���p�
�ª���j���%�k���������¯�J�2�z���ª�X�����[�ª��¨x�Õ�g�������x§A�ª�� ����3¡a�j�%£L�j�;�3�J���z�����X���������ª���%�������������2§j�z�;�[�j���������j�Æ�p�2�%�z�2£¬¥h�.�����5�
�������Q�����.�����z�!�n�J���z���ª�
�����[�ª���J���������,�j���¬�r�����j�����j�z�¬�3�ª�Æ�%�� ��j�¬���r���n���z���t�[�=�����[�����p�U�j�Q�U�%���������%�z���ª§j���2�
�j�x�������3�j�5�A�G¨ 0 ���ª���%�k�j���j�±���j�z�¬�<;Ð���=�����[�����r�:�j���²�%���%�2�Q�%�z���ª§j�����[�������������z�(���%�p�J���������2�j���5�������.�����z�n¡5�
���������,�%�z��£5¥h�.�����5���a�%���[�|�±���z���G�����,�±�������¦�����z��¨

©!�����ª�z���%���,�����j�j���������������%�z���������j���[���
�[�j�5���U�j�J���%�2���C�J�����.�������������z���%�2���7�j���=�ª�z�J�z�¦�j�p 
�����,� �����
���2�j�%�z�C�����j�������g�[����£j������¨ � 0 � ���j�z�5�L�=���2�2���j�2���%�±�¢�������Q�j���������p�j�������L�j�������¢�������J���j�«���%�n�����%���2���*�����
�ª���j���
�j���±¡.�z���2�����%�L�|§j���2���j�k�%���U�j�=�ª���2����£n���¢���%�z�±¨��

0 �!�������������p�j�¯�����=�|�*���z�5���=�J���z�=�ª���j�2�!���|§j�L�������������j�������¦�[����¡����j��;Ð�!���=�J�����j¨��
�N «��§j���|�a���[�z�=���%���
�������������¦�%��¡����j�g�����%�j�L�����:�p�.�z�������ª�z�����G¡=�j��£5�2�������J�����| ]���2�|§A���%�z�p�U�j�L�������¦�J�*�z���=���ª������¨�� 0 �%��¡=���j��;Ð�

� ìNØ,ÒtÌ��NÉ,Ê�ÍNÎÐÌ?èzÊ!É2ÒhæJÌëÓhÝ0àÐÜ �tßNàÐãëßrã�Ø?ÎÐÎiÉ2ÓhÌÕÒ7É2ÎÐà8?ÕÌ�ËQÊ�Ø,ÒeÓhÑ?É,Ñ,ÌXØ?ÚNÎiàÐÑ?É2ÓhàÐØ?ÜNÝ¯É�ÒhÌxÓeÒ7É?Ë|Ì�Ë¬è|Ê!É�ÒhæJÌÕÓhÝ0àÐÜ �tßIàÐã7ßQãÕÒhÌ�Ë|àúÓGã�É2Ò7ËrËNÌ�Ú|Ó
àÐÝGÓeÒ7É?ËNÌ�Ë3É,ÜIËrÊ!É2Òhæ?ÌÕÓhÝGàÐÜ �tßIàÐã7ß3ã�É�ÒxÎÐØ?É,ÜIÝxÉ2ÒhÌXÓeÒ7É,ËNÌ�Ë�å

� È:ÜrÓhßNàiÜNæzàiÜNÑ�É2ÚjØ?ÖNÓäÝeÌ�ãÕÖNÒhàúÓhà/?�Ì�ËQÍjØ�Ø,ÎiÝäØ,Ô=É2ÝeÝeÌÕÓhÝ�è�È=Ô×Ø,ÎiÎÐØ � �¯ÖIÚjÌÕÏ�èNð¯Ì�É2Ü�É2æJØ?ÍNÎiØ,Ý�è�É,ÜIË3ázß|ÖNÚIàÐæpù²û�ü,üDR,ýëå
� ázÌ�Ì
	 @?ÿ?ÿ�Ø,Ô0õ.àúÓhÎÐÌQû?û«Ø,Ô=ÓhßIÌ þ ÜNàÐÓhÌ�Ë�á�Ó7É2ÓhÌ�ÝXÞ0ØzËNÌ�ÛäÜIÜNØ,Ó7É2ÓhÌ�Ë¬å¯í��NÉ,Ê�ÍNÎÐÌ�Ý¯Ø2Ô.Ì��|Ì�Ê�Í|ÓhàiØ,ÜIÝxÉ2ÒhÌrùªÝeØ?Ê�Ì�Ø,Ô=ÓhßIÌ�ýtâ?É2ÎiÖNÌ«Ø2Ô

ßIØ,Ê�Ì�Ý�èjâJÌÕßIàÐã�ÎÐÌ�Ý�è�ÒhÌÕÓhàúÒhÌ�Ê�ÌÕÜzÓ¯É,ãÕã�Ø?ÖNÜzÓhÝ�èjÔ ÖNÒhÜNàÐÓhÖ|ÒhÌ?èjã�ÎÐØ2ÓhßIÌ�Ý¯É,Ü�Ë3Ø2ÓhßIÌÕÒ¯ÍjÌÕÒhÝeØ?ÜIÉ,ÎAÍ|ÒhØ?ÍjÌÕÒeÓ:Ï�å �±ßIàúÓhÌ
ù²û�ü,üLPJýtÎÐàiÝ²ÓhÝ¯Ì��|Ì�Ê�ÍNÓhàÐØ?ÜNÝ

Á



�����J���[�[�%� ���¢���%�¦§I�j�������j�(�����z���[�J�A�z�������ª�����L���p�J�A�z�������z� �U����� �U�j���U�z�ª���%���k��§j�z�
�ª�«���¦���j���%��¡=�p���%��¥
�����j���=���%�
1²�j�¦��¡=�����2�j�J���ª���[�j� � Àj»j»=1U¡�3D1�¿ 3;�j�G©!�ª���ª��¿j¿!�j�0�����!­r�������z�,�*�������z��¹(�*��� 0 �����j�������z�23,¨ 0 �����%���%���
�J���z�������j�2�����j�����j�;���z�j�2�����5���L������¡����j��;Ð�«�J�*�z���=���ª�����Æ�������z�J�|§j�������%�z�ª�«�����%�������%�������|§j�Q�p�=�2�ª�j�������j��� ���
���%�r�J�A�J�z���(�j�t���%��¡����j��;Ð�«�����J�����r�|§j�������%�
§��j���%�
�j�t�����Æ�J�A�z�������ª���=� 1²��¡=�����2�j�J���ª���n�j� � 5�»jº+3,¨;�ë�t�j�n���j�z�¬�<;Ð�
1U�j�������L3p�����J���[�¦�[���*���p�������J�*�z���=���ª���������L��� � ���ª�z�5�����������=�z���������J���z���ª���j�,���x�%�n���p���z°*���ª���z� ¡*�����z  ���
�=�|�¢�����!�%��¡=���!�²�����ª�j¨ �%����� �����2���j�����j�z�5�Q���%�����L���r�%�¦�ª���2�!���¤�j�¬�±�j�������3�j���������!�������.������¡=�ª�p�����J���[�L���
 
�����r���z�[�j���=�
�j�;�����
�����J���[�����U�����Q�a�z�A���%�¦��³  
�����r�����N «�z��¨Q�Õ�;�j�����j�z�5�<;Ð�
1U�j�������43r���=�J�������[���5���
�����
�J�A�z�������ª�����L���p������� � ���ª�z�5�Q���������=�z� �����p�J�2�z���ª���j�2���¯�%�[���3¡=�j��£5�2������¨��%����� ��§j���2�¤¡a�j�%£5�,�%���p���j�z�¬�����%�
�J���%�����(�J���=�=�2�������r���%�
�J�A�J�z���(�j�G�����«�����J�����
�|§j���������Æ�J�A�z���������������5���������2�[���%�
���%�
�ª�������:�2���]����� ���¦�z�j�,�
�j�������r¡=�j���z�����¢���%�g�������%�A�¢�j�X�����j�.�j�����ª���=�j�.���z�J�|§j�������j�����������2�����2�j�L�����!����¡���� 1²��¡=�����2�j�J���ª�����r�j� � 5I¼�¾%�
� 5�»jºN¥ 5�»+5�3,¨�©!�%���������.������¡=�ª�3�����J�����p�j�X�z�j�,�¢¡=�j�%£*�2�%�=�����j�z�5�r�������%��§��j���%�p�j�X�������J�A�z�������ª�����z¨ 6��

0 �j�z�¬���3���������%�z�ª�Q�������.������¡=���3�����J��������� �=���j���J�L���%�z�ª�r�J���=���������������G¨(©x�j���j�¯�ª�����!�����j���j�2�����r���
���%�
���j�j�������������j���ª�����p�U����� �z�j�,� ���j�z�5�L���C�������p�j��������¨�©!�%���2�������¢�j�����j���j���ª���������C�j� �j�������L���¢���j���j�«�%��¡��
�| (�z�������ª�k���g���%�������U�j�������2���������
���%�±�j��������¨ ¹����z���ª���j�2��¡.�z���k���%���������k���C�=���j�.�j�����ª��� ���¤�����z�ª�g�j�2�����
�%�����=���%����¨

©!���!���*���z�%�j�0�j�¦�J�A�,���j�%�j�r�z�J���%���L�����=���;�¯�J���=�����2���J���=�j�Æ���%�!�z�����z�¬�����j�=�:�z���������z�;���z�5���ª���%�z�[��¡.�N§j�j¨
0 �������%�2�j�
�%�j���ª�����j�3�z°*�������ª¡=�2��������� �����,� �j� �z�J�������L� ���¦� �J�����ª�z�J���ª��� �j�Q�=�2���J�z�����%���²�j���ª���2�����z���j���
�����=�ª§*�������j�%�=���j���������2�����=���!�������ª§A�����=�j���;�����p�j�������[�(�z���%�%�A�[����£j�����
���������ª�z���2�����k�j�=�n�������%���U�j�=�ª���2�����p���
�j���j�������p�z°*���j���Q���%�k�2���������j�«���j���j�;�ª�����Q��� �������p�j�������p���±���j���j�Æ�%��¡��3�| (�z����� �ª��¨ �®�ª��� �������Q�%�j���ª��� �j�
�z°*�������ª¡=�2����� �j�������2���%�k�����j�������2���j���2���������ª���=�«��¡.���%�(�������U�����z���J�z���j�����z�����| 
���z�5�����j���±���2���%���=�����%�2�j�
�j�����=�������ª�����3��¡.���%�3���%���2�����¬���3�j���J���z���ª���j�,�Q�j�=���%��¡����j�2���j�=����¡0�����3�J�2�z���ª�p�����[�������a�3���%�N  �������p��§j�����
�z�J���%�����±���������z���z�¬���z�±¡*���������!���A�%�z�G���j�
�j�±�z°5�=�����ª¡��,�����±¨

¶ä���¯���¯�ª�*�j£����Æ�������(¡=�j�����«�J�����J��������¨X�t�j�����=���«���=���x�=���2�����j���j�2�����¯�������L���
	 ¿��2»
�������N�j���x���%�«�=�����j�
���%�j¨ 6�6 ���j�L�j�¬��������������� �%�z���j���z�3���%�k�0���2�ª���ª§j�g�=�����3�j�����j�������Q���%�k§j�z�J���j�� 
�ª�����5¥h�����J�����.���%�z�5�
���±�ª��������¼¤�j���
¼��j�������� 
�������j������ S�%�z���j���z���������%����������§j�±�=�����L�j�!���j���
�������%��§j�z�J���j�[ 
�ª���"�5¥h���
Ú�Ï�Ý²Ó7É2ÓhÌxÔ×Ø,ÒtÌ�É,ã7ßrÝ²Ó7É�ÓhÌXàÐÜ
ÓhßNÌ þ ÜNàúÓhÌ�ËQá�Ó7É2ÓhÌ�Ý.É,Ü�Ë�Ô×Ø2ÒGÓhßIÌ �XàÐÝ²ÓeÒhàiãëÓGØ,Ô%Þ0Ø?ÎÐÖIÊ«ÚIàiÉ|å�öxØ,ÓhÌ¯ÓhßIÉ2Ó�èzÚ�Ï 	 @,ÿ?ÿ|ùªÌ�ýëè�É«ËNÌ�Ú|ÓhØ,ÒGã�É2ÜIÜNØ,Ó
ã�Ø,ÜzÓeÒ7É2ãÕÓxÉ �GÉ�ÏQßNàÐÝäÌ �NÌÕÊ�ÍNÓhàÐØ?ÜNÝ�å�ÛxÝäí�ÍIÝ²ÓhÌ�àÐÜkù²û�ü?üD@,ý �GÒhàúÓhÌ�ÝtØ,Ü3Í�É2Ñ?Ì�û�R4RzèIÝeÖIã7ßpÉ(ã�Ø,ÜzÓeÒ7É2ãÕÓtàÐÝxÜNØ,ÓtÌ�Ü|Ô×Ø2Òhã�Ì�É,ÚNÎÐÌ?å
Ç$#�õ.ßNÌ(Ê�ØzË|Ì�Î*Óhß�É�ÓXÈtã�Ø,ÜIÝ²ÓeÒhÖIãëÓÆÉ,ÚNÝ²ÓeÒ7É,ãÕÓhÝ¯ÝeØ?Ê�Ì�Ì�ÝeÝeÌ�Ü�ÓhàiÉ,Î�ã�Ø?Ê�ÍjØ,ÜIÌ�Ü�ÓhÝäØ,ÔaÚ�É2ÜIæ�ÒhÖIÍ|ÓhãÕÏQÖNÜ�Ë|ÌÕÒ;Þ0ßIÉ,ÍNÓhÌëÒ R�Ø,Ô=ÓhßIÌ þ ÜIàúÓhÌ�Ë

ázÓ7É�ÓhÌ�Ý.Ù0É,ÜIæ�ÒhÖNÍNÓhãÕÏ�Þ0ØzËNÌ?å=Ûäã�ã�Ø2Ò7ËNàÐÜIÑÆÓhØXÓhßIÌäÛxËNÊ�àÐÜIàÐÝ²ÓeÒ7É2ÓhàÐâJÌOMON�ãÕÌäØ2Ô�ÓhßIÌ þ å á�åzÞ0Ø?ÖNÒeÓhÝxùªö¯Ì��tÝ=çäÌ�ÎÐÌ�É,ÝeÌLENï?ÖNÜIÌäü|èNÿ���� �Jýëè|àÐÜ
ÓhßIÌ0ÎcÉ2Ý²Ó=Ýeà���Ï�Ì�É�ÒhÝ�èzÞ0ßIÉ,ÍNÓhÌëÒ RäÚ�É,ÜNæ�ÒhÖIÍNÓhãÕàiÌÕÝAßIØ�âJÌÕÒhÌ�Ë(É2ÒhØ,ÖIÜIË R4QLC¤Ø,Ô�É2ÎiÎNÍjÌÕÒhÝeØ?ÜIÉ,Î|Ú�É2ÜIæ�ÒhÖIÍ|Óhã�àÐÌ�Ý�É,ÜIË«ÍjÌÕÒhÝeØ,Ü�É,ÎNÚ�É2ÜIæ�ÒhÖIÍ|Óhã�àÐÌ�Ý
àÐÜIãÕÒhÌ�É,ÝeÌ�Ë�Ô ÒhØ,Ê�ü&%DC ÓhØ�üDR4CCØ2ÔAÉ2ÎiÎjÚIÉ,ÜNæzÒhÖNÍNÓhã�àÐÌ�Ý�å%Û�Ë|Ì�ÝeãÕÒhàÐÍNÓhàÐØ,ÜrØ2Ô5ÓhßNÌ¯Ù.É2ÜIæ�ÒhÖIÍ|ÓhãÕÏ!Þ0ØzË|Ì¯àÐÝ0Ñ,àÐâJÌ�Ü!àÐÜrí�ÍIÝ²ÓhÌÕàiÜLù²û�ü,üD@,ý0É,ÜIË
É�î�ÖIàÐã7æ!Ø2â?ÌÕÒhâzàiÌ ��àÐÜ �±ßIàúÓhÌ�ù²û�ü,üLP?ýëå
ÇeÇ('*),+ Ê�Ì�É,ÜIÝ '�-.),+�-�/�021 û /4353637/98 E '*:,+ Ê�Ì�É2ÜIÝ '*)�+ É,Ü�Ë '<;1=+ E '?>@+ Ê�Ì�É2ÜIÝ '�-.:,+�-�/�021 û /4363537/(8 å�ìNØ,Ò

A�BDCFE / AHG àiÝtÓhßIÌ¯ÝeÌÕÓäØ,ÔAÓhßNØ?ÝeÌÆÌ�ÎÐÌ�Ê�Ì�Ü�ÓhÝGàÐÜ A �tßIàÐã7ßpÉ2ÒhÌÆÑ2ÒhÌ�É2ÓhÌëÒxÓhßIÉ,ÜQØ2ÒäÌ�î�Ö�É,Î�ÓhØ �zå

�



�J�����.���%�z�5� � �����ª� ����� ¼[�j����¼k�j���%���� 
�����j¨�©!�*�����A�:�j�r�j�¬�<� �����?�4���"� ¼ �4�� �� ¼[�j��� �?	 ��� � �� Æ¨
©!�������A�%�z�ä�=�j�
�,�=���ª���L�*����¡.���
�j�Æ�.���2�ª�A���������=�%�J�*�z��� 	 ¿�������� ��� �j�����,�=�������L�5�=�L¡.���!�j�;���������z�z�

�������J�*�z��� 	 ¿�������� �
	�¨ µ«�j�2� ����������� �������=���������������������������j��� �j�L���%���z�5§A�ª���������z�5���:�2��� �0���,�ª�*� ¿
���%���������C�.���2�ª�A����¨ ©
�%�n��§j�z�5���k�j¡=�����2§I��¡=������� �.���2�ª�A�
�L���2�n���ª§j�z�
¡*� ���=�������ª�����������¤�j���5¿��������H�
	��¬¨
©x�¢��� ���z�J�L�����0�z�=�%�z���J�k�j���j�J���ª��������� �.���2���*���Q��� ��§j�z�5�����j¡=�����2§I��¡=���[��� ���������.���2�ª�A�G�G�3�����j���X���|� �������
�±�²�����J���ª��� �����5¿��������H�
	�������� � ¥7�[�z�j���%�2��¡=���¦�ª���ª�������J���������j�¬�g��� �z�j�,�C��§j�z�5��� � ��� � ¨�©x�¢��� ���z�J�����%�
�j���������ª�����j�(�z§��j������¡=�����ª�7���j�
���%�:�j�,�[�����ª���
�j�k���������j�5�z�k���t�;���j���2�������������k���%�±���z°5���z���J���j�
�=�����������ª�������
�"	 1���� 3����� 6 �A�����%�������z�J���z�j�����%�g���
�a�%�z�%�z���(�j�������j���a���«�j�� �!#"%$'&)(�*'+, -$'!/.0+,&)1324+,15&76.¨ ���j�8� 	�¿�������� ���L�
�ª���:9;�H	=<21 �>�I1?� 3F3�@A � 6 ����@�B �>�I1DC 3����E���U¥7���z�j���%�2��¡a�ª�:Fr¡.�;���%�����%¡=���a�j�J�;�j� ��@��J���=�������������!�j��§j�z�J���j�2�¯ 
�����2�
���������U¥7���z�j�2�%�2��¡=�ª���j�=�¢�ª���E9 	 � G��� 6 9;��¨©!�������*���z�G���j�!���=�=�ª���p�5����¡.���!�j�X�J�����������=���ª�����j�5�A�����������%�J�A�z�IH 	�¿�������� �KJ!¨«©!�%�p�J���������[�����ª���
���=�j�J�������.���2�ª�A���g���MLM� 	 1�9IN� 36���j��� ���%���J�������=�������ª�������a�j�J�����ML 	 � G��� 6 LM��¨ 0 � �z�ª�z���z�5�;O 	
1�OP� 3 � ��� 6 �QL ���(�I2R$'!S.015(QTU+, D$'!�TUV�*'!� 
�����,�¦�z�5���j�������J�������=�������ª���¦�j�3OP��1?�%3XW����=�ª���;�j�t�j�*�A�;HQ���¦�.���2���*�
�?�������������¬¨

©!�����[�*�%�z�����j��� �=�=�ª�����*����¡.���g�j�Q�j�����������j�[�J���5���2�j�J����� 6 .¤�������J�*�z��Y 	 ¿�������� �[ZÆ¨ ©!���z�ª�k�=�z�j��³
��� �.���2�ª�A���r���L�����[�[���,�(���z�¤¡5� �\	 G Z��¦�����2�×� �j�(�j���������������%�2�=���t�%�z�%�j���z�
]^��¨��Õ���_�
Yj¥h��� �J�����.���%�z�5���
�%�z�%�j���z�`]^�I1?� 3ba��0���0�z�������z�
������1²�%���%¥7�%���������ª§j� 3
�=�z�j��³
�j���j�������cY±���¢�.���2�ª�A�Q�?�0���������M�[���¢�����2�¦�r�j���j�5�A�
H.	�¿�¨A�%�j�Q�J���¬§j�z�����z���J�j�����j���������p���=���d] 6 �����������������[�[�����2�ª���j�������¦��� ���z�J�!���%�������0�z�=�%�z���J�3�j�¯�j�2�����
�������%�,�������
���%�����%�U�j�2�[�����ª��� �z§��j������¡=�ª�j�X���j���2�����¦���=�����U�j�k�z�j�2��� � »*�e]^��1DC 3��������²¥7���z�j�2�%�2��¡=�ª�j¨�©!�%�
���z°*�%�z���J���j�;�j�������Q�������%�2���[�����2���J�z���f] 	 1b]^� 3 � ��� 6 �a���r���j���ª�z�¤�j�g*'.0.064+M.0+,&)1324+,15&76.¨��x�j�2���:���������
�j�;�j���������
�����3�%�<�=�%�z���j�(�:�����ª�| 
�z¨X©
�%�
�.�j�����U�����ª�g���=�j�J�3���¦�.���2���*�M�E��� � ¿Q���ihj�H	k9ml� �j�=�n���=���(���n�.���2�ª�A�M� 	n�
����h � 	o�|¼p�;q/9ml� ¨Q©!�%�L�.�j�����U�����ª�n���=�j�J�k���rh 	 � G��� 6 h � ¨ 0 ���z�ª�z���z�5�rs 	 1bs � 3 � ��� 6 ��h ���
�tT5$u&%+v"%$'V� -$
TjVw*'!  
�=���2���z�¬���j�����3�±�%�����������[�j��s7�I1?� 3bak���=�ª���Q�j�«�j�������cY±�����.���2���*���,�t���������;�¬¨ '3�����j���������j���ª�j�. (�[�����j���
�2���±�j�J�2�����!���%���%�j�������ª����s7�  6 �� 
�%���2��� 	 ¿�¨ �®�%�z�%��§j���
 (�L���|§j�L���¦�J���=�����%���
�[�0�j�2���:�������xs � �=�ª���!���
�����s � 	 ¼A¨
���2���J�z�n�j���j�5�A�����j���S�j���������±����� �%�<�=���z� �j���U�����ª�| r��¨ ©
�%�����,���J�����a�j�J� ��� �.���2�ª�A�y���z� � ¿¤���

{ � 	}|�1�~u�4�K�>� 3 � 1�9 N � l� 36����� �:�j�
��§j�����Q���r� W ~P��1?�%3XWS�y� a �>��1?�%3ba 	 ¿j� �j�����������������.���2�ª�A��� 	�� ���
{ � 	 | 1�~ � ��¼-3�� 1�9 N � l� 3 � B5�:�j�!��§j���2�����^� W ~ � 1?�%3XW�	 ¿ � ¨ ©!�%�����,���J�¢���=�j�J����� { 	 � G��� 6 { � ¨ µ��j�,�
�z�ª�z���z�5� 1�~H�K��3.� { ���
�;Tj&) -2R6�.0��.0+K6%(� 
�ª���x~u�I1?� 3XW!���%�����2���J�p�j�;�n�����ª���j�X�j�*�*��H����±�.���2�ª�A�m�,�0�����������
Ç > È:ÜQÓhßIàÐÝtÊ�ØzËNÌÕÎ�è�É,ÝeÝeÌÕÓhÝxß�É�âJÌXÎÐØ,ÜIÑ!ÎÐàiâ?Ì�Ý�å.ñxØ �0Ì�âJÌÕÒ�èNàúÓ¯àÐÝäÌ�É,Ý²ÏrÓhØ�àÐÜIã�Ø2ÒhÍjØ,Ò7É�ÓhÌ«àÐÜQÓhßNàiÝäÊ�ØzËNÌÕÎ*É2ÝeÝeÌÕÓhÝ �tàúÓhßpÝeßNØ,ÒeÓäÎÐàiâ?Ì�Ý�åGÈUÜ

ÔªÉ2ãÕÓ�èAàúÔaÓhßIÌÕÒhÌ�É�ÒhÌ�Ø?ÜNÎúÏgÉ2ÝeÝeÌÕÓhÝ �tàúÓhßgÝeßIØ2ÒeÓ;ÎÐàiâ?Ì�Ý�èAàúÓ;àÐÝÆÌ�É,ÝeàÐÌÕÒ;ÓhØrÍNÒhØ�âJÌ(ÝeØ,Ê�Ì�ã�Ø,Ê�ÍjØ?ÜIÌÕÜzÓhÝ¯Ø,Ô0ÓhßNÌ�ÍNÒhØ�Ø2ÔGØ,Ô0Ì��|àÐÝ²ÓhÌ�ÜIã�Ì(Ø,ÔtÉ2Ü
Ì�î�ÖIàÐÎÐàÐÚNÒhàÐÖIÊ3å=ÛäÎÐÝeØNèIÉ,ÎÐÎ �0Ì�ÎúÔªÉ2ÒhÌ;Ì���ÌÕãÕÓhÝtÑ?àÐâJÌ�Ü3àÐÜ
ÓhßIàÐÝtÍ�É,ÍjÌëÒäÒhÌÕÊ!É,àÐÜrÓeÒhÖNÌXÌ�âJÌ�ÜràúÔ=É,ÝeÝeÌÕÓhÝäß�É�âJÌXÝeßNØ,ÒeÓtÎÐàÐâJÌ�Ý�å

¿�¼



�j���Q� �F1?�%3bap���������2���J�3�j�Æ���������(�j�Æ�j��������Y¦�����0���,�ª�*�I�?�=��������� �¬¨
©!���
���A�%�z�=���j�«�L�J���5�����*����� �j�t���j�z�5�����*	�� ¼ �z¿��h�%���=�%�J�*�z��������¨ 1	� ��
.�
�O3;���������z�j���%�2�
���=�j�J�r 
�ª���

�¦�!�J���[�=�ª�����j�%�=���ª���j�I�������[�ª�z���¯���z�j�������j¨¯µ«�j�2�����j�z�¬���0�=�j�ä�ETj&76
"%64&76%!j2R6M&764Vw*'+, -$'!r�����fqyL G LC�I 
�����2�
���p�J�����a�ª�����j�ä��� �=�J�A�ª§j�j�x���2�j���������ª§j�j�ä�J���5§j�J�0�X�J���¬�����5�%���=���j��� �����2���%���ª���[���%�j�����%�91�O����O�� O������O 3 6 :
�j�����j�g64!��f$ ��(�64!U+N�"!#� 	 1$!#�� 3 � ��� 6 ��LC¨����j���������L�������
���%���J�����ª�z�J���ª�����j�¯�z�=�%�| 
�[�z�¬�����H1$!#� 3 �$%'& �a���ª�z�
���±��¡.�����=�%�z���������=�ª�!���������F���z�!����� � !#�)( ¼¦�j���±�������!�������[������*+ 1,��� �
!-� 3��������z�j�����2��¡=�ª�j¨

©!���z�������2��������¡a�j�������J�����J��������¨C¶ä�������k�%�|  �ª�*�j£C���k���%���2�ª���5���g�j�r�J���z�������j�2�k�j��� ����¡����j�2����� ���%�
���A�%�z�G�j���¢�=���p���%�z�������n�%�������2�[�����Q�������=���j�������j�.�0���2�ª���ª�����j�Æ�j�¢���j�z�¬��¨

���p£A�%�|  ���=�������%�����p�����p���z r���j�|§j���2�����%�k���2�ª�j�2���7�[�j�¯�����j���[�(�j�x�J�2�z���ª���j�2�(���±�k�%��¡����j��;Ð�������J�����p�j���
���| 
�(�����j���z�J�����%���%��¡=���j�2�(�:����� ���%�p�����j���[���j�¯�J���z���ª���j�,��¨ 0 ¡a�����2�j�J�����%�k�������p�J�����.���%�z�5�����U����� �������(�ª�����j�
�U�2�j���� (�j��£a�j�¯�j�������[�(�����(�U�����ª�N 
���%�Q��¡.���%�x���������z�������ª���k�[��£A���%�Q�z�¬§A�ª�����=���z�¬�¯�j�a�j�����j�z�5�;���g���%�����A�%�z�e¨
1�¿ 3¯©!�%���2�����¯�j�k�J�A�z����������� � �������Æ�������Q¡=�����=�ª���j�a�j�5�A���Æ�����,�k�������Æ���%��§��j���%�(�j�0�j�����j�z�5�<;Ð�;�z�����| 
���z�5�
�%�¤���n������§��j���%���j�;�������
¡=�������������
�J�A�z�������z�¤�U����� �:�j���U�z�ª���%�2�L��§j�z� �ª�Æ�%�k���j�r����¡����
�����������j���������%�H1e»+3r�
�J���z�������j�X�=�j�¯�Q���,�ª�j�¯�����j��� ���p�����«�J�%�J�z���X�j�a�3�%��¡=���j��;Ð�X�����J�����(�|§j���;�����(§��j���%�(�j�����%���%��¡=���j��;Ð�¯�J�*�z���=���ª���
�j��� 1 $+3r���%�������j��� �j�(�j�¬�¤�J���z���ª���j�p��� �j�����j�z�5�<;Ð�L�����J���[�g���j�3�����k�2�j���k���2�ª�j�2���7���j�3���%�������j��� �j�(�j�¬�
�j���%�����J���z�������j�z¨Æ©!�%�z���3�j�������[�����ª�����«�%�z���J�2�ª¡.�!������&) 	.0/�+,.Q$R"�24&76'�u -+K$'&).I*'!1�2�'643%+K$u&%.����[���%�3���A�%�z�e¨ 6 �
©!�%� ���2���Q�j���������=���ª���¢�����a���ª�z���������Q���%�L�J�A�z������������§��j���%���j�;�j�¤���j�z�5�3���!���%�g�ª�z�������r�j�;���%�L§��j���%�L�j�;�����
�z���%�N 
���z�5�[�j���
���%��§I�j���%���j�
���%�±�J�A�z�������ª���
¡=�=�����ª�j¨ ©!�������z�J�������j�������[�����ª���������=���ª�z���������[���!���%�
����°*�����=�����ª����§I�j���%�L�j���j�¤���j�z�5� � �������3�����a���%���J�%�J�z���Q�j������� 1U�j�������43r���=�J�����L�N§j���������!�J�A�z�����������¢§��j���%�
� �����j���z�������������j� ���%������¡��g���¦�| (�z���(�����L������¡=�������7� ���L�������%��¡=���%���| (�z��¨ 'Q���%���� r�����j�Æ������������¡=�����ª�7� ���
����������°*��������������� §I�j�����j¨�©!�%�n�����ª�2�C�j���������=���ª���C���[�=���ª�z�p���=���g�J���z�=�ª���j�2�g�����������ª�������z���:�2�����¤�%��¡����j�k���
�����j�.�j���������[���k 
�����(�%�r�N «�z�������z�±¨Æ�ë�ä «�Q�������%£k�j�¯�������z���%�2�z�¦�ª�z���=���%�L�j���ª�z���=���%�� 
�=���2�n���«���j�(���z�������z�
¡*�¦�j���j�ª���z�j�%�¦���%�z�¬�������z�[�.�j�����ª���n�j�ä�²�%���%�2�r�����J���[�r¡=���������ª�¦¡5�¦�g�j�z�%���,�j�0�����j���]�����ª�(���%�z���������(���A�%�z�
���j�����=�ª���=�����z���%���z�±���z�������%�%¨ 6 �

©x�±�������j���������������2�����ª���±�j�«���%�g���j���ª���¤�j�«���%���²�j���ª�Q�2�����k���¤�j���j�2�������t���%���.�������������3���j���j�;�ª�����r�U�����
���j�z�5�������n���=�����j�����������65��j���n���j���j�.�%��¡��(�| (�z�n¡*�[���%�z� �����������(�j�����������67x�A 
�ª���n¼ �85��97��j�=��7:� ¼A¨
©!�%�z�t�t���%�¦�%���²�j���ª�3�2�����¦��� �������p�j�2�����L���<; 	>=?
�j�=�����z�J�|§j���2���2������¿ � ;;¨n©!�5�=���ä�%���²�j���ª�3�2�����n��� �j�
�j�����������[�L�=�����������=�����;�.���2�ª�A�[�j���n���������Q�����L�*����¡.���;¡.���7 (���z��¼��j����¿
���z�������������;���%�r�����j�.�j�����ª���[�j�t�%��¡��
 
�����2�±����¡a�j�G¨;©!���������j����§I�����z�
���%���U�����ª�| r���%���%�j�������ª���G¨
Ç J õ.ßNÌÆÜIØ2ÓhàiØ,ÜIÝtØ,Ô�àÐÜIËNà ��ÌÕÒhÌ�ÜNã�Ì�ùA@�B�ýGÉ,Ü�Ë
Ý²ÓeÒhàÐãÕÓäÍNÒhÌÕÔ ÌÕÒhÌ�ÜIãÕÌ
ù	C)B�ý.É�ÒhÌXÓhßIÌXÖNÝeÖ�É,Î¬Ø?ÜNÌ�Ý�å
Ç ��Û�ÎÐàiÊ�àúÓ7É�ÓhàiØ,ÜpØ,ÔAÓhßNàÐÝäÊ�ØzË|Ì�Î�àÐÝtÓhßIÉ2ÓäàúÓäËNØ�Ì�ÝäÜIØ2ÓäÉ,ÎÐÎÐØ �¤Ô×Ø2ÒtÒhÌ�ÜIÌ�Ñ,Ø,ÓhàiÉ2ÓhàÐØ,Ü5å
Ç 
 �gÌ0ã�É2Ü(àÐÜ�ÓhÌÕÒhÍNÒhÌëÓ%É,Ü(É,ÝeÝeÌÕÓ�àÐÜ;ÓhßIàÐÝ%Ê�ØzËNÌÕÎzÉ,Ý%ÉtÒhÌ�ËNÖNã�Ì�ËÆÔ×Ø,ÒhÊ�ÒhÌ�ÍNÒhÌ�ÝeÌÕÜzÓ7É�ÓhàÐØ?Ü(Ø2ÔIÓhßNÌ0ÖIÜNÝeÌ�ã�Ö|ÒhÌ�ËÆÍjØ,ÒeÓhàÐØ?Ü«Ø,ÔjÉ2Ü(ÖNÜ�ËNÌëÒhÎÐÏ|àÐÜIÑ

É,ÝeÝeÌëÓ¯ÚNÖNÓGÈ.ÝeßIÉ,ÎÐÎ¬ÜIØ,ÓtÔ Ø,Òhã�ÌÆÓhßIàÐÝGàÐÜ�ÓhÌÕÒhÍNÒhÌëÓ7É2ÓhàÐØ?Ü¬å

¿j¿



©!��� �����U�j�������,����� ���=�j�J� ���S�.���2�ª�A�k� 	 ¿������ 6 	 �|¼p� q 9 6 �j���®���®�.���2�ª�A�n� � »������x� 	
< ;5� � 9 l� BA¼M��;3�e� ¿ F ¨ 1 �
�����j��¼����«�����Q§j�z�J���j�r�j� ���������
�j��� ¿3���%�3§j�z�J���j�
�j�ä�����z���%¡.�j�������t9 l� ¨ 3g©!�%�
�%���²�j���ª�p�2���������=�j�J������� 	 � G��� 6 �x��¨ 0 �C�z�ª�z���z�5� ; ��� �����2�f6 "%*'15Vw+m&7*'+K6�.0��.0+K6%(  r�ª��� ;3�I1?� 3ba¦���%�
�%���²�j���ª���2�����L���¢�j��������Yn�����.���2�ª�A�I�,�a��������� �¬¨

©x�n�z�=���%�����������p���¢�z�j�,� �0���,�ª�*���j���¤���������k���%��§��j���%���j�;���%�g�J�*�z�[�����ª���¤���r���j���������%�.�
�j�2���������������
�j��6��'64( Tj+, -$'!®�����j�±�z�ª�z���z�5��� � L��2���2�±���=����� ( ¼A¨

¶ä���(�����%�N S���������2�[���%�r���%� �=���j�������j�=�.�����ª���ª���¦�j�ä�j�����j�z�¬��¨ �%�%���.����� 1�~ �K�
� ;H3(�����g���,���J�r�j�����%���²�j���ª�
�2�����[���A�����z� �j���`s � ���0�j�2���:�������n�=���j���U�j�����j�z�¬� �2¨��Õ�¤�.���2�ª�A�\�,�t���������;�¬�G���j�z�¬�<��;Ð�3�z���%�N 
���z�5�3�����J�����
���r~P��1?�%3 ! �� 1?�%3,�(�%�±�����2�%���.�����z�
�������z�J�z�ª§j�M~u�F1?�%3 6 � ]^�I1?� 3����>��1?�%3 ��s ��  6 1?�%36� �:����� �=���g�0���,�ª�*��� � ¿±�j�2�����
�=�%�,�2���j���z�[¡=�%�k�J�*�.�z�J�������C���z�J�z�ª§j�¢������� � la � 6 1�¿ � ;5��1?�%3ba 3�~P�I1?�%3 6 � ]d�I1?�%3ba � �>��1?�%3ba � 1bs ��  6 1?� 36� 3ba��j�����%�
�| (�z�:~P��1?� 3 6 � ]^�I1?�%3%���>��1?� 3 ��s ��  6 1?� 3  Æ¨;©!���-.�&7$'.0.I �!j2 $'(�6\$R"m*0.u6%!U+ �� �!gT56%&% -$4�m�	�c.0+K*u+K6t�Q���Æ���%�Q�����
�j�Æ�������z�=�%�| 
�[�z�¬�Q�����J�����L�j�=�¢ 
�����r�%���J�A�0�z�J���r���¦�2�z�J�z�ª§j�����¢�������!�.���2�ª�A�±�j�������������j¨��r���!�J�*�z���=���ª���
§��j���%�����3���=���ä�.���2�ª�A�p�j���L���������«����
�� 1�~H�K�7� ;��Ks � 3-�I1?�%3�	 �[��� 1R~P�I1?�%3 !#�� 1?�%3 � ~P�I1?�%3��>�I1?�%3 3G�j���L�����G����°*�����������ª���
§��j���%�������������!�.���2���*���j���¢���������L�������%���J�%�J�z���
�j�¯�������j�������!���=�J�����p�|§j���Q�������J�A�z�������ª���±§��j���%�j¨�
<.u6%!U+-�
 �. 37*'!��#&)1 Tj+^ -!
T564&) -$4�I�	�c.0+K*u+K6;�
�ª�.���k���������0���,�ª�*���j�=�[���������r�=���Æ����°*���������������L§��j���%�!�����ª�z���Æ�����j�[ 
�����
�%���N «�z��¨ �r���p������¡=�����ª�7�¢��� �.���2���*���?�x���������t�n���3���%�n�ª�z�������p�j�������p����°5�����������ª����§I�j�����[��� ���������.���2�ª�A� �j���
���������L�j�=�± 
�����!�%�p�N «�z�r���±�ª��¨ 0 �¢�����a�����������ª�����j�¯���%�z���L�%�<�a���ª���ª�����(�����������r�ª�ä (����������£¦�j�X�%���U�j�=�ª���j�
�
���ª���=�����ª��� ���¤ 
�����,�¤�j�����j�z�5�p�����=�|�*�L�ª�z���Q�����j�  
�����p�%�k�N «�z�p�����z�G�t���¤�������3���A�%�z�e�G�j�����j�z�5�L�%���²�j���ª���
�J�%�j�J���ª�� 
�%�z�¢�%������¡=�j�%£*�2�%����¨ 6 � ©!�%� !j64+  -!j2 $'(�6
$R"�*0.P64!U+#�M -!yT56%&% -$4�`�	�r.0+K*'+K6��L���

� �F1�~ �K�
� ;��Ks � 3-�I1?� 3 	 ~u�F1?�%3 !#�� 1?�%3
� � a 1�¿ � ;3��1?� 3ba 3�~P�I1?� 3 6 � ]^�I1?�%3ba����>��1?�%3ba � 1bs ��  6 1?� 36� 3ba
� ~P��1?� 3 6 � ]^�I1?� 3����>�I1?� 3 ��s ��  6 1?� 3  �

�%�j�E� 	�¿r�������«���z�����J�z�(���^~ 6 1?� 3 ! � 6 1?�%3,¨�©!�%� �' �. T5$u. * 3%Vw6\ �!j2 $'(�6`$R"�*0.u6%!U+��_ -!�T56%&) D$4�Q�	�^.0+K*'+K6I�p���
� � 1�~ �K�
� ; �Ks � 3-�I1?� 3 	 �[�I� 1 � � 1�~ �K�
� ;��Ks � 3-�I1?�%3 ��
 � 1�~ �K�
� ;��Ks � 3-�I1?� 3 3&�

�%�j�x�?	 ¿n�������L���z�����J�z�����;~ 6 1?�%3 ! � 6 1?�%3,¨¢�ë�g�������,�ª§*���j�Æ���¤�,�%�z��£ �������k���j�z�¬� �p����¡=�j��£5�2��������� �.���2���*���?�
���������`�¢�ª�Q�j���������ª�
�ª� � � 1�~ �K�
� ;��Ks � 3-�I1?� 3���
 � 1�~ �K�
� ;��Ks � 3-�I1?�%3,¨ �Õ�����=�������j�����=���k�������.������¡=�������=�J�����¢���


�F1�~ �K�
� ;��Ks � 3-�I1?� 3!�j�������L�J���¬���,�ª¡=�%���z� 1�
 � � 3 � 1�~ �K�
� ;��Ks � 3-�I1?�%3�	�

�F1�~ �K�
� ; �Ks � 3-�I1?�%3 � � � 1�~ �K�
� ;��Ks � 3-�I1?� 3����
���%���0�*���G�j�Æ¡=�j���%��¡�����¨ 'Q�������� 
�����j�a�%���J���5���2�ª¡=�����z�
�%�j�������%�[���¦�����L�.�5���t�j�Æ¡=�j���%��¡=����¨�©!�%�L�ª���2�!�U�����
���j�z�5� �X���¦�0���,�ª�*� �,�A�����������3����� ��1�~ �K�
� ; �Ks � 3-�I1?�%3 	®�[�I� 1F1�
 � � 3 �F1�~ �K�
� ; �Ks � 3-�I1?� 3&��¼-3,¨�©
�%� �f643)+�$ ��6'�23%�
*0.P64!U+���$'! *'.0. 6%+ Yg �!�T564&) -$4����� .0+K*'+K6m�p���67 �F1�~ �K�
� ; �Ks � 3 � 1?�%3 a 	�~ � 1?� 3 6 � ] � 1?�%3 a �
� � 1?� 3 a � 1bs ��  6 1?�%3  3 a ¨
Ç 
 õ.ßNàÐÝ¯Ë|Ø�Ì�ÝxÜNØ,ÓäÊ�Ì�É2ÜQÓhß�É�ÓxßNÌÆß�É2ÝxÜNØ�ãëßNØ?àÐã�Ì�É,ÚjØ,ÖNÓ �tßIÌëÓhßIÌÕÒtÓhØ!ËNÌëÔªÉ,ÖNÎúÓ¯Ø2ÒxÜNØ,Ó�å0ñ¯ÌÆÝ²ÓhàÐÎÐÎ*ã�Ø,ÜzÓeÒhØ,ÎÐÝxßNàiÝäÍjØ,ÒeÓeÔ Ø?ÎÐàÐØ!ãëßNØ?àÐã�Ì

�tßIàÐã7ßpÉ���ÌÕãÕÓhÝtßIàÐÝtÚ�É,ÜNæ�ÒhÖIÍNÓhãëÏ!Ý²Ó7É2ÓhÖIÝäÉ2Ü�ËrßNÌ�ÜIãÕÌXßIàÐÝäËNÌÕÔ×É,ÖNÎÐÓäÝ²Ó7É�ÓhÖIÝ�å

¿z»



©!�%���2�����ª���j�;�ª�����r�:�2��� ���j�z�5� �������n�.���2�ª�A�¢�j���¤���������k���n 
�=���Q�%���| (�z�p�������r���r���%�g�����j�.�j�����ª�����j�;�����
�%��¡��(�������!�J���z�=�ª���j�2�����j���%�j�����z�J�N§j���z¨«©!���������:�j�2�j�*�����Q�ª���2�«�U����� ���j�z�5���Æ�����j������� Y����«�������(���2�j�0�j�2���ª���¦�j�
 
�����!���p�| (�z�
���¢�j�2�����8Y�¨A�%�j�2�[�j���ª�j�%���%�;V�$u.0. ")&7$'( *0.u6%!U+-� $u! *'.R. 64+8Y� -!yT564&) -$4�`�	��.0+K*u+K6��L���
5 � 1�~ �K�
� ; �Ks � 3-�I1?� 3ba2	 ���� � B�� �	� 
�� �
� ��B������ A ������ A � Ç�� � ��� A � � 
���� A ����� B��� Ç � A � � 7 � 1�~ �K�
� ;��Ks � 3-�I1?�%3ba �ª��~P��1?�%3 6 � ]d�I1?�%35��� �F1?�%3 ��s ��  6 1?�%3  � ¼

¼ �j���%���� 
�����j¨

·r�j�����J���������!�U�j�c��	�¿�� 5)� 1�~ �K�
� ;��Ks � 3 6 1?�%3ba!	 7 � 1�~ �K�
� ;��Ks � 3 6 1?�%3ba!	®¼A¨
©!�=���3�����[�[���,�(���z�3���%�
�=�=�j�������j�¯�.�����ª���ª���¤�j���j� ���j�z�5�L��� ���%�[���A�%�z�e¨�¶ä���L���p�%�N ]�ª�*�j£¤�������,�j�����%�

���z�����,���J���ª�������j�����%�|  �����z���L�����¦�ª�«�����L��¡=�������7�¦�j�X�j�����j�z�5�
���¦����£j�L���¢�%��¡=��¨
�%�2��� �L���2�j�J�������j�a�.�����5�;�j�G§*���� ��5 (�
£A�%�N  ���������j���������ª§A�����=�j� ;Ð�X��¡=�����ª�ë�����k���z���a�j�n�j�2�����(�j�=�[����£j�3���

�%��¡������(���z�����2���J���z��¡*�������[�3�J�2�z���ª�������[����¨x�������%�����A�%�z�e�A�k¡.�������n���¢�j�±���j�z�¬�<;Ð�r��¡=�������7�[���[���z���0�j�±�j�2�����
���p���[�0�j�2���j�¬�3¡.�z���j������ 
�����¤���.���������ª§j���j�����������,���J�j�t�%��¡��p�j¡=���ª�������ª���������¦�ª���z��¡*�¤�J�*�z���=���ª��� §I�j���%�[�j���
�%��¡.�������¢��� �j�������Q���j���z���.���%�����k�����g�¦�j�¬�����j���z�p���� r�����2�¤�j�¤���j�z�¬�p ��j�¬���3�������z���¯�j� ���=�=�=�ª�����j�������5�
�j�!���%���j��������¨ 6 � ©!�%�������U�j���j�X�U�j�g�j�������k�¦����£j�����g���¤���ª�z�����ª�g���L���z�J�z��������� ���=�������%�����2���J�[�j�!��§j�����C�j�2�����
¡.� �������%�0 
�����,���z�����z�5�����j���ª�����z�j���
�������r�j�������r�[����£j�����r���*�%�
�%�N 
�G¨ 0 �J���z�=�ª�
�����¦�ª�������=�����z�(�[¡0���=�������
�j�������r���j�ª�z��¨;�Õ�!�������=���������j�.�����ë�n�j�X�[�J���z�����!�����[�ª�(�������!�( ��j�¬�!���n��¡=�����2�j�J�Q�j�����:�j�,�[�j���(���j¨

����£*�%�N  �������¦�C�J���z���ª�[�����[�ª�g 
�����,���j� �����=�ª§*�������j�Æ�²�j�J�z�n�����0�z�=�������j������� �j���%���¦���=���%�����«��� �j�
�z�������¦�����g�j�«�����Q��¡=�����ª�ë���������z���ª§j���Q���%���j�*�A�����0���¤�=���r�����U�j�����r���������j���¢�j�������������g�=�2���J�L�j�����%�g�j�2������¨ 6 �
���±���%�����A�%�z�e�%�������������:�j�,�[�j���(���z�¢�������%�p�:�����ª�| 
���%���%�<�=���ª�������G¨

¶ä��� � 	 < �*� 9ml� �� �������������U~��Q9tN � �j��� 1�~ �K�+3 � { F �j��� �U�j�¦��§j���2�gY � � �,�[ 
�ª��� �\� � � ¿��
�ª���
� �I1?�%3ba!	 < �*�!� �� �>��1?� 3ba?� 6

. l F ¨ 0 24&76'�u -+iV� �(� �+�"%$'& *0.P64!U+��G���x�Q�J���5�����5�������ä�²�����J�������#" �¯¸
� G 9ml� +
9ml� 1²�[�����a���%��1b�7�
5H3r���$" � 1b�
�
5�3F3r���=�������Q «�z��£A�ª�����z�J���z�j�����%�±��� 5;¨ 6 � ©x�±��� ���z�J�3���%�[�����0�z�=�%�z���J�L�j���
�J���z�����������[�ª�«�������%�����%�U�j�2�[�����ª�����z§��j������¡a�ª�p�����k�=�����������������«�.���2�ª�A�G�*�«�j���2�����3���������U�j����§j�����t�?�%" � 1b�
�
5�3 �
�%���.�z�����
�����ª������� �'& �j��� 5 �'&  
�%����� ��(3�/�?¨ 0 24&76'�' �+xV� -(
 �+M.0��.0+K64( ���Q�¦�¦���)" ¸4� *+*" �ë¨
�!�j���2�����
�������!���=���!�[�����������z�j���%�2��¡a�ª�j�/. � �������+" � ��§��j���������z������5=	®¼[ 
�%�z��§A�ª�� «�z���j�
���²�����J���ª�����j���(�j���Q�k���
¡.�������%�z�¦�j���¦���=�����U�j�«��§j������Y � � �,�; 
�ª���;�8��� � ¿����A1 | ��� � ��� ����� 
 %	, ��� A ��-�� = %/.10G " � 1b�
�
5�3-�41?�%3ba � ¼ � 3�� ¼
�j���¢���:�>��1?�%3ba!	®¼������z� �A1 < � ��� �� " � 1b�
��¼-3-�41?�%3ba!	 ¼ F 3 	 �A1	� 3,¨

©!���[���j���p�7 (���j���2���������ª���=�Q���2�¦�������²���X��� �����N§*���%�����%�[�[�j��� ���z�2���ª���p��� �������3�=���.���z¨ ���¦���j����������£
Ç � ìNØ,ÒGÌ��NÉ2Ê�ÍIÎÐÌ?èzÌ�âJÌëÒeÏ
É,Ñ?ÌÕÜzÓ �tàÐÓhßrÝ²ÓeÒhØ?ÜNÑ?ÎúÏ!Ê�Ø?ÜNØ,ÓhØ?ÜNÌXÉ2Ü�Ë!ã�Ø?ÜzâJÌ���ÍNÒhÌÕÔ ÌÕÒhÌ�ÜIãÕÌ�Ý �tßIØ«ß�É,Ý.É�ÚjØ,ÖIÜ�Ë|Ì�Ë!àiÜ�ÓhÌÕÒeÓhÌÕÊ�ÍjØ,Ò7É,Î�Ò7É�ÓhÌ

Ø,ÔAÝeÖIÚIÝ²ÓhàúÓhÖ|ÓhàiØ,Ü �GÉ2Ü�ÓhÝtÓhØ(ÝeÌ�ÎÐÎAÉ,ÜràÐÜ ��ÜNàúÓhÌÆÉ,Ê�Ø,ÖIÜ�ÓtØ,ÔAÓhßNÌ;É,ÝeÝeÌÕÓ�å
Ç � õ.ßNÌÆÍNÒhàÐã�ÌÆØ2Ô�É,ÜpÉ2ÝeÝeÌÕÓ �tàiÎÐÎ¬ÒhÌ32�Ì�ãëÓGÓhßIÌXÒhàÐÝeæzàiÜNÌ�ÝeÝtØ,Ô%ÓhßNÌÆÉ,ÝeÝeÌÕÓ�å
Ç �34#576498;: B ù�< / 64%ý=5>: B ù�< / 4%ýeýëå
> # õ.ßNÌGÓ7É2ÒhÑ?ÌëÓ0ÝeÍIÉ,ã�ÌtàÐÝ�è�Ø,Ô�ãÕØ?ÖNÒhÝeÌ,èJÓhßIÌtÝeÍ�É2ã�ÌtØ,Ô�ã�ÎÐØ,ÝeÌ�Ë�ÝeÖIÚNÝeÌÕÓhÝaØ2Ô@?>ACB 0G ADB 0G É2ÎiØ,ÜIÑ �tàúÓhß�ÓhßIÌGÝeàÐÑ,Ê!ÉFE:É,ÎÐÑ?ÌÕÚNÒ7ÉXÑ?ÌÕÜIÌÕÒ7É�ÓhÌ�Ë

Ú�Ï!ÓhßIÌ¯ÓhØ,ÍjØ?ÎÐØ?Ñ2Ï3Ø,ÔAã�ÎÐØ?ÝeÌ�Ë3ã�Ø,ÜzâJÌÕÒhÑ?ÌÕÜIã�Ì?å

¿�$



�j�
�����z���¢�j�������[�����ª�����k���
���%���U�����ª�| r���%� �[�j���%���z¨
©!�%�±���j�����j���2���������ª�������|�*�[�������[�ª�
����� �=���2�������������
�.���2�ª�A� �j�=�����������j�«�������=�2���J���j�r�j� �j�2�����[��� �����������%�z�G�«���������2�����z���k�j�r�����g�����U�j�����g���������j���j�«�j�����������%�
���j�z�5�
���j�¢���z���0���������j��������¨ 'Q�¯�J���%�2���j�����ä���%�p���,���J�r�j�X�j�±�j�������r��� �������[�j���±�ª�x�j�¢���j�z�¬�r���z�����������������(�j�2�����
���j�p�����%�z���ª§j���������[���������%�������������p�j�������L�%�� r�����X�2�%�*�����¦���j�p�������z���X���%�[�j�2�����L�j��� �������p�j���������=���ª�������
���%�.��� �a�%������¨X©!�������j�2���������������±�����������²���G�������%�����j���L 
���z�G�A��§j�z�¢���%���%�������%�p���2���J�p�j�X�j���j�������
���6�������%�
�j�
���j�z�¬�����g�������ª³0�����z�5��¡.���7 (���z�����z�������%�±�j���%�j�����z�������%�¢�������j��������¨¤©!�=�����������.�z�����ª�����%�����j�z�¬�����g�%�j�
���z°*���ª���z�¢���n�%�z����§j���r�j�5�5�������%�[���¢�������j�������r�j�Q���X���L���!¡a�j�%£5�,�%���!���±�������%�J�A�!�.���2�ª�A�G¨(�Õ�±���=���
�������������ª���
���%�L���j���!�j�������[�����ª���±�����a���ª�z�«�������!���%�L���j�z�5�r���5�z�!���j�!���z���.���%�L�j�2������¨

©!���k�j�2����������������¡.���U�j���k���%�����j���Q���%�[���z�A�3���������ä���¤���=���2�������������Q�.���2�ª�A���j��� ���������j�¯�ª�;���%�k���,���J���j�
�j���j�������k����¡0���=���%�z�C�| (�|�C�U����� ������� ���%�z�C�������������2�������[�����j�z�5���k 
�%�%�X���������,���ª�z�����j�!���%�z�ª�k�%���²�j���ª�
���������j���j�%���j�¢���z���0���������j��������¨«©!�����«�������������z�����%�p���%�z�g�������!���J�2�z���ª�������[�����U�j�!�j�¢���j�z�¬�r�ª�5�j£A���%�j� �����������
���%�p�=�j���(¡a�%���j�����k�������%�p�²�%���%���j¨X�Õ�!�ª�5�j£A���������%�p�²�%���%���3�������%�����z�=���3�����������%�����������p�����[�����j�z�¬���
 
�%�%�
��§j�z�¤���%���%���¤���%�����=�z§j���¦¡a�j���%���²�j���ª�Q���������j�2�j�= 
�����t���z§j�������[�g�����������������%���%�J�A�Q�0���,�ª�*���j���¤�%�z���J�
�����L�j���ª�| (�z�±���¦���=�%��������£j�L�����[�p�������[�����z���j�¯�²�%���%�2�3���z���ª§j�����j¨

�����������L���*���z�e�t�3�j���������¦�������L�¢�J���z�=�ª�������[���3���*�����z�����3�J�A�j�j�z�%������¨��ë�L «������� ¡0�[�[�j���¦�����������:�A���%�
���k�z���%�j�j�z�������r�������«¡*�[�.�����������������%�L�j�±��¡=�����2�j�J���J���z���ª�(�����[�ª�«���j�z���J�n r�����2���%�������2�¦���%�z�«���%�Q�J�2�z���ª�������[�ª�
�j�!�j�
���j�z�¬���j�g���%�¦�2�z�����ª���j�r�j�C�j�������[�(�z�����ª���C�����A�J�z���%���j¨ 0 �g���%��§j����� �ª�z�j�����Æ (�n�[�����¬���J�*�.�z�J�g�������
�����A�J�z���%�2�(�����j�����ª���[�L���[�j���ª���;�J�2�z���ª�;�����¦�ª�x�����j�[���j�z�¬�« 
�%�z�71U�J�A�.�z�J���z�23Æ�ª���2�Æ�:�2��� �������Æ���j�z�5�«���Æ�=�ª���%���
�����²�%���%�2�[�.���2�ª�A����¨ �r�| (��§j���z�;�j�g�j� �J�%�j���=�ª�n���ª§j�z� ¡.�z�ª�N  �����| 
���X�J���z�������j�2�L�[�����¬���=�����:���g�%��¡����j�2�L���
���|§j�¤���j�2���%��¡��¦��§j�z�  
���z� ���%�����J�A�.�z�J�n�%��¡����j�,�[�������j�����������z� �j���z������� 1U�J�A�0�z�J���z��3[�ª���2���z�¦��� ���%�
�²�%���%���j¨�©!�����L���%�N 
�k���g�������k���%���%�j���ª���
�j�r�j�
�j�������¦�j�«�J���z�=�ª�g�����[�ª�L�����0�z�=���L���
���%���2�=���2�j�J�����2�����������
�j�����j�z�5����¨ Âp�����a���%� �J�2�z���ª�¦�����[�ª�����J�A�j�j�z�%�������j���ª�N 
�¦�=�¦���
�������������J³.�z�J���j���=�×³0���2�z�¬���J���z���ª�¦�����[�ª���
���
�z°5�=�����ª¡��,����� ���%���J�����z�z¨��Õ�
�²�%���%���n «�j��£0�;���a���j�C���������n�������������:�j�2�¦�����ª���C�������5§j�z�����ª�������±���ª³0�����z�5�
�������%�A�����j�¯�z���%�j�j�z�=�(�z���%�[�J���z�=�ª�������[�ª���z¨

0 �����%�t���¤���%�����A�%�z�e�.�Q�j���������k�����������j�z�5�������j� �=�z§j�[�����=�ª§*�������j���(���z�±�J�2�z���ª�p�����[������¨�©!�����Q�%�*�z�p�%�j�
���z�j� �������k���j�z�¬���k�ª���������%�z�ª�����2�j���������j�%���5�*�[���7�j¨ 0 �����������X���%��� �������¦���%�z���g�j�%���5�A�[�ª�7����� ���J�2�z���ª��¥
������������� �=���j�������j�*���5�����2���z���������L���ª£j���3¡=�j��£a���3¡��2�j£j���2���j�
�%�������(�j�;���������j���%�����ª�z�=�����%�Q���������ª�������ª���G¨¯´¬�����
���ª£j�k���%�����ª���������%�z�ª���j�%���5�*�¦�ª�7�¤�����±���������ª�z�[�z�¬�L���*�����z�  
�����,���j���ª�A�������z�L��¡=�j�%£*�2�%�=�Q���j�z�5�<;Ð�������J�����
�j�����%�±�����
�J���z�������j�2��¨Q�Õ� �������A�%�z� 1²�j�=�����±�j�¤�J�A���z�¬�p�������%�g�j���%���p���*���z���r�[�z�¬���ª�����z�¤��¡.�N§j� 3!�����z���
���5�����2���z�������2�ª�z�3��������¡=�����2�j�J���z� �z ��z� ¡.�z���j���������%���¤�����[�j�����=���z� ���±�=���|�����=�j���2�ª§j���j���������j�������,���(���z�
�����ª�g�������%���z�J�������L�j¨p©!�����
�j���ª�N 
�3���r���n�U�*���=�
���¤���%�g���2�j�������n�j���¤�j���ª�A�������ª���¤�j���.�z�J���r�j�«�J�����.�����ª���ª§j�
�[����£j�����z¨�'3���J�r�J�2�z���ª�������[�ª���X�U�j�«���j�z�5���(���2�r�%�������2�¦���%�z�&1²���5�����ª����§j�z�ª�j��¡*� �a���j�������j�����¬�����2�[�z�������2�ª�z�Æ�=�����%�

¿J¾



�����j���=���2���(���z� �J�,�ª�����2���¢��� �¢�=�j�2���ª§j�¦�[�j�=�%���L3p�j�=� �������������z���z�¬�k���A�����z� ���������a���j�J�j�X���%�z���n���j�z�5���k���j�
���2�j�%���j�%���¬�A�������2�ª�¦���%�2���%���¢�[����£j�����z¨

'Q�x�J���%�2���j�%�ª�����«�z�j���n�j���n�j¡*§*�ª���=�«���������3�����������n���A�%�z�0���j�n¡.�3���A���(���z�n�������=�����J�2�z���ª�������[�ª���«�����
���������0�z�=�%�z�¬�3�j�!���j�z�5����¨¢©!�������j�����������=���ª�z�3���=������� ���������2�[�������%�¢���J���z�=�ª�L�����¦�ª�3�:�j�g�j�C���j�z�5���Æ «�������
�����������z�j�������¦�j�!�ª���2�L���������0�z�=�%�z�¬�p�j�
�=�����������������L���j�z�¬���71U�U�j�g�J�A�j���a�ª�j�X «�����j� �=���n���j�j�����������¢�������43,¨
�A�������¬���ª�¢�[�j�����j�z�%���2�j�����j�t�%���.�z�������%�n�������������2�=���2�j�J�����2�����������p�j�(���j�z�5�����x «�����j���=���2���ª���ª���¤���%�����j�z�¬���
���5�����¢�U��  �����j�����z�g�j�����U�j�g���j�z�5���������z�j�2�������j���z�¯�����[���%�z�ª�L���j�j�2���������¢�ª�����p��� �%�������2�[���%�����%�z�ª�L�J�2�z���ª�
�����¦�ª��¨±©ä�¤�������������¦�j���%�������A���(�a�������ª�������j���C�J�*���z�=���ª�������j�������������*���z�e�¯�����¦���%�����j���g���z�J���ª��� �j���������
�=���.���z¨

­Q�����%�����%���%�<�a���ª���ª�����j�«�±�J���z�=�ª�p�����[�ª���0�
�U�j�2�[�j���(���������[�%�j���ª��� �������p�j� ���j�z�5�����z�����3�j�������������%¡����z�J�
���¢�±�2���z��£5¥h�0�����¬�L�j�����%�j�2�(�z�����ª���������������:�������| 
�������%�<�a���ª���ª�����j�«�j���¦�������ª¡a�����ª�ë���j�����.�j�����U�����ª���=���j�G¨L¶ä���
1�~ �K�
� ;H3�¡.�������2���J�3�j�=�¢�%���²�j���ª���2�����L���*�����z� �j���!" �¯�[�J�2�z���ª�!�����¦�ª�«�U�j�r���j�z�5�#�2¨ 0 �0�j�2���:�������g�a���j� s �Æ���
1 " �5�b~ �K�
� ;H3 � * �'(
 �.0.0 3%Vw6��ª�x�U�j�!��§j����� Y�� ���,�� 
�ª���m�i��� � ¿��

���ä���%���������d� (��Q�d�I1?� 3« 
����� ]d�$� 6 1?��( 3ba � ¼ �!�����z� ]d�$� 6 1?�%3ba-1bs �� 1?�%3  O3ba � " �F1b�
�
5 ��1�~ �K�
� ; �Ks � 3F3-�I1?�%3ba �
�j�������� 
����� 1bs �� 1?�%3  O3bao� " � 1b�
�
5 ��1�~ �K�
� ;��Ks � 3F3-�I1?�%3ba �
�r�����j�u�d�F1?�%3����!���%����§j�z�5�r��� ���� r�����2�±�J���5���j�����r�g�j��� 5 � 1�~ �K�
� ; �Ks � 3��������%�L�������=�ª�3�j�Æ�ª�����!�:����� ���j�z�¬� �
���¢��§j���2���j�������Q���¢��§j�����±�.���2���*�±�j�������������j¨
©!���L�J�����J�����Q�j�;�j���[���2���ª¡=�����ª�7���U�j�2�[�j�������z�!���%�g���%�z���������Q�j�
���j�z�5�<;Ð����¡=�����ª�ë�����g����£j�3���n����¡��«�%���.�z���=���¬�j�����%�g�j���%���(�������%���z�¬�����j�n���j�z�5��¥7���.�z���(�=�Q�J�����.���%�z�5�� 
�����2�
�����������%�z�Q�����3�%���²�j���ª�3���������j�����j��� ��� ���%�k���2���J�k�j�«���%���j�������p 
�����2�¤��� ���z�J���p�����g�,����£A���%�z���r�j�����%�[�j�2������¨
­Q�����%���.�j�����U�����ª�k�j���[���2���ª¡=�����ª�7�j�*��¡.�����������¢�j�������
���j�ª�z���U�����ª�N 
�!���¦���z���������z�ª�j¨

������� }��
	���
�� "�� 
�������
���������� �!���#"%$&"'�(
'�*),+.-/
�01�2-3
'��
4� "65s � h "%73��-��2-��8�:9�;��<
'=>
'�%$@?A�B�C�B
���0D�
�E
C9'��7/�F�:�G�>�(
H"B$I"'�(
'� 1�~H�K�7� ;H3KJ 
�=�
'�%$L�NM�
'0
� �GJ 
'=>
'�%$ 1 " � �b~ �K�
� ;�3BO �8���!� "K"%� � �P
 s � J 
�=�
'�%$Q?3
��B�C;N� �i��� � ¿IJ
"%�R�8�(
 � ��0A�S�I"B"�
�� Y/J 1bs �� 1?�%3  O3ba � 5s7�I1?� 3ba )
T {IUVU
W ¨;¶t��� 5sL¡.�����ª§j�z�[¡*� 5s �I1?�%3ba!	 X Y'Z BP[ \�] B � 
�� � ����� A ��-

^:_a`'b � � G Ç � A & ��-&c A & %�d � � A �%e �ª�a���������
��� � ( �Q�c�I1?�%3X�����,���������8]d�$� 6 1?� ( 3ba<�
¼C�j�=� 5s �I1?�%3ba�	����%� � � 
 " � 1b�
��¼-3-�41?�%3ba��j���%���� 
�����j¨ �A�%�=�0����� 1�~ �K�
� ;�3,�����!�j�=�ys �������¤�j�¦�����������¬�*�.�j���A¥
�z�����z¨ �X�×��Y � � �j�=���\� � � ¿�����¡=�ª���2���,���ª�j¨ �Õ�3�:�j�n��§j����� � (�� �c�I1?�%3,�i]^�$� 6 1?��(�3ba�	�¼C���%�z� 1bs �� 1?�%3  O3ba
�j¡*§*�ª���=���ª� ���������F�=�z�����%�
�%�z���ª�2�z� ���%�z°*���j�����7�j¨ 'Q���%���2 
�����j���ª��� 5� ���c�I1?�%3±¡.�C�2���2� �������`]d�$� 6 1 5�%3ba 	
�[�I�r� ] �$� 6 1?� (�3 a B ��(��Q� � 1?�%34��¨Æ©!�%�z�G�*�������J�ds �� 1DC 3;�j���>" � 1b�
��¼-3 � 1DC 3;�����d� � ¥7���z�j�2�%�2��¡=�ª�!�j�=�¦�����=�J�d� � 1 5�%3 	�c�I1?�%3,�� (�����z§j�

] �$� 6 1 5�%3 a 1bs �� 1?�%3  3 a 	 ] �$� 6 1 5�%3 a 1bs �� 1 5�%3  3 a � " � 1b�
��¼-3 � 1 5�%3 a 	 " � 1b�
��¼-3 � 1?�%3 a �
¿zÀ



�U�����  
�����2�����%�L���z���ª���z���J���������=���ª�����U�����ª�| r��¨
���[���j� �%�N  �z�j�2���ª���J�����=���z�%�z���� 
�����3��¡=���%�j���3�����Q�:�j�p�j�����j�z�5�Q r�����t¡.�k���ª£j�g�������=���r�[�*�%�z�h¨ 0 �

���j�z�5�<;Ð�;¡=�����j���;�����;�J�������������X�j�0�j���A�J�����2���������ª���k�j���71²�j�=�[��������¡=�ª� 3.�.�j�����U�����ª�3�=���j���¯ 
�����,�g���2�!�I³0�j�2�=��¡=�ª�j¨
�Q���k�%�z�[�j���������[�J�����2�������g�j�r�����������=���j���k��� ���%�±¡=�����j���g������ r�����2���������j�������[�j�( 
�ª���
���z���.�z�J�k���������
�������U�����z���J�g���z�����������G¨��%�j�,�[�j���ª�j�G�ª��� "]¡0�g�n�J�2�z���ª�3�����[�ª�!���*�����z� �j��� 1�~ �K�
� ;H3Q�¦���,���J���j���¤�%���²�j���ª�r�2�����
���A�����z�±¨ �%�j�!�j�±���j�z�5�����%�k�J���������[�����ª�����j�����0�j�2���:�������L�=���j� 1�O"�5�Ks � 3«��� 1�~ �K�
� ;�3 � * � $u& �'* 3%Vw6��ª�t���n��§j�����
�.���2�ª�A�`���j���C���������m�¬�P~ � 1?�%3-O"�� 1?�%3j�k� � 1?�%3Ds �� 1?� 3 � � �F1�~ �K�
� ; �Ks � 3 � 1?� 3,¨±�Õ�L���������2���J���ª���I³.�j�2����¡=���¦�ª�����%�
���%�z°*���j�����7�n���������2���J��¨�©
�%� 3)1)�0.u6%+x. 64+8"4$u&`*0.P64!U+#�(���
� � 1�~ �K�
� ;�3 	 < 1�O � �Ks � 3 � L G h �� 1�O � �Ks � 3���� 1�~ �K�
� ;H37¥7�I³0�j�2�=��¡=�ª�L�j����s � ����1 " � �b~ �K�
� ;�37¥7�j�=�[��������¡=�ª� F �

©!�%� �f64(�*'!1��. 6%+8"%$'&�*4.u64!S+-�«���
� � 1�~ �K�
� ;�3 	 < 1�O � �Ks � 3���� � 1�~ �K�
� ;H3 �� 10�O � �)�s � 3 ��� � 1�~ �K�
� ;�3 � O � � � �O � F �

�Õ�������z�j������� �����n���=����� �F1�~ �K�
� ;�3L���g�J�����=�j�J�k�ª���j���C���=�ª���ª�S~�( ¼��j���g�>� ( ¼ 1U�U�j�x�x�=� � ¿ 3 �«���
� � 1�~H�K�7� ;H3L���L�J�����a�j�J�����%�z��� � 1�~ �K�
� ;H3����L�%�j���z�����7� ���j��� �ª��� �F1�~ �K�
� ;H3������%�j�g�z�����7�������z� ~8( ¼A¨
�Õ�L�����j�����±�z�j��� ���������[���=�������%�¦�%�<�a���ª���ª��� �j���������.������¡a�ª�������J�����[���[�=���ª�z�Q�������������[¡=���%�j�������������j� ¡.�
�%���A¥7�J���5§j�J�.¨ . 6

���L���|  ���|§j�L�j���0���%���J�����.���%�z�5�������[�%�<�a�%�p�j�±�z�J���%�������j�=�±�j�±�z°5�=�����ª¡��,����� �����ª��¨ 0 �
6R2 $'!j$'(
�
�������2�z���z�¬���z�¢¡5�����������[�*�%�z�G�����[�J�����ª�z�J���ª���

<)�.�K] � 1,� � �
! � 3 �$%'& � ����";F.�
 
�%���2�M� 	 1�� � 3 � ��� 6 �����j� ���%�:�j�,�[�����ª���������2�=�J���%���j�:] 	 1b] � 3 � ��� 6 ���p�j�C�j�������L�����2���J�������j� 1,���5�
!#� 33���p���%�
�������U�����z���J���2�z�������ª�����j���k�z�����| 
���z�5�;�j�.���j�z�¬� ��� �
���Æ�j���J�A�z�������ª���G�5�j��� " ���Æ�p�J�2�z���ª�Æ�����[���¯���A�����z�±¨ 0 �
6��%15 -V� ,3)&) -15( ���±�j�¢�z�J���%���L�±�����¦�J�����ª�z�J���ª��� 1�~ �K�
� ; � 1�O � �Ks � 3 �$%'& 3« 
�%�����
1�~ �K�
� ;H3������k���,���J�p�j���¢�%���²�j���ª�
�2�����L���*�����z� �j���

	 �U�j�
�j���[�����!��§j����� � � �=� 1�O � �Ks � 3 �
� �F1�~ �K�
� ;�3,�
	 �U�j�!��§j������� �,�?� � & O �� 1?� 3
� � 	�� & !#�� 1?�%3
� � �j��� � & s �� 1?� 3
� �F	®¼A�

	 �U�j�t��§j�����cY�� �«�j�=�p��§j����� � � »*� ;3�I1?�%3ba�� �� � |���� = B � �	� 
�� �
� � B ��� � A � -�� �
�
�
? B � �	� 
�� �
� � B � � � A ��-�� � � �ª� � & 7 � 1�~H�K�7� ;��Ks � 3 � 1?�%3 a � � � ¼

� ¼ �z¿�� �ª� � & 7 � 1�~H�K�7� ;��Ks � 3-�I1?�%3ba�� �F	®¼ �
>ëÇ õ.ßNàÐÝxÜNØ?Ü/E�ã�Ø,ÜzâJÌ��|àúÓUÏ�ÒhÌ�Ê!É2àÐÜIÝtÌ�âJÌ�ÜràúÔ �.ÌÆâzàÐÌ���ÍIÖ|ÒhãëßIÉ,ÝeÌ�ÝäÉ,ÜIËrÝhÉ2ÎiÌÕÝxØ2Ô=É,ÝeÝeÌÕÓhÝxÉ,ÝtÚjÌ�ÎÐØ?ÜNÑ?àÐÜIÑ�ÓhØ�ËNà ��ÌÕÒhÌ�Ü�ÓtÝeÍ�É2ã�Ì�Ý�å

¿zº



©!�%� ���2���!�J�����=�ª���ª���±���z°*���ª�2�z���z°5�=�����ª¡��,����� �J�����������=���ª���±�j���¢�.�j�����U�����ª���a���j�������n¡0�L�j�������[�j�G�U�j�r�j���������
��§j�����S���j�z�¬��¨]©
�%�¤���z�J�����®�J�������ª���ª��� ���z°*���ª���z���[����£j�������U�j���j�5�A���±�j���S�j�����������������ª�z���|¨ ©!�%�¤�����ª�2�
�J�����������ª���¢���z°*���ª�2�z�
���%�g�z°*�������ª¡=�2����� �%���²�j���ª�
�,�����g��� �j�¤�j�������3�����z°5���j�x���%�g�2�����ª���j�;���j���j�Æ�ª�����r�����������
�j�������L���¢���j���j���%��¡=�Q�N «�z�C��� �ª���ª�«���j���j���%��¡=�Q�N «�z�C��� �ª�����p���j� �������%¨[�Õ�����j���j������¡��p�| (�z�C���������2�¢���%�
�%���²�j���ª�p�2�����n���j� ¡.�[�j�¬� �*���L¡.����¡.���ë «���z� ���������j���������j¨ .F. ©!�%�[�[�j�������z���������p��� �������3�=���.���L���2�[���%�
�U�����ª�| r���%�k�7 (�¦���%���j�2�z�[��¨

��� � U={ ��� � 	��  -+,/ +,/56�.0+K*'+K6 �=*'.0.015( Tj+, -$'!U. ��6��#6%&)�=6R2R$u!j$'(
� &767TU& 6%. 64!S+K6'� 3%� +,/� �. (g$��f64V
/5*'.�*'! 6��%15 -V� ,3)&) -15( )

'3���� ��z� ���
�=���|§j� �������n���%���j���z� ���¦¡*� �������������%�
�U�j����§j���2�k���j���S��§j�����n��� � � ¿��^� �F1?�%3,	 ¼
�j��� ;5�$� 6 1?�%3�	 ¿¤�j��� ¡5� �����������%�%�!�U�j����§j���������ds � 	 ¼A¨ ©!���z� �j���������[���2£j�����±�����¤���������z� ��� ��§j�����
�.���2�ª�A�[�������������%���[�z�����z���J�j�5 (�3���z§j�3� �a���ª���
�J�������z�J���ª���¦�j�t�2�%¡%¥h�z�J���%���[���z� 1U�z�j�,�� 
�ª�������%�Q�.���2�ª�A�[�j���tJ
�J�������=�������ª���L�j�5�A���43t 
�ª���%�����ä�j�¬���j�������X�[����£j�����Æ�J�����%�z�J�����%�
���%�z�¢¨X©
�%�«�����j�=�����2���=���5�j�%�j�=�J�A�������z���J�«�j�
�j�n�z°5�������ª¡��2����� 1²�j�(���n�j� 0 �����| !¥7½r��¡=���z�¦�z�J�������L��3«�j�����L�����| 
�«�����������=���;�z�J���%�����¦���j�(�j�[�z°*�������ª¡��2���=�±¨
�r�| (��§j���z�������,�n�j�n�z°5�=�����ª¡��,����� �������,�ª§*���j�e¨O�%�j�,�[�j���ª�j�A�j�¦�z°*�������ª¡��2���=� 1�~H�K�7� ; � 1�O"�4�Ks � 3 �$% & 3;���¦�j�n�z�J�������L�
���r+,&) ��p -*'VÆ�ª�G�U�j�(��§j�����I�3�j������§j�����;�8��� � ¿��A�z�ª���%���i�>�I1?� 3 	 ¼L�j��;3�$� 6 1?� 3 	 ¿�¨;©!�%�
�=���5�j�G�j�ä�J�A�������z���J�
�j�Æ�j�±�z°*�������ª¡=�2����� ���=���!�«�=���z���z�5�
�������������a���0���r�j�����[�j���ª�N 
�!���p���¦�����|§j�L���%���U�����ª�| r���%�k���%���j���z�±¨

��� � U={ ���	� 	�
 �#6%&)��6R2 $'!j$'(
�` �! � /f D2 /I"%$'&m.0$'(�6_Y � � �,��� �>�I1?�%3�� ���%� � !#�� 1?�%3_*'!1�Q]^�I1?� 3ba<� ¼ /�*'.
*�!j$'! � +,&) ��4 D*'Vc6 �415 �Vw 3%&) �13( )

Ã(���:�j�2���j�����%�[���������%���±�����2�5�j�¯�j�x�����z�������%���j���z�¦�
�ª���!���
�ª�5�j£����
�����[�� «�z���U�����p�J³.�z�J���r�j�x¡=�j��£5�2�������J�j¨


 � ��� 
 � � �������A����� ��
�� �6����� ��� �����

��� �������3���z�J���ª���G�x�������%�n�J�A�j�[�=�ª�z�3�j�(�z�J���%���[�ª�z�p�2�������z���z�5���z� ¡5�¤�L� ���A�%�z�e�. (�[�����j���¯�����[�������� (�z�ª�²�����
�J³.�z�J���r�j��¡=�j�%£*�2�%�����J�j¨ 0 �
�!���|§j�g�[�z�¬���ª�����z�����¢���%�g���¬�����A�����J�������±�j�Æ�������
�=���.���z�����%�z���g (�z�ª�U���2�L�J³.�z�J���
������ (�z���×¥h£A�%�N 
�±���±���%���ª�����j�t�j���±�z�J�������[�����
���ª�����2�����%���j¨��Õ�±�����p�j�z�%���2�j�t�z°*�������ª¡��2���=� �U�2�j���� (�j��£a�a�[�j�¬�
 (�z�ª�U���2���J³0�z�J���L�j�(�%���²�j���ª�����2�[�j�ª���z�j�%�����ª§j�z� ����½3�%¡.���j�¯ÄQ�z�j�=��£j�j�=�ª�����X�j��� �A�*�%¡=�ª£ 1�¿����+5�3,¨ 1 �*�����[�j�
���%�z���n�����¦�j���������ª§j�z�C��� �%�5�%¡a�ª£��j��� �S��������� 1�¿��+5�5�3,� �.�j���91�¿�����$+3,�Æ½3�%¡.���j�XÄ3�z�j����£j�j�=�ª�����Æ�j��� �.�j���
1�¿����+5�3��j��� 0 �,�j� ��� �j��� �X�j���J��� 1�¿������+3,¨ 3 'Q�k�J���%�2���j�3¡.�z���j����� ½3�%¡.���j�LÄQ�z�j����£j�j�a�ª�����L�j��� �%�5�%¡a�ª£
1�¿����+5�3L���%¡=���=���[�����.�j�����j�5���������������%���ª�����j�X�%�����j���������5�������%�j¡=������§I��¡a�ª�z�p���ª£j�[�%�������ª�7���.�z���j�ª���ª�z���x���%�������j�
> > È�Ó.àÐÝGã�ÎÐÌ�É�Ò.Óhß�É�ÓGàúÔ5ÓhØ2Ó7É,Î�ËNÌÕÚNÓ.Ø �0Ì�Ë
Ø,ÜQÉ2Ü�Ï!É,ÝeÝeÌÕÓtàÐÜ
É,Ü�Ï�ÍjÌëÒhàiØzË��ÕèzÝ²Ó7É�ÓhÌ��¯àÐÝ ?�ÌëÒhØ(É2Ü�Ë�ÓhßIÌäÊ!É2ÒhæJÌÕÓ=Ô×Ø2ÒGÓhß�É�ÓGÉ,ÝeÝeÌëÓtã�ÎÐÌ�É2ÒhÝ

ÓhßIÌÕÜrÓhßIÌ¯â?É2ÎiÖNÌÆØ,Ô�� � ù���ý - àÐÝtàúÒeÒhÌ�ÎÐÌ�â?É2Ü�Ó�å
¿ 5



���5§j�z�����ª�����������%�z�j�g���ª£j�¦�����U�j�������.�z���j�ª���ª�z�L�����ª�������������z�J���ª���j�=� ���j�����j�����|�C�j�¬�*������������¡.���%�����%���J³.�z�J���
�j�Q�J�*�z���=���ª�������j�����J���z�=�ª�������[�ª���������j� ���j�z�5�<;Ð�[���2�j�=���%� �z�¬§A�ª�����=���z�¬��¨
�����L�
���*���z�e�;���z�j�������������j���
�j¡=�����2§I��¡=���
�.�z���j�ª���ª�z���:�j���%���²�j���ª�(�����Q�J�*�=�������ª���ª�k¡=�����ª�;���5���g�j�����j�z�5�<;Ð�����2�j���������z�¬§A�ª�����=���z�¬��¨;©
�5���z�5�ª�����
�������²���.���[£A�%�N  �������!���%�z���� «�z���U�����p�J³.�z�J���Q���j���j������¡.�������z�������z�J���%���[�ª�z�
���������z���z�¬���z�±¡*�±�L�����A�%�z�e¨

���������j���j���������%�z���« «�z���U�������J³0�z�J���¯¡*�3�J���=�����%���2���%���7 (�
�J�%�j���=�ª�z�z�N�z�j�,���j�A 
�=���2�����j�ä����§j���,�j��§j���2����������¨
�����������Æ���z�J�������G�¬���L���j�������ª�����j���ª�k�����������%�������2�L�j�[�z°*�������ª¡��2���=� ���[���g�[�*�%�z���:�����]�j���z°5�=�����ª¡��,����� ���k�j���%���
���A�%�z�����A�������j���.�2���:���!���n�j�¢�z°*�������ª¡=�2����� ���±�L�±���A�%�z�G�j�
��Ã��j�%£*�2�%�=���J�n�z°*��������¡��2�����¢¨

���¤���%�����2���Q�J�A�j�[�=�ª�j�. «�����=�j���x�������������p�j�¤�j�2�������[����£j���3 
�����2� ���3�����z�ª�z�2�r���¤���%�¦Ä3µ��
���A�%�z�X���j�
¡.�z�J�����p�������²���a 
�%�z�� «�p�j�����| ®�:�j��¡a�j�%£5�,�%�����J�j�*����������§j�����¦�z°*�������ª¡��2���=� �������%�pÃ(�j��£5�2�������J�¦���A�%�z�.���j�
¡.�������ª�z�j�����j�p�j�*�*���j�����%���z°5�=�����ª¡��,����� ���¤���%�nÄpµ;�r�[�*�%�z�Æ�j�=� ���������±Ã��j�%£5�,�%�����J���z°*�������ª¡��2���=� ���j�
�=�����������%���[���������g�±Ä3µ��!�z°5�=�����ª¡��,�����±¨����������j���x�j�������������������J³.�z�J���3�j�����×³.�����z�5�r�ª��§j�z���r�j���J�*�z���=���ª�����
��� �z°*�������ª¡=�2����� ���%���J�����z�z¨L�Õ�;�J�*�z�[�����ª�����3�����k���*���������j�k���%���������3�%���0���2���ª¡=�����ª�7���j�«�%��¡=�r���z�J�N§j�������j���
�%�z���J���%�����2�j�%�����������L�j��������¨

©!�������¬���������ª���L�U�j�Æ���%�z�������z�2���ª���X���¯�������;�3�J���z���ª���j�;���x r�����������!�����ª�z���g�����%���g���p�p�%��¡����j�;�ª������������¡����j�
�����=�|�*�Æ�=���X�%��¡��Æ���g���%�����������!���g 
�����2�g���%���J���z���ª���j�;���ª£j�z�¯�����J��������������§j�z���������%���k�%�����X¡=�j�%£*�2�%���¯���g���%�
�j���%���
���������j¨ 0 �����%���%���²�j���ª���2�����z�!�,���j�%�j�������p�������%�2�����¢�j�¢�j�2�����������������,���j�%�j�z�!�������j�������
���a�j�±�j���±���j�
�[��£j�[�����¦�j�������L�[�j���[�������²���e¨�©!�%���2���:�j���j�x���%�[���������ª���%���ª���¤�j��¡=�j�%£*�2�%�����J�¤�j���ª�N 
�p���j�z�¬�������¢�J³.�z�J���ª§j�z�ª�
�J���z�����g�[�%��  �j�������!�������
���j�¢���z�j�±���¦���=���2�����¦�������2�|§A���%�k�z°5�=�����ª¡��,�����±¨

�������%�����z�J���=���J�A�j�[�=�ª�j�� (�����=�j���������¢�������[���a��������� �j�������¦�j��Ã(�j��£5�2�������J�C�z°*��������¡��2���������������%�����
�=�����������%���¦���������z�����%�p������°5�%�r�z°5�=�����ª¡��,����� ���n���%�p�J�j�����z���.�����=���%�kÄpµ;�;�z�J���%�����±�j�������j���%�j��¡.�r�a���������
�%���[���������z� ¡*�����%���=����°*�%�±�z°5�=�����ª¡��,����� ��� ���%�¤�J�j�����z���.�����=���%� 0 �����| !¥7½r��¡=���z� �z�J�������L�j¨ ©!�%�������U�j���j�
��§j�z�� 
���z�¤�j�2�������[����£j�����������������J�����=�������k�j�=�������nÄ3µ;�r�z°5�������ª¡��2����� ���3�������������ª���=���2�����¢���%� � ���ª�z�5���t�
Ã��j�%£*�2�%�����J�p�z°*��������¡��2�����®���j�g���z���=�ª�ä�����j��� � ���ª�z�¬�X�[����£j���¯���%���J�����j¨ ���������j���¬�j�����Q�������������X�j�����=�J���z�j���
�������%���J���z���ª�¦�����[�ª�g�j�p� �%��¡����j�������J���z�j���z�[���%�¢�z°*�������ª¡=�2����� ���2�j�%����� ���%���j���������j�������%���z°5�������ª¡��2�����
�%�������ª�7�±�j�;�����k�J�2�z���ª���j�Q��§j�z� ���%���%���G�G���¤�������������������j�;�����g (�j�2���t�a���%�k�J���z�������j�Q�J�A�.�z�J���3���%�k�%��¡����j�3���
¡.��¡=�j�%£*�2�%���p�j���C���j�����¦����� �j���z�������g���������z��¨[©!���������:�j�2�j�x�J���z�������j�2���[�ª���5�p ��j�¬�������[��£j�n���p�z�j���ª�����U�j�
� �%��¡����j����������£j�¢�����[�j���±�%��¡��k��§j�z�� 
�%�z�
���%��� �J�*�.�z�J�����%�±�%��¡=���j������¡0�z�J���[��¡a�j�%£5�,�%���k�����������
�����������j�;������ (�j�2���G¨ ���[�����j���ä�j�����±�����g�������3���%���j���ª�A�������ª���¤���¤��Ã��j�%£*�2�%�=���J�±�z°5�������ª¡��2����� ���r���%�����j���
�j�����n���%�
1²������°*�%� 3;�z°5�=�����ª¡��,����� ���n���%�p�J�j�����z���.�����=���%� 0 �����N �¥7½Q��¡����z���z�J���%�����j¨�©!���������:�j�2�j�%��§j�z�� 
�%�z�
�j�������r�[����£j�����Q�����L�����J���[�=�ª�����p�j���±���%�kÄ3µ;�(�z°5�=�����ª¡��,�����]�������������%���ª���=���������n���%� � ���ª�z�5�����[Ã��j�%£*�2�%�����J�
�z°*�������ª¡=�2����� ���j���N§j���2�J�����L�[���2£j���������J�����=�ª�����z���z�����j�����j�2���ª��§j�p�����3�2�j���p�j���ª�A�������ª�����j�����¦����� 0 �����N �¥
½Q��¡����z���z°5�=�����ª¡��,�����±¨ �X�����j���ª�j�I (�«�����j���¬�j�����Q�����(�������¯�r�%�z�J���z�j�������L�J�*�z�[�����ª���L�����J���z�j���z�x���%�(�z°5�������ª¡��2�����

¿zÁ



�%�������ª�7�g�j�t���%�Q�J���z���ª���j���j���¦���z�J���z�j���z�(���%�
�z°*�������ª¡��2���=� ���������ª�ë���j�G���%�Q�%��¡����j�z¨;©
�%�������U�j���j�*�J�2�z���ª���j�2�� (�j�5�
���¦�ª�j¡=¡5�����%���ª�������2�������%���3�U�j�
�ª�| (���
�J�A�z�������������!�j���¢����¡����j�2�� ��j�¬�
���[�j���.�����������,�¢�[���z�j�2�%���j¨

©!�������¬���=�ª���ª�����:�j�
���%�z�������z�2���ª���������������r�ª�ä���%���%��¡����j�
���j�!�z�%���%���±���z�����%�2�J�z�����[�2���=�z�±����������¡��!���±�
���������k���¢ r�����2�¢���%�g�J�2�z���ª���j�r���ª£j�z�!�����J���������[�����%�z�����%���J���z�=�ª���j�r���
¡.���������r��³ ���x���%�g�%��¡����j�3���
�j���ª�| (�z�
��������£j�L���±�[�j�����%��¡���¨�©
�������%�A���j�[���r¡.�z�J�����z�!���j���p¡.�z�%�<�a�����j�0�:�j�����%���J�2�z���ª���j�! 
���z�n�����p�J�*�z���=���ª���
���n���������������������(�ª�N  ���k�����������%�p�J���z���ª���j�����j�����z�J�N§j���
���j���3�j�x�=�����=�����[�����z�n�=�|�*���z�5���:�2��� �����3����¡����j�z¨

�������%�p�%�J�*������¡=���z�J���ª���G�*���=���z���z�5�(�����3�������j�����«�j�ä���%�����2���«�J�%�j���=�ª�j¨Æ�������%�p���%¡=���z�J���ª�������:���������������%�
�����z���z�¬�����%���%�����j�������j�X���%�����z�J���=�¢�J�%�j���=�ª�j¨

����� ���	��

���������������
���¢�������
�J�A�j�[�=�ª�L (���2���j���t�����g�������Q�ª�X���%���%�z�������ª���A¥7�[��£A���%�¦�z�¬§A�ª�������[�z�¬�!�j�Æ�����g���j�z�5���3���!�j�N§j���2�%�z�¤¡5�
���%��Ä3µ;�!���A�%�z�e�a���%�g�����ª���.�������ª¡=���p�z°5�������ª¡��2����� ���������ª���ª�z�
�����L���%������ 
�=���2�����j�z�¬���Q�j���3�:�2��� �J�������=�[���%�
���%�z�ª�p�z�=�%�| 
�[�z�¬����¨n©!�%�������U�j���j�ä��� ���=���p�z�5§*�ª�2�������z�5���ä�[����£j������������§j�¦�%�¢�=�����U�=�X�=�%���.�����j¨ �
�N «��§j���|�X���
���%�p�%�z�����2�ª���A¥7�[��£A���%���z�¬§A�ª�������[�z�¬�����(�j�|§j���,�%�z�±¡*�¦���%�pÃ��j�%£*�2�%�����J�����*���z�a�����z�G�%������§j�����nÃ��j�%£*�2�%�����J�
�z°*�������ª¡=�2�����±�5�%�������ª�����z�(���2�L���
�ª�z�j���r�j�
���ª���±�j�!���%�����L���¢���%��Ä3µ;�����A�%�z�e¨ 0 �����%�%���������L�������ë «�n�z°5�=�����ª¡��,���
���������rÃ��j�%£*�2�%�����J�k���A�%�z�e�¬�z�j�,�¦�j�G r�����2�[�=���������������[���������z�����%�!�z°*�������ª¡=�2����� �������%�3Ä3µ;�Æ���A�%�z�=�j�=�[���
�z�j�2���j�. 
�����2�����%���2�r���Æ���,�j�%�r���[���%�r�j�������«�j���¦���%�
�%��¡����j�(�������j�«�%�z�J�z���2���2���ª�k�J���z���ª�«�J���������2�j�����z� �¬�������(���
�%�Q�[�ª���5���2�%�*�����3�%�j�������J�A�=�j�����«�=���;�J���z�����������[���Æ�U�����ª�j¨ 1U���[�²�j�J���A���%�z���Q�����
���%�r�����ª�k�z°*�������ª¡=�2���Q���� 
�����2�
���%�����g�������2�j�������±�������j��������¨ 3±©!�%�������U�j���j�= r�ª���±���%�g�j�����ª���ª���=�j�G���������ª�������ª�����j�Æ¡=�j�%£*�2�%�����J�j�a�[����£j�����3���j�
¡.�z�J�����[�������²���¯�j�������j���ª�z�j� ���±¡.���������p���%���J�����z�z¨ �X�����j���ª�j�. «�[���=�j���x���������%���J³0�z�J�p�j�����×³.�����z�5�Q����§j�z���
�j�;�J�A�z�������ª���¤���¤�z°*�������ª¡=�2����� ���%���J�����z�z¨p�ë�Æ�J�A�z�������ª���=�Q���2�����*�±�������j�g���%�����k���3�%�n�.�����2�ª¡=�������7�¦�j�«�%��¡��
���z�J�N§j�����¢�j���¢�%�z�=�J���%�[���2�j�%���������%�L�j��������¨

¹(���=�����%���Q�j���J�%�2���j���j�g�z�J�������L�¤���¢ 
�=���2�����%�����g�������ë «�������[�L�.���2�ª�A�����=�����%�J�A�z�C¿g�j���¤»n�j�����7 (�
���������z�p�j�����%�k «�j�2���G�G�����%�J�A�z� ¿k�j��� »*¨L©!�������g���Q���������:�j�2�¦�����ª���������.���2�ª�A�C¿k�j���¤�²�����x���%�U�j�2�[�����ª���¤���
�.���2�ª�A�L»*¨X©!�%���������t���%���J���������[�����ª���p�j�*�*�g���p�.���2���*�[¿«�j���g���p�z�j�2�k���������������0���,�ª�*��»*¨¯©!�����J���������[�����ª���
���=�j�J������� :� ¨ 0 �C�z�ª�z���z�5�_O"	#1�O 6 �,O . 1�¿ 3&�,O . 1e»+3F3��������%�n�J���=�������������������=�j�J�n���L�¢�J�����2���������ª��� �=���j�
 
�����2�±�z�5���j�����!�J���=���������������±�j�UO 6 ���=�ª�����j�Æ���%�L�J�����2���������ª���¢�j�5�A�¢���±�.���2���*��¿��j��� O . 1?�%3����=�ª�����j�Æ���%�
�J�������=�������ª�����j�*�A� ���C���������m� 1?� 	 ¿��2»+3L��� �.���2���*� »*¨¢©!�������¦���L���%�¦�j���������Æ����§j�z� ¡*�
] 	�� 66�� ¨±©!�%�
�.�j�����U�����ª�L���a�j�J�Q��� �k¨ 0 �n�z�ª�z���z�5��sg�j�G���%�Q�.�j�����U�����ª�L���a�j�J�Q���«�L�.�j�����U�����ª�L�=���j�[ r�����2�¦�z�¬���j�����«�����������%�p�j�
sk�����ª���;�j�t���%�r�j�2������¨ �;�,���J�z�«���[�.���2�ª�A�¢¿Q�����
���ª§j�z��¡*�&1�~ 6 �K�+3Æ r�%�����j~ 6 ���;�����r���,���J�!�j�t���%�Q�J���������[�����ª���
�j�*�*�¤�j���������%�L�=�2���J�L�j�Æ�����g�j��������¨r©!�%�����2���J�L�j�;���%���J���=���������������¢�j�*�*�¤���L¿g�����z�j�2�����������k���¢�.���2���*�

¿��



»*¨�©!���������������ë «�¦���j�z�5�����.�����%�J�A�z� ¿��j����»*¨«©!�%�p�������U�����z���J���j�=�±�z���%�N 
���z�5�!�j�x�z�j�,�����j�z�5�r���

� 6 	kO 6 ��O . 1�¿ 33�S¿�¼j¼0O . 1e»+3&� ! 6 	 1�¿��z¿�¼ �z¿ 3&�
� . 	kO 6 �®¿�¼j¼0O . 1�¿ 33��O . 1e»+3&� !�..	 1�¿��z¿��z¿�¼-3&�

���[���%�pÄ3µ;�;���A�%�z�e� . :
�ª�.���2���J�z�«����� 1�~ 6 �K�+3Æ 
�ª����~ 6 � ¼A�5���%�Q�I³0�j�,����¡=�������7�k�J���������2�j���5���«�:�j�����j�z�¬��� � 	�¿��2»
�������
���2�����z�ª��§��j�¬�����n���������j���j���*�����������

¼ ��O � 6 	 ¿ � �~ 6 s � �j��� ¼ ��O � . 1?�%3 	 ! �. 1?�%3���s � 1?�2	�¿��2»+3&�

©!�%�z���¦�J���������2�j���¬�������z�j�C���=����������§j���2���0���,�ª�*���j�=�C���������j�X���%�n§I�j�������j�!�J�����������=���ª�����j����§j����� ���j�z�5�
�z°*���j���
�=���
���=�J�����j¨��Õ�����%��Ã��j�%£*�2�%�����J�¢�[�*�%�z�h�=���%���.�����p�����L�J�A�z�������ª���¤��� 1�� 1�¿ 3&� �-1e»+3F33�j�������%���J�2�z���ª�
�����¦�ª�
�U�j�p���j�z�¬� �!��� " � 1b�+3,¨��Õ�;���2���J�z�Q���2� 1�~ 6 �K��3
 
����� ~ 6 � ¼��j��� �%���U�j�=�ª�r�,�����z�p������; 	 1 ;�1�¿ 3&� ; 1e»+3F3,�
���%�L�I³.�j�2����¡a�����ª�ë�¦�J���������2�j���¬���
�:�j�
���j�z�5���-� 	�¿��2»����=���
���������z����§I�j�5�����[�������
�j���j�ª�A�����������

¼ ��O � 6 	�¿ � �~ 6 s � �j��� ¼ ��O � . 1?�%3 	®�[�I� 1�! �. 1?�%35� 1�¿ � ; 1?� 3F3Ds �� � s �  �!�[��� 1��-1?�%3&�
! �. 1?�%3F363�1?� 	�¿��2»+3&�

0 �����%���J���z�����!�����[�ª�(���z�����,���J���ª�����!�[�z�j�±�������!�U�j�!��§j�����±���j�z�5�#���Ps � � " � 1b�+3,¨
���p�������.�J�%�j���=���j�N�ª�*���j�z�¬��� ���=���t�J���������[�Æ���%�z�ª�G�z���%�N 
���z�5�����I���%�z�ª�t�%�������ª���ª�z�.������1�� 6 ����. 3 	 1�¿j¿j¿��z¿j¿j¿ 3

�j��� �ª�Æ���%�z���3���z�������ª���A¥7�¦��£*�����¦�z�5§*�ª�2�������z�5�Q���Q�%�������2�¦���%�z��¡5�����%�¦Ä3µ;�
�[�*�%�z�x���%�z���[���2£j�����p������§j���%�
�������²���=�=�%���.�����!¡.�z���j�����r���%�3������°5�%�rÄpµ;�;�z°*��������¡��2�������%�������ª���ª�z�;���2�Q�j������1�� 6 ��� . 3 	 1�¿j¿j¿��z¿j¿j¿ 3,¨ ���p���j�
�2���z��£¦�U�j�����%��Ä3µ;�Æ�z°*��������¡��2�������j�(�U�����ª�| r��¨Æ­r�����%�L���%�3�I³.�j�2����¡=�����ª�7���J���������,�j���¬���(�U�j�«�z�j�,�±���j�z�¬���% (�p���j�
���J¥h !�,�ª���������k���������ª�ë�¢�j���z�j�,� ���j�z�¬���j��� 6 	 ¿ � 
� Ç s 6 � ¿�¼��ys 6 � ¿�¼j¼�1�¿d� s 6 3!	�¿j¿j¿c� 1�¿�¼%¿ � 
� Ç 3Ds 6
���¤������� ���äÇ�F� Ç � ¼�� ~ 6 � 66�� . �j�=��� . 	 ¿j¿j¿^� 1�¿�¼%¿ � 
� Ç 3Ds . ����������� ��� >��� > � ¼�� ~ 6 � 66�� . ¨¤©!�����
�%�z�ª�a�p�����%�������2�¦���%�����%���j�������[�j�Æ�.�j�����U�����ª�±�2�%�����J�[�j���z�j�2�
���j�z�¬��¨��ë�:~ 6 � 66�� . �ä���%�¦�j�������[�j�X�.�j�����U�����ª�
�2�������J�¦�j���z�j�,�
���j�z�5�k����s 6 	 s . 	 � ¿�¨±�Õ�S~ 6 � 66�� . �X���%�[�j�������[�j�;�.�j�����U�����ª�¢�,�%�����J�¦�j���z�j�,�����j�z�¬�k���
s 6 	 s+. 	 � Ç
 ¨L�ë��~ 6 	 66�� . �G���%�k�j�������[�j�ä�.�j�����U�����ª���2�������J�k�j���z�j�2�C���j�z�¬�L���rs 6 �Ks-. ��� � ¿�� 66��?6 �h¨L·r�j�����J�
�������g�ª�����%�n�j���������[����£j���k���p��� ���ª�z���k�ª�L�g������¡.�[���=���c~ 6 	 66�� . ¨±©!�%�������U�j���j�¯���%�n���=��°5�����z°5�������ª¡��2�����
���2���J�z�¯���������rÄ3µ;�¯���*���z�*���2� 1�~ 6 �K��3�	 1 66�� . � 6��?66�� . 3,¨ �%�j� � � � � 66��?6 � 66��?6 �h�����%���J�j���2�z���.���������%�Q�J���������[�����ª���
�j���±�.�j�����U�����ª���a���j���:�j�Q���j�z�¬�g¿���������§j�z�¢¡*�tO 6 	 1�¿ � ¿�¼%¿ �
�z¿�¼���� �z¿8�"�+3&�^s 6 	 ���j���¢�������
�U�j�
���j�z�5�
»k�������ª§j�z�¢¡5�tO . 	 1�¿ � ¿�¼%¿ � �z¿ � � �z¿�¼ � �-3&�cs . 	 � �A¨;©!�%�p���=��°5���r�z°*��������¡��2�����]�%�������ª�����z�«�����p����§j�z�±¡5�
1�� 6 ��� . 3 	 1�¿j¿j¿��z¿j¿j¿ 3r�j���¢�������=�������ª�������������G���[����£j�����r������§j�L�%�[�=�����U�=�.�=�%���.�����j¨

·r�j�����J���������¢��� ���������J�%�j���=�ª�j�r��§j�����®Ã(�j��£5�2�������J� �z°*��������¡��2����� �������±�ª�z�j���¢�j���j�5�A� �j�����%�CÄ3µ;�
�z°*�������ª¡=�2�����±¨Q©!�����Q���Q¡.�z���j�����g�:�j�p�z�j�,� ���j�z�5���ä���%���J�������=�������ª���¤�j��� �.�j�����U�����ª�¦�a���j� �J���������������%�¦�j�(�����
> J�ìNØ,ÒxËNÌÕÓ7É2àÐÎiÝäØ,Ô*ÓhßIÌ;ðXí�È.Ê�ØzËNÌÕÎ�èNÝeÌ�ÌXÓhßNÌXÚjØ�Ø?æ
Ú�Ï3ô3É2Ñ?àÐÎÐÎ%É,ÜIË��¯ÖNàiÜ ?�àÐàaù²û�ü?ü4BJýëå

»�¼



�z���%�N 
���z�5�Q�j�=���%�n���2�j�%�k���¢�����g�j�������Q���r�j�ª ��z�A�Q�������%�g���j�z�¬�<;Ð�3¡a���%�j���r������¨�1²©!�=���
���Q���������0�z�=�%�z�¬���j�
�J�A�z�������ª�������j���[�J���z�����;�����[�ª���z¨ 3p©!�%���2���:�j���j�*���k�z�j�2�n¡=�j�%£*�2�%�=���J�L�z°*�������ª¡=�2�����±� � 6 � ¿j¿j¿r�j��� ��. � ¿j¿j¿�¨

0 �����%�g���%�
�:�������| 
����� Ã��j�%£*�2�%�����J� �z°*�������ª¡��2���=� �a��������� �%���[���������z�¤���%� Ä3µ��¢�z°5�=�����ª¡��,����� �j��� ���
�������n�z°*�������ª¡=�2����� ���%����� ���n���2�j�%� ��� ���%�¤�j�2�����±�j��� �����¤�%��¡=���j�����n�%�j���J���z�����n�J���������,�j���%�z�G¨ �A�%���.�����
1��-1�¿ 3&� � 1e»+3F3 	 1�¿��z¿ 3!�j�=� " 6 1b�+3 	 " . 1b�+3 	 Á0�*¨�©
�%�z�

1�~ 6 �K�+3 	 1 ¿» �
¿
» 3&� ;=	 1²¼ �z¿ 3&� O 6 	 1e»
�I�
�z¿ 3&��s 6 	 � ¿�� O . 	 1²¼ �2»
�z¿�¼-3&��s . 	�¿

���Q�j���z°*�������ª¡��2���=�  r�ª�������������ª���ª�z� 1�� 6 ��� . 3�	 1�¿j¿j¿��2»A¿�¼-3,¨L©x���2�%�z�2£��������Q�������Q���r�j���z°*�������ª¡��2���=�±�%�%�j�����J�
�������Q�j���t�[����£j�����Q�����L�����z���2���%�%�������L�%���²�j���ª�!�2�����g���j�������������������!�����L�J�j�2���z�J�Q�j�=�±�:�j�r�z�j�2�¤���j�z�¬���G�������=���j�
���!���¢������¡a���%�j���
������¨�©!�%�L�����ª���������%�[�ª���U�!�����J���=���2� ���!�������
���j�z�5���3�����L�j�=�����[�(�z�����%¨�¶t���
�=�6���2���!�ª�5�j£
�������%�p�=���j�n�U�j�!���j�z�5�L¿�¨��A�%¡=�����ª���%�����%�����%�p§��j���%�Q�j�S�g�������%���J���z�����(�����[�ª���U�j�
���j�z�5��¿p���%�N 
������������§j�����
�j���[�������ª¡=���L�.�j�����U�����ª�%�5s 6 �ä�g�������2���������U�\s 6 � ¾%¨[©!�%���I³0�j�,����¡=�������7���J���=�����2�j���5���p 
�����2�����������z����§I�j�5�p���
���������j�=�j�ª�*�2���������

¼M��O 66 	 ¿ � s 6 � ¼ �yO 6. 1�¿ 3 	�¿�¼r��s 6 1²�������J��s 6 ��¾ 3 �j��� ¼ ��O 6. 1e»+3�	�¿��

 
�%�z�=�J�j� � 6 	 ¿ � s 6 � s 6 � ¿�¼;� ¿�¼j¼�1�¿ 3=	 ¿j¿j¿ 1²�ª�����z���0�z�J����§j���j�L�,�%�����J� �j�_s 6 3,¨ ©!���������:�j�2�j�!���%�
���ª§j�z���a���j� ���3�j�������[�j�X��� �����g¡a���%�j���������p�U�j�����j�z�¬��¿�¨"�A���[�������2�ª�j�=�����[�j���j�ª�A�����Q�:�j�����j�z�¬��»�����§j�z����� . �
� .�	 ¿ � s+.i� ¿�¼j¼�1²�[�I�O1�¿E��s+.��z¿ 3F3S� ¿�¼ � s+. ¨r�Õ�es+.x� ¼A�.���%�z� � .�	 ¿ � s+.8� ¿�¼j¼ � ¿�¼r� s+.�	 ¿j¿j¿
1²�ª���2�z���.�z�J���ª§j�!�j�5s+.�3,¨Æ�Õ�fs-. � ¼A�5�����z� ��.�	 ¿ � s+.f�C¿�¼j¼�1�¿��\s+. 3p� ¿�¼?	�¿j¿j¿f� ���0s+.r 
�%�z�=�J�!���%�
�j�=�����[�j�
�2�������J�k�j� s+.g����¿k�j��� � .?	�»A¿�¼A¨ ���[�J���=�������%���������3���%������§j�z���a���j�����
�j�������[�j�X���¢���%�k¡=�=�%�j���r�����3�U�j�
���j�z�5�Q»*¨

�®�ª��� ���%�����j���k�J�A�z�������ª��� �j�����J�2�z���ª�3�����[�ª���Q�j��� �������%�n�����k�2�j���������������z�5�p�j����¡.�|§j�j�ä�ª�3���Q�z�j���
���¦�,�%�z��£±�������

1�~ 6 �K�+3 	 1 ¿» �
¿
» 3&� ;=	 1�¿���¼-3&� O 6 	 1²¼ �z¿�¼ �2»+3&��s 6 	�¿�� O . 	 1e»
�z¿��I�+3&��s . 	 � ¿

���X�j�����3�3Ã��j�%£5�,�%�����J�L�z°*�������ª¡��2���=�®�������X�=���������p�%���[���=�����z�x�����!Äpµ;�ä�z°*�������ª¡��2���=� �j���k���L���=���¯�z°5�������ª¡��2�����
�j���������������L�������2�j���L�������%�L�j�2�����
�j���±�������%��¡����j�
���
�%�j�!�J���z���ª�!�J���=�����2�j���%�z�t¨

�®�ª���¢�����L���j�����J�A�z�����������¢�j�����J�2�z���ª�!�����¦�ª�����A���%�z���L���2�L���%�����=�ª��Ã��j�%£*�2�%�=���J�n�z°*��������¡��2���g���� 
�����2�
���%�����p���«���2�j�%�p���n���%�3�j��������¨��������j�������3�������«�j���U�����ª�N 
��¨A�A�%���.�����r���%�����3�����j���z°5�������ª¡��2�����  
�ª���_~ 6 � 6

.
�j��� s 6 �	®¼A¨�'3�%���.��������¡=�����ª�ë�����Æ�������«���j�z�¬�3¿!���z�����X���%�
�j��������¨Æ�Õ�fs 6 � ¼p���%�z�t�¬¡.�z���j����� � Áx�ys 6 �¬ (�
���|§j�
> � Ô Ø,Ò¯ÍjØ,ÒeÓeÔ×Ø,ÎÐàiØ
É,ËNÊ�àÐÝeÝeàÐÚIàÐÎÐàÐÓ:Ï�è��<>� 5D%NåGõ.ßNÌ�É���Ø,Ò7ËNÉ,ÚNàiÎÐàúÓUÏQã�Ø?ÜNÝ²ÓeÒ7É,àÐÜ�ÓhÝ¯É�ÒhÌ � 5 ' > Ç 1 û����<> ù�8��<>C5�û�ýëè � 5 ' >> ù²û�ý 1

Ê!É ��ù²û��	�<> / û�ýëè�É2Ü�Ë � 5 ' >> ù�ÿ?ý 1 û �
���<>� ùªÝeàÐÜNã�Ì��<>� 5 %�ýëå
»A¿



� 6 	 ¿ � 
� Ç s 6 � �[�I� 1�¿�¼ �ys 6 �z¿ 3:� ¿�¼j¼ 	 ¿j¿j¿i� 1�¿ � 
� Ç 3Ds 6 ���n������� ��� Ç��� Ç � ¼ � ~ 6 � 6
.
¨Q©!�%�������U�j���j�

���%���j�=�����[�j�G�.�j�����U�����ª�[�,�%�����J�L�U�j�
���j�z�5�g¿L���cs 6 	 � Á0�*¨ 0 �����%� � Á �ns 6 � ¼¦�����=�����z�«���=���
���%�L���������U�����
���j�z�5�����%�[�������������¦���%�[�������������j�=����� ���������¦�ë «������s 6 ���±�������p���%�[�����U�j�����Q�,�����¦��� ; 	 1²¼ �z¿ 3,¨ 0 �����%�
�j�������k�[����£j���g���ª�z���2�����������=���ª�z�3������� s . �]¼������������ � . 	 ¿ � 
� Ç s . � ¿�¼j¼�1�¿r�ks . 3U� ¿�¼ �j��� �%�z���J�
��� >��� > � ¼ �}~ 6 � 66��?6 ¨��Õ�:~ 6 � 66��?6 ���%�z� �%���.���������ª§j���.�j�����:�����ª�¢�2�%�����J�n���L�j�������[�j�Æ�U�j�����j�z�5��»± 
�����2�
�J���5���2�j�����J��� s . � ¼A¨
�Õ�f~ 6 	 66��?6 ���%�z�¤���j�z�¬��¿g���z�����QÁ0�*	 � �4�6��?6 �����������j�;���%�k�j�������Q¡=�%�Q���j�z�¬��»[���j�¤¡=���
���L������� 66��4� �����ª���Q�j�(���%�¦�j��������¨[©!�����3�J���5���2�j�����J�����j�������L�[���2£j���L���ª�z���2�����%¨g�Õ� 66��?6 �n~ 6 � 6

. �����z�����%�
�j�������¦�j�.�0�j�2���:�������k�,�%�����J���:�j�
���j�z�5�Q»[���Es+..	 � Ç
 	 6  

 ¨ 0 �������r�[����£j���r�����z���2���%�[���[�=���ª�z�«�������!���%�L���2���J�
�j�0���%�
�j�������«�������;�����������U� � Á0� 	 6  

 ¨Æ©!���������ª�g�0���2�ª���ª§j�����*�j�Æ�j�0���=���Æ°5�=�j�%�2�����������j��	  6 � � :F:6 � �

¼ �i»��+5
����������� ~ 6 � 6

. �«���J���5���2�j�����J���ª���t¨ ©!�%���2���:�j���j�(�ª�����j���%�j��¡.��������� s 6 � ¼A¨�©!�%���j���%���[�.�����2�ª¡=�������7�����
�����������j�z�5�[¿g¡=�%�A�r�����k�j�2������¨��Õ� s 6 � ¼����%�z���j���������¦����£j�������ª�z���2���������[�=���ª�z�
��������s . � ¼A¨�­Q�����%�����%�
���j���3���������[�z�¬���j����¡0�N§j�3 «�3���j�������r���=���«�����������(�����.��������¡=�ª�j¨ä©!���������:�j�2�j�*���������r���(�%���z°5�������ª¡��2�����  
�ª���
~ 6 � 6

. �j�=��s 6 �	 ¼A¨ �A�����.�����[���%�����±���k�j�
�z°*�������ª¡=�2�����  
�����Q~ 6 � 6
. �j���gs 6 �	 ¼A¨ �Õ�ds 6 ��¼¤���%�z�

� 6 	]¿j¿j¿i� 1�¿ � 
� Ç 3Ds 6 ���n������� ��� Ç�F� Ç �®¼�� ~ 6 � 6
. �:�����  
�����,���ª�r�:�����ª�| 
�
�������3�%�n�%����������§j���.�j�����U�����ª�

�2�������J�n�����j�������[�j���:�j�g���j�z�¬��¿� 
�����2� �J���5���2�j�����J����s 6 � ¼A¨7�A���¦�������2�ª�j�t���8s 6 �]¼¢���%�z�gs+. � ¼������������
��� >��� > ��¼ � ~ 6 � 6

. �:�����  
�����,���ª�3�:�������| 
�p���=�����%���%���������ª§j�¦�0�j�2���:���������,�%�����J�¦���3�j�������[�j�X�U�j�L���j�z�5�g»
 
�����2���J���¬���,�j�����J���cs+. � ¼A¨�©!�%�������U�j���j�%���%���2�3�����%�k�z°5�������ª¡��2�����  
�ª��� ~ 6 � 6

.
�j�=� s 6 �	®¼A¨����L�J���=�������%�

�������L��� �j���z°*�������ª¡=�2����� ���  
�����,�����%�����[���p���2�j�%�¦��� ���%�¦�j�����������%�����2���J�z�����z§j�n���¢¡.�&1�~ 6 �K�+32	 1 6. � 6. 3,¨
�®�ª���n�����ª�����ª�r���j���Q «�j��£0�A�ª�«�����z�j���[���k�����Q�������« r�ª���[���%�r���ª§j�z���J�*�z�[�����ª�����«�j���n�J�2�z���ª�«�����[�ª�����j�����r�������
�z°*�������ª¡=�2���L���� 
�����,�����%�����L�������,�j�%�L�������%���j�2�����
���������������%�z�����ª§j�z����¡.�|§j�j¨

·r�|  �ª�������(�����p�%�| ®�J�A�z�������ª�����ª��§j�z�������j���I³.�z�J���z°5�������ª¡��2����� ���%���J�����z��¨;���5�����ª���ª§j�z�ª�j�* 
�%�z�n�J�A�z���%¥
���ª�����3�����k�������j�j�t���J���z�������j�Q ��j�5���3����¡a�%�¢�ª�z���Q�j�;���%���j�������3�j�=�����%���%��¡=���j�Q ��j�5���3�������z���x�[�j�����j�«���%�
�j�������p¡.�z���j�����k�������j�k�J�*�z���=���ª�����3���z���=�J�g�����g�.�j�����������j�(�±�%��¡����j��;Ð�p�����J�����g 
�����,�¤���j� ¡0�k�J���=�=�2�������z�
���k�����=�|�������«�%��¡=��¨Æ�ë�t�����Q�J�A�z�����������n�U�j�!�j�����j�z�¬�r�������*�[�������j�p�ª���J��������¡.�Q�����������n�j���z°*�������ª¡��2���=���������
���j�z�5�r���j���%�j�r���z���.���%�L�j�2������¨

©!���r�%�J�A��§j���2�2�ª���[�j�G�������;�J�%�j���=�ª�Q���%�| r���������(�ª�.�J�*�z�[�����ª�����(�����
���*�k�������j�r�j�=�¦���,���J�z��������1�~ 6 �K�+3 	
1 6. � 6. 3Æ���%�z�n���[��§j�����¦Ã��j�%£*�2�%�=���J�g�z°*�������ª¡��2���=� ���������r���«�%�L���,�j�%�j¨��A�%���.����� 1�� 1�¿ 3&� �-1e»+3F3 	 1�� 1�¿ 3&�z¿ 3« 
�ª���
º ��� 1�¿ 3 � ¿�¼A��º ��� 1e»+3�� ¿�¼ " 6 1b�+3 	 " . 1b��3 	 Á0�L�j��� 1�~ 6 �K�+3 	 1 6. � 6. 3,¨��A�����.�����!�����������«�����z���r�=�2���J�z�
���%�����Q���;�j�¦�z°5�������ª¡��2�����  r�ª��� s 6 ��¼A¨Æ�Õ� �-1�¿ 3 � ¿�¼I�ys 6 � ¼������z� � 6 	 ¿ � s 6 ��s 6 �C¿�¼S�C¿�¼j¼�1�¿ 3 	�¿j¿j¿
1²�ª���2�z���.�z�J���ª§j���j�!�2�%�����J�¦�j�Es 6 33�j��� �ª� � ¾
� s 6 � �-1�¿ 3 � ¿�¼¢���%�z��� 6 	 ¿�¼%¿^� �-1�¿ 3 � s 6 ���¢�����������%�
�j�������¦�j�G�.�j�����:�����ª�[�2�%�����J�L�U�j�r���j�z�5�g¿����ds 6 	 � ¾n�j�=� � 6 	 ¿�¼�À^���-1�¿ 3#� ¿j¿j¿�¨ 0 �������
�¦����£j���Q�����z���2���%�
�����a���ª�z�Q�������_s+. 	]¾%¨�¹(����¡=�����z�  
�ª��� ���%�[�I³.�j�2����¡=�����ª�7�¤�J���������2�j���¬���U�j�L���j�z�5�g»±��� �0���,�ª�*��¿� (�¦���|§j�

»j»



¼m��¿ � s-.2	 � $*�.�¦�J���5���2�j�����J���ª���G¨r©
�%�������U�j���j�a r�ª���¢���%�z�������,���J�z���a�����j�5�±�z°5�������ª¡��2���������¢ 
�=���2�����%�����
���p���,�j�%�¦���������¦�j���������Æ�ª�L�g�����L¡0�����=��� s 6 � ¼¢�j�=� �%�z���J�Is+. � ¼A¨�Ã��%���¢�����[�����������j����������������� ���%�N 
�
�������xs . � ¼A�;�¤�J���¬���,�j�����J���ª���G¨ ©!�*���L���C��������§j���2�������C���%���2�����g�%�¤���2�j�%����� �z°*�������ª¡��2���=�±¨�©
�������2�z�����ª�
�j�z�%���2�j���(���z�!�[���������ª�j�%�j�!���%���U�����ª�N 
���%�k���2�j�0���2�ª���ª�������%�N 
��¨

T {IU � Uaw��:y��2U�� 	�� ;�03"%��� 
'� �2-3
	�Q��0�
&�%7&?D�R��$@�*;N�E
��
� ���2-��4��� �L
 ?3
��B�C;N�I" ��0A���S�I"K"N
��R)��B0 
�=�
��B$ 
��K;>0A;��!$
��
 ?A��
%"N
'0
�(
K� � $4�2-E� "*�*;N�E
'� J � 9 9';>� 
'=�
��B$ �t]�1?�%3 � ¼ � �-1?�%3?� ����� � !-�. 1?�%3 �2-/
�0��20�
�=�
��B$��Q��0�
&�%7 ? �R��$

��N7/� ��� � �B�27/� ; 9H�2- � "!
K�K;�0D;��!$@�2-/
��G
 � "�0A;@���G�8�E
 �20 �2-/
!�I"K"N
��R)

T {IUVU
W ¨k¶ä���"1�~ �K�
� ; � 1�O � �Ks � 3 �$%'& 3r¡.�k�j���z°5�=�����ª¡��,�����±¨Q�ë�i� 	]¼����%�z� ���%�[�J���z�=�ª�p�����[�ª�r�:�j���j���������3��§j�����
���j�z�5�����[¼ ���C���������j�����������%�j¡.�*���
���z���������%�¤�j��������¨ 0 �n���%���j���������[���2£j�������¦���ª�z���2���%�
�ª�¦�g�������j�����
¡.�±�������¦�j���[�����[�%�j¡.�*��� ���k¡=���*�����¤�������j��������¨ 0 �����%���ª� �8� ¼ ���%�����¢���[�������2�j�%�����������¢�j��������¨ ���j�
�ª�����%���2�n�������2�j�%����� �������j���������;�������k�����Æ�ª���A1 < ����� �� s � � ¼ F 3 ��¼����%�z�C�U�j�g��§j����� ���������Q�����=�2� �������
]�1?� 3 ��¼A� �A1 < � ��� �� ~ . 1?� 3 6 ]�1?� 3Ds � � ¼ F 3 � ¼A¨ ©
�%�����j�j�2�����������ª�����k���
�����,�
�¤���������¢��� � & 7 �F1?� 3
� � 	
� & ~ . 1?� 3 6 ]�1?� 3Ds � � � � ¼L����������� ; 1?�%3 	 ��� = B � A � � �

�
�
? B � A � � � ¨ 0 �����%�5���%�r�������;�U����� ���j�z�¬� �¯���[�����,�n�����������Q����� � 1?�%3 	

�[��� 1�~ . 1?�%3 6 ]�1?� 3Ds �  � ~ . 1?� 3 6 1�¿ � ;�1?�%3F3D]�1?� 3Ds �� ��¼-3G�U�����  r�����2���ª�t�U�����ª�N 
�G�������¯���%���ª���2�t�U����� ���j�z�5���a���L�������
�j�������!����5 � 1?�%3 	g~ . 1?�%3 6 ]�1?� 3Ds �  ¨«©!�%�������U�j���j� ;�1?�%3 	�¿p�������������:�j����§j���2� ���0~ . 1?�%3 6 1�¿ � ;�1?�%3F3D] 1?�%3Ds �� 	®¼A¨
'Q�0�J���%�2���j�¬���g�p���������
���k 
�����2�x] 1?�%3 	®¼A�¬ «�!�j���������z§j�j�5�:�j�Æ��§j����� ���7~ . 1?� 3 6 1�¿ � ; 1?� 3F3D]�1?� 3Ds �� 	®¼A¨Æ©!�*�����
���¤��§j���������������¦�j�=� �:�j����§j���2� ���P~ . 1?� 3 6 1�¿ � ;�1?�%3F3D]�1?� 3Ds �� 	]¼A¨ 0 ��� � ¼A�x�������%�����������%�¢�����%�j�����=�����ª�7�
�j�;���2���:�����z�=�J�z���t�ª�r�g�����Q¡.�����=���Q�U�j�p�j���������Q��§j����� ���5s �� 	�¼��j���¤�������Q�J���5���2�j�����J���3���%�g�²�j�J�Q���=���3�j�2�����
�[����£j�����r�����L���ª�z���,���%�%¨;©!�%���2���:�j���j�% r�%�����%���d��	®¼��j�^� � ¼����%�����L�����%�����2�j�%�L�������%�L�j��������¨

0 �¢�����=�����������ª�����j�X�����������z�2���ª�����[���������J�A�j�[�=�ª�����%�N 
���������r�ª�x�J�A�z�������������!���������*�¦�����2�j�"1��-1�¿ 3.� ¿�¼
�j����� 1e»+3���¿�¼-3g���%�z� ������§j������Ã(�j��£5�2�������J� �z°*�������ª¡��2���=� ���%�����¢���¦�%�����2�j�%�¢���������¢�j�������¦�j��� �%�z���J�
���%�¦�=����°*�%�k�z°5�������ª¡��2����� �%�������ª���ª�z�p����� 1�� 6 ��� . 3 	 1�¿j¿j¿��z¿j¿j¿ 3,¨�·
�j�����J�n���������������p���z���������������������0�z�=�%�z�¬�
�j���J���z���ª�������[�ª���p�j�=� ���%�[�=���5�j�������z�������ª� �����������������%�j�����������ª�7���j���������U�����z���J�z�z¨ 0 � �j���j���j�j�����L�2�z�����ª�
�%�����=�(���¦���%�p���A�%�z�0 
�ª�����[�j�5�¦�������3�0���,�ª�*�=���j�������%�p�j��������¨����L�����j���a�%�j���ª�*�j£n�����ª�������������«�a���0���|¨ 0
�����¦�[�����¦�j�X���%���=�×³0���2�z�¬��§j���2�2�ª�������j�¯���������J�%�j���=�����������ª§j�z�����±©x��¡=���[¿p���!���%���z���¢�j�x���������=���.���z¨

����� � �����
� � � ����� � �	�
���¢�������
�J�A�j�[�=�ª�L (���2���j���t�����g�������Q�ª�X���%���%�z�������ª���A¥7�[��£A���%�¦�z�¬§A�ª�������[�z�¬�!�j�Æ�����g���j�z�5���3���!�j�N§j���2�%�z�¤¡5�
���%� 0 ���2�| �¥7½Q��¡����z�
���A�%�z�;�����z� ���%������������������°5�%���z°*�������ª¡��2���=�  
�=���2� �����¯�j�!�J���%�2���j�X�=����������� � ���ª�z�5��¨
�Õ�Q���=���[�z�5§*�����������z�5�¦���¦�j�|§j���2�%�z�S¡*�����%� Ä3µ��[���A�%�z�����%�z� ���%���������¦�C�=����°*�%�±�z°5�=�����ª¡��,������ 
�����,� ���
�������������ª�n�a���������¦���%� � ���ª�z�¬��¨Æ�Õ�¯���������z�5§*�����������z�5�!�����j�|§j���,�%�z��¡*�����%�LÃ��j�%£*�2�%�����J�����A�%�z�.���%�z�±���%���2�L���

»�$



�j�¢�z°*�������ª¡��2���=�  
�����2�¢���!�=���������¦�j�=�����[�j�e�% 
�=���2�¢���������%���ª�±�%���[���������z�����%�gÄpµ;���z°5�=�����ª¡��,����� �j���± 
�����2�
���j���%�j�p¡.���%���[���������z� ¡5�¤���%� 0 �����N �¥7½Q��¡����z���z°*��������¡��2�����¢¨Q©!���������:�j�2�j�t��§j�z�  
���z�¤�j�2�����L�[����£j�����������
�����J���[�=�ª�����[�j���C���%��Ä3µ��p�z°5�������ª¡��2����� ���L���������%���ª� �=���2���������%� � ���ª�z�¬���¯�¢Ã��j�%£*�2�%�����J� �z°*�������ª¡=�2����� ���j�
���z���=�ª����� �j�C� � ���ª�z�5���[����£j�������%���J�����j¨����������j���Æ�j�����������¦���������j�
�����J���z�j���¦�������%�n�J���z���ª�L�����[�ª�3�j�!�
�%��¡����j�r�����J���z�j���z�
���%���z°*��������¡��2�����]���2�j�%�L�������%�L�j�������r�j���±���%���z°*�������ª¡��2���=�]�%�������ª�7�n�j�¯�����L�J���z���ª���j�
��§j�z�
���%���%���t�=���±�������g���������L�j�X���%�L «�j�2���G�%���%�L�J���z�=�ª���j�!�J�A�0�z�J���
���%�L�%��¡=���j�
���¦¡.�p¡=�j��£5�2�������j���¢���j�����������
�j���z�������
���������z��¨;©!���������:�j�2�j�A�J�2�z���ª���j�2���[�����¬�� ��j�¬�����[�[��£j���ª���z�j���������:�j�!�k�%��¡����j����������£j�p���±�[�j���p�%��¡��
��§j�z�  
�%�z�¤���%�����J�*�.�z�J�3���%���%��¡����j�3����¡.�z�J�����k¡=�j�%£*�2�%���Q��� �����������������k�j�������g (�j�2���t¨ ���[�2���j���¯�j�����
�����k�������3���%�k�j���ª�A�������ª���¤������Ã��j�%£*�2�%�����J���z°5�������ª¡��2���������
�����k�2�j���g�j�p�������%� 1²������°5�%� 3��z°5�=�����ª¡��,���������
���%�
�J�j�2���z���.����������� 0 �����N �¥7½Q��¡����z�¦�z�J���%���L�j¨«©!�%�������U�j���j�¬��§j�z�n 
�%�z���j�2�����«�[���2£j�����«�����r�����J�����=�������
�j���
���%�gÄpµ;�(�z°5�������ª¡��2�����]���
���������%���ª���=���������n���%� � ���ª�z�5�����[Ã��j�%£*�2�%�����J���z°*�������ª¡=�2����� ���j�¢�|§j���,�J�����g�¦����£j���
�����J���[�=�ª�����z�%�z���p�j�=���j�2���ª��§j�n���%�[���j���[�j���ª�*����������� �j�����¤���%� 0 �����N �¥7½Q��¡����z���z°*�������ª¡��2���=�±¨��X�����j���ª�j�. (�
�����j���(�j����� �����±�������[� ���z�J���z�j���¢�����J�A�z�������ª���������J���z�j���z�k���%�±�z°*�������ª¡��2���=� �%���������7� �j�Q���%�¢�J���z�������j�¦�j���
�%�z�J���z�j���z�p���%�k�z°5�=�����ª¡��,����� �%�������ª�7�¢�j�«���%���%��¡����j�z¨�©!�%�������U�j���j�t�J���z�������j�2�Q (�j�5�p���¢�ª�j¡�¡*�¢���%���ª�������2�������%���
�U�j�
�ª�| (���
�J�A�z�������������!�j���±�%��¡=���j�2�� ��j�¬�r���[�j���.�����������,�¢�����z�j�������j¨

¹(���=�����%���Q�j���J�%�2���j���j�g�z�J�������L�¤���¢ 
�=���2�����%�����g�������ë «�������[�L�.���2�ª�A�����=�����%�J�A�z�C¿g�j���¤»n�j�����7 (�
���������z�p�j�����%�k «�j�2���G�G�����%�J�A�z� ¿k�j��� »*¨L©!�������g���Q���������:�j�2�¦�����ª���������.���2�ª�A�C¿k�j���¤�²�����x���%�U�j�2�[�����ª���¤���
�.���2�ª�A�L»*¨X©!�%���������t���%���J���������[�����ª���p�j�*�*�g���p�.���2���*�[¿«�j���g���p�z�j�2�k���������������0���,�ª�*��»*¨¯©!�����J���������[�����ª���
���=�j�J������� :� ¨ 0 �C�z�ª�z���z�5�_O"	#1�O 6 �,O . 1�¿ 3&�,O . 1e»+3F3��������%�n�J���=�������������������=�j�J�n���L�¢�J�����2���������ª��� �=���j�
 
�����2�±�z�5���j�����!�J���=���������������±�j�UO 6 ���=�ª�����j�Æ���%�L�J�����2���������ª���¢�j�5�A�¢���±�.���2���*��¿��j��� O . 1?�%3����=�ª�����j�Æ���%�
�J�������=�������ª�����j�*�A� ���C���������m� 1?� 	 ¿��2»+3L��� �.���2���*� »*¨¢©!�������¦���L���%�¦�j���������Æ����§j�z� ¡*�
] 	�� 66�� ¨±©!�%�
�.�j�����U�����ª�L���a�j�J�Q��� �k¨ 0 �n�z�ª�z���z�5��sg�j�G���%�Q�.�j�����U�����ª�L���a�j�J�Q���«�L�.�j�����U�����ª�L�=���j�[ r�����2�¦�z�¬���j�����«�����������%�p�j�
sk�����ª���;�j�t���%�r�j�2������¨ �;�,���J�z�«���[�.���2�ª�A�¢¿Q�����
���ª§j�z��¡*�&1�~ 6 �K�+3Æ r�%�����j~ 6 ���;�����r���,���J�!�j�t���%�Q�J���������[�����ª���
�j�*�*� �j�=���n���������2���J�k�j�(���%�[�j��������¨¦©
�%�z���k���2���J�z�p�2���������U�¤¼��y~ 6 � ¿��j���
�<	 ¿ � ~ 6 ¨�©!�%�����2���J�g�j�
���%�g�J�����������=���ª���¢�j�*�*�����L¿g���±�z�j�,� �������������±�.���2�ª�A��»*¨
©!�������L�������7 (�����j�z�5�����G�������J�*�z� ¿��j��� »*¨!©!�%�
�������U�����z���J���j�=�±�z���%�N 
���z�5�!�j�x�z�j�,�����j�z�5�r���

� 6 	�¿�¼j¼0O 6 ��O . 1�¿ 35� À�¼0O . 1e»+3&� ! 6 	 1�¿��z¿�¼ �z¿ 3&�
� ..	kO 6 � ¿�¼j¼0O . 1�¿ 35��O . 1e»+3&� !�..	 1�¿�¼ �z¿���¼-3&�

���¢���%�gÄpµ;�!���A�%�z�e���ª�X���,���J�z�!������1�~ 6 �K��3� 
�ª��� ~ 6 � ¼A�0���%�L�I³.�j�2����¡a�����ª�ë���J���������2�j���5���
�U�j�r���j�z�5��� � 	]¿��2»
�������
���2�����z�ª��§��j�¬�����n���������j���j���*�����������

¼ ��O � 6 	 ¿ � �~ 6 s � �j��� ¼ ��O � . 1?�%3 	 ! �. 1?�%3���s � 1?�2	�¿��2»+3&�

»I¾



©!�%�z���¦�J���������2�j���¬�������z�j�C���=����������§j���2���0���,�ª�*���j�=�C���������j�X���%�n§I�j�������j�!�J�����������=���ª�����j����§j����� ���j�z�5�
�z°*���j���
�=���
���=�J�����j¨��Õ�����%��Ã��j�%£*�2�%�����J�¢�[�*�%�z�h�=���%���.�����p�����L�J�A�z�������ª���¤��� 1�� 1�¿ 3&� �-1e»+3F33�j�������%���J�2�z���ª�
�����¦�ª�
�U�j�p���j�z�¬� �!��� " � 1b�+3,¨��Õ�;���2���J�z�Q���2� 1�~ 6 �K��3
 
����� ~ 6 � ¼��j��� �%���U�j�=�ª�r�,�����z�p������; 	 1 ;�1�¿ 3&� ; 1e»+3F3,�
���%�L�I³.�j�2����¡a�����ª�ë�¦�J���������2�j���¬���
�:�j�
���j�z�5���-� 	�¿��2»����=���
���������z����§I�j�5�����[�������
�j���j�ª�A�����������

¼ ��O � 6 	�¿ � �~ 6 s � �j��� ¼ ��O � . 1?�%3 	®�[�I� 1�! �. 1?�%35� 1�¿ � ; 1?� 3F3Ds �� � s �  �!�[��� 1��-1?�%3&�
! �. 1?�%3F363�1?� 	�¿��2»+3&�

0 �����%���J���z�����!�����[�ª�(���z�����,���J���ª�����!�[�z�j�±�������!�U�j�!��§j�����±���j�z�5�#���Ps � � " � 1b�+3,¨
�Õ�����%�¦���j�z�5��� ���������J�����2�����[���%�z�����z���%�N 
���z�5�������%�z�ª���%�������ª�����z�Q���2�91�� 6 ��� . 3 	 1�¿zº�¼ �z¿j¿�¼-3,���ª�(���%�z�ª�

�%�z�����2�ª���A¥7�[��£A���%���z�¬§A�ª�������[�z�¬�k���k�%�������2�[���%�z�C¡*� ���%�±�J�����a�ª�����±�[����£j����� 0 �����N �¥7½Q��¡����z�����A�%�z�(���%�z�ª�
������°5�%� 1²�j���g�=���������Q� � ���ª�z�5�43t�z°*�������ª¡��2���=�S���������ª���ª�z�x����� 1�� 6 ��� . 3 	 1�¿j¿zÀ�¼ �z¿j¿�¼j¼-3 . �r�j���g�ª�%���%�z���¯�%�z�������ª���A¥
�[��£A���%���z�¬§A�ª�������[�z�¬�(���«���������2�[���%�z�¦¡5�¦���%�3Ä3µ������A�%�z�������z�ª�(�=����°*�%� 1²�j�������������%�������=���������k���%� � ���ª�z�5�43
�z°*�������ª¡=�2�������%�������ª���ª�z�!����� 1�� 6 ����.�3�	 1�¿j¿�¼+�
�2»�¼%¿ 3,¨ �������j�¤�,�%�z��£��:�j�Q���%�[Ä3µ;�
�z°5�������ª¡��2�������j�r�U�����ª�N 
��¨
­Q�����%� ���%���I³0�j�2�=��¡=�����ª�ë���J���������2�j���5�����:�j���z�j�,� ���j�z�¬���Q (�¤���j�®���J¥h 
�2�ª���¤���%�¤���������ª�ë�
�j���z�j�2� ���j�z�5�¢�j�
� 6 	 ¿�¼j¼�1�¿ � 
� Ç s 6 3j��¿�¼ �ks 6 � À�¼�1�¿^�/s 6 3�	 ¿zº�¼ � 1eÀA¿ � 6��4� 
� Ç 3Ds 6 ����������� ���äÇ��� Ç � ¼�� ~ 6 � 6��4�6 � 6
�j��� � . 	 ¿j¿�¼�� 1�¿�¼%¿ � 
� Ç 3Ds . ���±������� � � >��� > � ¼ � ~ 6 � 66�� . ¨k©!�����3�%�z�ª�a�Q�=�p�%�������2�[���������%���j�=�����[�j�
�.�j�����U�����ª���2�%�����J���j�(�z�j�2�C���j�z�¬��¨��Õ�5~ 6 � 66�� . �G�������j�������[�j�¯�.�j�����U�����ª���2�%�����J�¦�j���z�j�2� ���j�z�¬����� s 6 	 � ¿
�j����s . 	]¼A¨��ë�:~ 6 	 66�� . �t�����[�2�%�����J�n����s 6 	 � ¿��j�=�
s . � � ¼ � 6��6��?6 �h¨��Õ� 66�� � ~ 6 � 6��4�6 � 6 �ä���%�[�2�%�����J�¦���s 6 	 � ¿g�j�=�
s . 	 6�� � Ç
 ¨k�Õ�5~ 6 	 6��4�6 � 6 �ä���%�[�2�%�����J�[����s 6 � � � ¿�� 6��4�6 � 6 ���j����s . 	 6��4�4�

� 6 ¨k�Õ� 6��4�6 � 6 �n~ 6 �t���%�
�2�������J�n���_s 6 	 � Ç
 �j����s . 	 6�� � Ç
 ¨�©!�5�=���x�ª���j�������g�[����£j���g�������������z���g�ª���g�����L¡0�¦������� 6�� � Ç
 	 ¿n�j���
�%�z���J�c~ 6 	 66�6 ¨�©!�%���2���:�j���j�

1�~ 6 �K�+3 	 1 ¿¿j¿ �
¿�¼
¿j¿ 3&� O 6 	 1�¿j¿��I�
��¼-3&� s 6 	 � ¿�� O . 	 1²¼ �2»
�z¿ 3&��s . 	�¿

�������%��������°*�%�Q�z°5�������ª¡��2�����  
�����±�%�������ª�����z��1�� 6 ��� . 3 	 1�¿j¿�¼+�
�2»�¼%¿ 3,¨
©!���¦�U�����ª�| r���%��Ã��j�%£*�2�%�����J���z°*�������ª¡��2���=� �����=���������¤� � ���ª�z�5���;�������������ª� �=�����������%���[���=�����z�����%�¢Ä3µ;�

�z°*�������ª¡=�2����� �j���C���j�����j�L¡.���=���������¤�%���[���������z� ¡5� ���%� 0 �����N �¥7½Q��¡����z� �z°5�=�����ª¡��,�����±¨k©!�%�������U�j���j�x��§j�z�
 
�%�z�p�j�2�����ä�[����£j�����x���������=�J�����=�ª�����;�j���3�����(Ä3µ;�0�z°*�������ª¡=�2����� ���t���������%�����
�=���������r���%� � ���ª�z�5���N�
Ã(�j��£5�2�������J�
�z°*�������ª¡=�2����� ���j�����z�2���ª�������j��� � ���ª�z�5���¦����£j�������%���J�����j¨ �A�%���.������1��-1�¿ 3&� �-1e»+3F3 	 1�¿��z¿ 3,� " 6 1b�+3 	 6 � � �6�� �
�j���!" . 1b��3 	 6 �6�� �*¨;©!�%�z�

1�~ 6 �K�+3 	 1 �¿�� �
¿�¼
¿�� 3&� ;�	 1²¼ �z¿ 3&� O 6 	 1�¿j¿��z¿��z¿ 3&��s 6 	 � �
� O . 	 1²¼ �z¿�¼ ��¼-3&� s . 	 �

���Q�j�¤�z°5�������ª¡��2������ 
�ª���¤�%�����������ª�z� 1�� 6 ��� . 3�	 1�¿j¿zÀA¿��z¿�¼j¼j¼-3,¨�©ä�������k�������3�������Q���Q��Ã(�j��£5�2�������J�¢�z°*�������ª¡�¥
�2���=�±�%���%¡=���������%���2��	 ���������%�p�=���,�j���������2�(�z�����ª�������ª§j�z�±¡.�z�ª�N �¨
> 
ëÓhßNÌ0ÖNÜIàiî�ÖIÌ�Ì�î�ÖIàÐÎÐàÐÚNÒhàÐÖIÊ�ÍNÒhàÐã�Ì�Ý%É2Ü�Ë�É,ÎÐÎÐØ�ã�É2ÓhàÐØ,ÜIÝ=É2ÒhÌxù�� Ç / � > ù²û�ý / � > ù�ÿ,ýeý 1 ù >
 / >
 / Ç
 ý¬É,ÜIË ' Ç 1 ù²û,û / � / û�ý / ' > 1 ù � / û,û / �Jýëå

»jÀ



�����±�=���2�j�[�������2�(���z��§j���2�2�ª�����j�(�������3�J�%�j���=�ª�j�t (�¦���j� �����[���������j� ���=�J���z�j���[��� ���%�[�J�2�z���ª�������¦�ª�r�j�
���%��¡����j�[�����J���z�j���z�k���%�±�z°*�������ª¡��2���=� ���2�j�%�¢���
���%�¢�j�������[�j�������%�±�z°*�������ª¡=�2����� �%�������ª�7�C�j�r���%�±�J���z�=�ª���j�
��§j�z�±���%�������G�������������p�����������j�x���%�p (�j�2���G�A���%�p�J���z�������j���J�*�.�z�J�������%�p�%��¡=���j������¡0�3¡=�j��£5�2�����(�j�=�����j�=���
����� �j���z���������ª���2���z��¨�©!�%�������U�j���j�
�J���z�=�ª���j�2���[�ª���5�¦ ��j�¬�������[��£j���ª���z�j���ª�����U�j�����%��¡����j�����
����£j�����
���j���g�%��¡��!��§j�z�� 
�%�z�����%���±�J�A�0�z�J�r���%������¡����j�
����¡.��¡=�j�%£*�2�%���������������g�����������j�Æ������ «�j�,���G¨ �A�%���.�����
1��-1�¿ 3&� � 1e»+3F3 	 1�¿��z¿ 3,¨ �X�×�<� � �×¿��I� �¯�j�=�¢�ª��� " 6 1b�+3 	 � 6�� � � � �

6�� �k�j���!" . 1b�+3 	 6�� � �

6�� �*¨;©!�%�z�
1�~ 6 �K��3 	 1 �

¿�¼r��� � ¿�¼
¿�¼^��� 3&� ; 	 1²¼ �z¿ 3&� O 6 	 1�¿j¿��z¿�¼ � � �z¿ 3&�rs 6 	 � � � O . 	 1²¼ �z¿8��� ��¼-3&�^s . 	 �

�����j���z°*��������¡��2�����  
�ª�����%�����������ª�z� 1�� 6 ��� . 3 	 1�¿j¿zº�¼ � �
�z¿�¼j¼M� ¿�¼j¼��-3,¨ ·r�j�����J�±���������������k�z°5�������ª¡��2�����
�j���ª�A�������ª��� ���¦�a���������C� � �����z�¬��¨ ©ä�
�2�%�z�2£ ���������������n���¦�j� �z°5�=�����ª¡��,�����±�;�%�j�����J�����������j���r�[����£j�����������
���ª�z���2���%�%�����%�g�%���U�j�=�ª�!�2�����k���j�������������������!�����g�J�j�����z�J�3�j���¢�U�j�r�z�j�,�����j�z�5���G�������a���j�����
����������¡=���%�j���r������¨
©!�%�����������������%�p�ª���U�X�����J���=���2�����X���=���X���j�z�5�������2���j�������[�(�z���%�%¨x¶ä���;�������2���Æ�ª�*�j£����Æ���%���=���j���U�j�;���j�z�5�
¿�¨
�A�%¡a�����ª���%�������
���%��§��j���%���j�u�Q���g���%�!�J���z�����X�����[�ª�x�:�j�;���j�z�5�
¿(���ª§j�z�;���z�j�:�j�Æ�.�j�����U�����ª�3�j���[���2���ª¡=�����ª�7�j�Rs 6 � �A¨
�Õ�:s 6 � ¼k�����z� � 6 	�¿�¼j¼�1�¿ � 
� Ç s 6 3f� ¿�¼E� 1�¿ � ;�1�¿ 3F3Ds 6 � À�¼�1�¿ � 1�¿ � ;�1e»+3F3Ds 6 3 	�¿zº�¼d� 1�¿ � 6��4�4�

�
3Ds 6 ¨

�A���=�J�g�����¦�J�5� � ���ª�z�¬���:�j� s 6 ���p�%���������ª§j�n���%�[�j�������[�j�X�.�j�����:�����ª�±�2�%�����J���������������j�=�����%�¦�J�j���2�z���.���������%�
�%�������ª�7�±��� � 6 	 ¿zº�¼A¨r�Õ� � �m�ks 6 �®¼n���%�z� � 6 	 ¿�¼j¼�1�¿ � 
� Ç s 6 33� ¿�¼ �ys 6 � À�¼ 	 ¿zº�¼ � 1�¿ � 6��4�4�

�
3Ds 6

�����������������n�j�������[�j�;�.�j�����U�����ª�¢�,�%�����J����� s 6 	 � ���j��� ���%���J�j�����z���0���=�����%�¢�%�������ª�7� ��� � 6 	 ¿j¿zº�¼ � �A¨
©!�%���2���:�j���j�x���%�����ª§j�z�C�=���j�����3�j�������[�j�Æ��� ���%�[¡a���%�j�����������U�j�L���j�z�5�n¿�¨"���j�����j�z�5�g»*�X���%¡=���������%�����%�����%�
§��j���%�¦�j�^�¢��� ���%���J�2�z���ª�������[�ª�p�U�j�����j�z�¬�±¿n���ª§j�z�k�����X�:�j�k�.�j�����U�����ª���j�=�[��������¡=�����ª�ë�j�3s . � ¿�¨¤�Õ�cs . ��¼
���%�z� � . 	#1�¿�¼ � 
� Ç s . 3j��¿�¼j¼�1�¿r� 1�¿ � ;�1�¿ 3F3Ds . 3j� 1�¿ � ; 1e»+3F3Ds . 	 ¿j¿�¼�� 1�¿�¼j¼ � 6��

�
3Ds . ¨��A�����J�n���%�

�J�*� � ���ª�z�5�!�:�j�cs-.p�����.�����ª���ª§j�3���%�p�j�������[�j�.�.�j�����:�����ª�g�,�%�����J�L���Es+..	�¿�¼ �

6�� �j���¢���%���J�j�����z���.�����=���%�k�%�������ª�ë�
������. 	 ¿�¼j¼�� ¿�¼j¼��A¨��ë� � ¿;� s+.t� ¼����%�z� ��.�	 ¿j¿�¼�� 1�¿�¼j¼ � 6��

�
3Ds+.k���±���=���p���%���j�������[�j�¯�.�j�����U�����ª�

�2�������J�����r¼��j�������%���J�j�����z���.�����=���%�¦�%�������ª�7�±��� � .�	 ¿j¿�¼A¨�©!���������:�j�2�j�a���%�k���ª§j�z�¤�=���j�����r�j�������[�j�¯�������%�
¡=�����j���!�����!�U�j�
���j�z�¬�3»*¨

·r�j�����J�p�������!�����������«�a���2�j���������2�(�z�������t�� 
�%�z�D� 	 �*�%���%�3�z°*��������¡��2�����]�j���ª�A�������ª�������(§j���������������p�������%�
�z°*�������ª¡=�2����� �j���ª�A�������ª���¢�U�j�
����� 0 �����| !¥7½r��¡=���z�����A�%�z�e¨��Õ�
���
���%�L�J�A�z�������ª�������¢����������¿� r�����2�¢������§j�z�5���
���%�!�J���z�=�ª���j�X�:�������2�z�J�|§j���2���������%�����j���Æ�������x�j�.�J���������[�����ª���g�:�2��� �����!�%��¡����j�z¨X©!�����X�J���z�����z�«�j�������J�z�5���ª§j�
�U�j�p���%���J���z���ª���j�p���¢�ª�j¡=¡5���:�j���ª�N «���p�J�A�z��������������¨�'p�%���[�ª���5�Q�����z���3���������ª�;�����g�J�A�z��������������� ����������¿
 (�����g���| (���r���%�k�J���z�������j�Q���
 
���������%�k���n�J�A���z���¤��§j�z� ���j���g�J���z���ª�r���n���%�g�%��¡����j�z¨Q©!�����
���r�J�j�2���z�J���G�j�
 (�
���j��������¡.�z�ª�| �¨

���C�����n�U�����ª�N 
���%�¤Ã(�j��£5�2�������J���z°5�=�����ª¡��,����� ���%���j���ª�A�������ª��� ���L���%�����j�����j�g���%�����%�����C���%��������°5�%�
�z°*�������ª¡=�2����� ��� ���%� �J�j�����z���.���������%� 0 �����| !¥7½r��¡=���z�S�z�J���%���L�j¨ ©
�%�������U�j���j�
��§j�z�S 
�%�z�S�j�������±�[���2£j�����

»jº



�����������J�����a�ª�����¦�j��� ���%�¢Ä3µ;�p�z°*��������¡��2����� �������������%�������=��������� ���%� � ���ª�z�5���Æ��Ã��j�%£*�2�%�=���J���z°5�������ª¡��2�����
���j� �N§j���2�J����� �¦����£j���������J���[�=�ª�����z�%�z���±�j�=� �j�2���ª��§j�C���%� ���j��� �j�����*�������ª��� �j�����®���%� 0 �����| !¥7½r��¡=���z�
�z°*�������ª¡=�2�����±¨H�A�%���.������1��-1�¿ 3&� � 1e»+3F3�	 1²¼ �z¿ 3,�=" 6 1b�+3 	 »�¼ ���j���!" . 1b�+3 	 »0�*¨�©
�%�z�

1�~ 6 �K�+3 	 1 ¿» �
¿
» 3 � ;�	 1²¼ �z¿ 3 � O 6 	 1�¿j¿���¼ �z¿ 3&��s 6 	 � ¿�¼�� O . 	 1²¼ �z¿j¿���¼-3&��s . 	 ¿�¼

���Q�j�¤�z°5�������ª¡��2������ 
�ª���¤�%�����������ª�z� 1�� 6 ����. 3�	 1�¿j¿zÀ�¼ �z¿j¿�¼j¼-3,¨�©ä�������k�������3�������Q���Q��Ã(�j��£5�2�������J�¢�z°*�������ª¡�¥
�2���=�±�%���%¡=���������%���2��	 ¼[�������%�p�=���,�j���������2�(�z�����ª�������ª§j�z�±¡.�z�ª�N �¨

���±�j�%�j���%���r�=���2�j���������2�����z�±§j���2���ª�����j�X���������J�A�j���a�ª�j�% «�����j�������p�������
�����z�J���z�j���L���������p�J�*�z���=���ª���
���±���������n¿����j�¢�²�%�����%���!�����J���z�j���p���%�p�z°*�������ª¡��2���=� ���2�j�%�L�������%���j�������
�j�=�±���%�p�z°*�������ª¡=�2����� �%�������ª�ë�[�j�X���%�
�J���z�������j�L�j���C���z�J���z�j���¦�����[�z°5�=�����ª¡��,����� ���������ª�ë���j�����%�¦����¡����j�z¨n©
�%�������U�j���j�¯�J�2�z���ª���j�2�p ��j�5�L�����ª�j¡=¡5���
�ª�������2�������%���«�:�j�;�ª�N «���X�J�A�z�������ª���=�¯�j�=�g����¡����j�2�¯ (�j�5�Æ���3�j���.�����������2�k�3���z�j�������j¨��X�×� � � � ¼ �z¿��h¨��A�%���.�����
1��-1�¿ 3&� � 1e»+3F3 	 1 � �z¿ 3,�=" 6 1b�+3 	 � . �  � ��� 6��  � �

6�� �k�j���!" . 1b�+3 	 � . �  � ��� 6  � �
6�� �*¨�©!�%�z�

1�~ 6 �K�+3 	 1 ¿�¼ � �»�¼ � � �
¿�¼

»�¼ � � 3&� ;=	 1²¼ �z¿ 3&� O 6 	 1�¿j¿��4� �z¿ 3&��s 6 	 � � ¿�¼ � O . 	 1²¼ �z¿j¿ � � ��¼-3&�^s . 	�¿�¼ � �
�����j�C�z°*��������¡��2�����  
�ª���C�%�������ª�����z�
1�� 6 ��� . 3?	#1�¿j¿zÀ�¼�� � �z¿j¿�¼j¼ � ¿�¼j¼��+3,¨¤·
�j�����J�n���������������L�z°5�������ª¡��2�����
�j���ª�A�������ª��� ���¦�a���������C� � �����z�¬��¨ ©ä�
�2�%�z�2£ ���������������n���¦�j� �z°5�=�����ª¡��,�����±�;�%�j�����J�����������j���r�[����£j�����������
���ª�z���2���%�%�����%�g�%���U�j�=�ª�!�2�����k���j�������������������!�����g�J�j�����z�J�3�j���¢�U�j�r�z�j�,�����j�z�5���G�������a���j�����
����������¡=���%�j���r������¨
©!�%�����������������%�p�ª���U�X�����J���=���2�����X���=���X���j�z�5�������2���j�������[�(�z���%�%¨x¶ä���;�������2���Æ�ª�*�j£����Æ���%���=���j���U�j�;���j�z�5�
¿�¨
�A�%¡a�����ª���%�������L���%��§��j���%�3�j�U�k�������%���J���z�����������[�ª�(�:�j�r���j�z�¬�L¿����ª§j�z�!�����%�U�j���.�j�����U�����ª���j���[���2���ª¡=�����ª�7�j�ps 6 �
¿�¼ � �A¨X�Õ�#s 6 � ¼!���%�z� � 6 	 ¿�¼j¼�1�¿ � 
� Ç s 6 3
�n¿�¼ �,1�¿ � ;�1�¿ 3F3Ds 6 �gÀ�¼�1�¿0� 1�¿ � ;�1e»+3F3Ds 6 3 	 ¿zº�¼#� 1�¿ � 6��4�4�6��  �

3Ds 6 ¨
�A���=�J�g�����¦�J�5� � ���ª�z�¬���:�j� s 6 ���p�%���������ª§j�n���%�[�j�������[�j�X�.�j�����:�����ª�±�2�%�����J���������������j�=�����%�¦�J�j���2�z���.���������%�
�%�������ª�7����� � 6 	�¿zº�¼A¨��ë� � � ¿�¼;�ys 6 � ¼g���%�z� � 6 	�¿�¼j¼�1�¿ � 
� Ç s 6 3���¿�¼��`s 6 � À�¼ 	�¿zº�¼8� 1�¿ � 6��4�4�6��  �

3Ds 6
���[���=���
���%���j�=�����[�j�.�.�j�����U�����ª�[�2�������J�����ds 6 	 � � ¿�¼n�j���±���%���J�j�����z���.���������%���%�������ª�ë�n��� � 6 	 ¿j¿zÀ�¼����A¨
©!�%���2���:�j���j�x���%�����ª§j�z�C�=���j�����3�j�������[�j�Æ��� ���%�[¡a���%�j�����������U�j�L���j�z�5�n¿�¨"���j�����j�z�5�g»*�X���%¡=���������%�����%�����%�
§��j���%���j�e���������%���J�2�z���ª�
�����[�ª���:�j�3���j�z�5�g¿L���ª§j�z�r�=���=�U�j�
�.�j�����U�����ª�¦�j�=�[��������¡=�����ª�ë�j�ps . � ¿ � �A¨��Õ�js . �®¼
���%�z� � .?	!1�¿�¼ � 
� Ç s+. 3:� ¿�¼j¼�1�¿d� 1�¿ � ; 1�¿ 3F3Ds+. 3S� 1�¿ � ; 1e»+3F3Ds+.*	 ¿j¿�¼�� 1�¿�¼j¼ � 6��6��  �

3Ds-.�¨ �A�����J�g���%�
�J�*� � ���ª�z�5�¯�U�j�es+.(���¯�.�����ª���ª§j�«���%���j�������[�j�*�.�j�����U�����ª�r�,�%�����J�����Us+..	�¿�¼ 6��  �

6�� �j���g���%���J�j�����z���0���=�����%�Q�%�������ª�ë�
��� � . 	]¿j¿�¼j¼ � �A¨��ë�F� � ¿��ks+._�®¼[�����z� � .2	 ¿j¿�¼�� 1�¿�¼j¼ � 6��6��  �

3Ds+.����¦�������r���%�L�j�=�����[�j�G�.�j�����U�����ª�
�2�������J�����r¼��j�������%���J�j�����z���.�����=���%�¦�%�������ª�7�±��� � . 	 ¿j¿�¼A¨�©!���������:�j�2�j�a���%�k���ª§j�z�¤�=���j�����r�j�������[�j�¯�������%�
¡=�����j���!�����!�U�j�
���j�z�¬�3»*¨

0 �2���[�[�������j�ä���%�Q�=�×³0���2�z�¬�«§j���2���ª�����«�j�t���������J�%�j���=�ª�3���«���ª§j�z�����¦©¯��¡=�ª�p»����«���%�Q�z�����j�t���%�Q�=���.���z¨

»+5



� ��� � ���
�A���	�)� 
���� ��� �I����� �I���

©x�
�����N§j�����%�«�7 (�r�������j���z�[�¯���z�¬�������%�z�L��¡.�|§j�j�j�.���2�*�J���z���������%���:�������| 
�����!�[�j���%���z¨��X�ª�2�����I�G���2�����������«���%�
���2���J�!���=�j�J�
���p���=�������2���J�z�Æ�����!¡.�������%�z�k�| (�|�[�:�2��� �������%¨;©!�%�z�t�j�X�2���[�[���2�����(�����!���z�ª��§��j�¬�«���%�U�j�2�[�����ª���
��� ���%���z�J�������L����� �±�J�j�����z���0���=�%�z���J�������¢���a�j�J�� 
�����,���%���.�z�����Q��� ���%�����2���=�������z�����2���J�����a�j�J�j¨[Ã«�
Â���£A�%���j��� ;Ð�x���%���j���z�¢�j�������¯�J�j�����z���.�����%�z�=�J�«���j�¯� ���*�z�g�.�����5��¨ 0 �ä���%�(���2���=�������z���=�2���J�«���=�j�J�(���=�������j�2���z�
���%�p���5���2�����������z�����a�j�J�j�%���%�����p�����k���z°5���z���J�3�j� �%�A�z���0�����¬����¨ �%�2���������������z°*�%�z���J�3 «�3�j���!���J���5§j�����j�z�5�
���%¡a���z°5���z���J�j�%���%�������¦�ª���j�x 
�=���2�����ª§j�z�r���!�j�±�z°*�������ª¡��2���=�±¨

¶ä�������3���2���������������������2���J�k���=�j�J�[�j�p�U�����ª�N 
��¨ �%�j�
	 � J���Z��j�=��	 �	
�®�t���%��	.¥h���2�����������z� ���2���J�
���=�j�J�[��� �0���,�ª�*�\�_� � � ¿���� 5{�� � � 	 <21�~P�4�K�>� 3 � { � �� 1�~P�4�K�>� 3 � 6� ¿3F 1²�������j��¿����3���%��§j�z�J���j���j�«�����z�����
9 N � l� 3p�j���C�����.���2�ª�A����	 � ��� 5{�� � � 	 < 1�~ � ��¼-3�� { � �� ~ � � 6� ¿ F 1²�%�����j��¿¦�������%�[§j�z�J���j�k�j�����%�z�����
9tN� 3,¨«©!�%��	 � +,&)15!j2 *'+K6'�`Tj&) -2R6`. T5*'2R6±��� 5{�� 	 � G��� 6 5{�� � ��¨

©!���¤�J�j���2�z���.�����%�z���J� ���������¦�����¤�������=�[�[���2�(���¤���%� ���z�ª��§��j�5�����%�:�j�,�[�����ª���S���S���%� �z�J���%���L�®�����
�����A�����J�¦�j�p���%�������J�j�2���z���.�����%�z���J�z�z¨ ©!�%�7���,���¦�J�j�����z���0���=�%�z���J�����[���%�¤���j�j�������������J�*���z�=�%�z� ���z�[�j���
�J�j�����z���0���=�%�z���J� � �ª�t�2�z�������z�X�[����£j���¯§I���2����¡=�ª�z��1U�=�2���J���j���g�%���²�j���ª�t�,����� 3t���3���j�j�����������!���=���ª§A�������j�I�2�%�����J�z�
1²���j�j�������������%�z�[�j��� �j���¤���%���J�j�����z���0���=�����%�n���j���j�Æ�ª�����p�j���¤���j���j�Æ�%��¡��43,¨�©!�%�����z�J����� �J�j�����z���0���=�%�z���J�
���¦���%���=�2���J���J�j���2�z���.�����%�z���J� � �ª�n���z�������z�n�.�������ª¡=���¢�ª��§j�z���n�j�p�J�A�J�z�����%�z�¦�j��� ���
���2���J�z��¨ ©!�%�������ª�2�
�J�j�����z���0���=�%�z���J�
�������%�r�����U�j�����;�2�����3�J�j�����z���.�����%�z�=�J� � ���;���z�������z�«�.�������ª¡=���!�ª��§j�z���;�j�G���j���j�.�ª���2���j���¦���j���j�
�%��¡������n�%���U�j�=�ª���2�����z�
�j�2���*���������z�¢ 
�ª���������z�±¨

�X�ª�2�����
�ª�������n���5�j£ �������%� ���j�j����������� �J�A���z���%�z�®�%�z�[�j�=� �J�j�����z���0���=�%�z���J� �j��� ���������j���ª���������j�%¥
�������ª�z�z¨ 0 �¤� �����z�����[�������2� �������t�L�����������ª�5�j£ ���¤���%�C�%�z�¦�j��� �J�j���2�z���.�����%�z���J�j¨ ©!�%� �%�z�[�j��� �J�j��¥
���z���.�������z���J� �U�j�¤���j�z�5� �±�j�����*���������z�¤��� ��§j����� 1�~ �K�
� ;H3���� { G � ���%�
����� � �F1�~ �K�
� ;�3,¨ ¶t����� � 	
� 1�~ �K�+3 � { B*�:�j�r������� � �,�&�U~ � 1?� 3 	®¼j��¨�©!�%�z�� (�L���|§j�����%���U�����ª�N 
���%���ª�z�[�¦�A¨
������� } � 	
�.;�� 
�=�
'�%$ �GJ �2-3
 � 
'�*��0A� �B;��B��
%"(?/;�0A� 
'0A�%
 9�;��H�NM 
�0
� � -��I" �N�F;�"�
��!M8� �B?A-<;�0 1 {�� � � 3 G � )

T {IUVU
W ¨ �A�����.�����61�~����K��� � ;�� �,O"�� �Ks �� 3 + 1�~ �K�
� ; �,O �4�Ks � 3,� 1�~�� �K����30�j���,1�~ �K�+3.�%�j�t����� � �j��� 1�O �� �Ks �� 3 �
� � 1�~�� �K����� ;���3,¨ ���¤�%���z� ���
§j���2�ª�U�
���=��� 1�O � �Ks � 3 � � �F1�~ �K�
� ;�3,¨ �ë�����[�z�j��� ��� �����¤��������1�O"�5�Ks � 3 �
� � 1�~H�K�7� ;H3,¨ �A�[���%���.�����
10�O"�6� �s � 3 ��� �F1�~ �K�
� ;�3,¨ ���� ��j�¬�r���¦�J�������������p�������EO"�1��� �O"�Õ¨

�X�×� � �!1²¼ �z¿ 3n����¡=�ª���2���,���ª�j¨®¶t���n�=�
���2���¦�J���=���2� ���������:�j���j����� ��� � ���ª�z�5���ª���������j�j� 1 ���O"�6�4���s � 3��
� � 1�~����K���?� ;���3,¨ �A�����J�r�:�j����§j����� � �,�,� � � � 1�~ �K�
� ;�� �s � 3-�I1?�%3 � � � 1�~H�K�7� ;��4���s � 3-�I1?�%3��j�=�<� 
 � 1�~H�K�7� ;�� �s � 3-�I1?�%3��

 � 1�~ �K�
� ;��4���s � 3-�I1?� 3,��1 ���O � �4���s � 3.���t�����,���J���ª�3�I³0�j�2�=��¡=�ª����� 1�~ �K�
� ;�3,¨Æ©!�*�����N���%�����«����� � �����,����������� ��� � ���k¥
�=�����z�X��������1 ���O � �4���s � 3X���61�~�� �K����� ;���37¥7�I³.�j�2����¡=�ª�j¨;©x�L�,�%�z��£��U�j���j���[�������ª¡=�����ª�7�j�I���z���.�j�2���2���ª���%��Y � � �,�X 
�ª���
�i��� � ¿�¨A�A�%���.�����(���%�����!���e��( � �c�I1?�%3¯�����,���������e]^�$� 6 1?� ( 3ba � ¼A¨¯�Õ�=�z�����%����14�s �� 1?�%3  3ba 	®¼3�j� ]^�$� 6 1?� 3ba 	

»jÁ



¼����%�z�g]^�$� 6 1?�%3ba-1F1 ���s � 3-�I1?� 3  O3ba 	 ¼¢�j���%���� r�����t]^�$� 6 1?�%3ba-1F1 ���s � 3-�I1?� 3  �3ba � " � 1b�7�
5 � 1�~H�K�7� ;��4���s � 3F3-�I1?�%3baj¨����
�z�ª���%���r���j���j�=���%���2����� � �I1?� 3ba?� � � �����,�±��������� ��� �F1?�%3ba������=���ª�z�

]^�$� 6 1?� 3ba+1F1 ���s � 3-�I1?�%3  O3ba � " � 1b���?�
5 � 1�~��?�K���?� ;��?�4���s � 3F3-�I1?�%3ba �
·r�| ��(���%���.���������������U�j����§j��������(!� �c�I1?�%3_]^�$� 6 1?��((3ba 	 ¼A¨C�Õ� 14�s �� 1?�%3  O3ba�	 ¼ ���%�z� 1F1 ���s � 3-�I1?�%3  3ba 	 ¼
�j���%���� r����� 1F1 ���s � 3 � 1?� 3  3 a � " �F1b�7�
5)�F1�~H�K�7� ;��4���s � 3F3 � 1?�%3 a ¨
�Õ���z�ª�������[���j���± «�¢�¦�z���2�%�*����� � � 1?�%3 a � � �
�����,�±��������� ��� � 1?� 3 a �j�����[�����a���ª�z�(�������

1F1 ���s � 3-�I1?� 3  O3ba � " � 1b�����
5 � 1�~��?�K����� ;��?�4���s � 3F3-�I1?�%3ba �
©!�%���2���:�j���j� ���s � ���������F���z�±���%� �j���[�����2�ª¡=�������7���J���������2�j���¬�¢�U�j�����=��� Y � � �,�,¨ ©!�����±�����=�����z�n���=���¢�:�j� � �
�[�I�)a � A � � � �I1?� 3ba�� ���s � ����1 " � �b~��?�K� �?� ;���37¥7�j���[�������ª¡=���Q�j���±���z���J�,1 ���O � �4���s � 3 ��� � 1�~�� �K���?� ;���3,¨

�%�2��� ���%���j�=�����[�j���ª�ë�¦�j�UO"� � �j���±���%�L�J���5�����*���ª�ë�n�j�����¯ «���J�����������%�3�������dO"�1��� �O"�Õ���j�
�%�z�������z�G¨
©x���%�<�=�%�����%�±���j�j�������������J�A���z���%�z�����z�[�j���
�J�j�����z���.�����%�z�=�J�j�;�L���������%�±�J�����J���=�g�j�Q�j���J�*���z�=�%�z�

�%�z�[�j�=� ������¨ ©!�%���J�*���z�����z� �%�z�[�j�=� �����¦�J�A���z�����n���%�����z�[�j��� �����[���
�����J�j���.�j�2�����¢���%�U�j�2�[�������������
�ª�������j���C����¡��L�j�����A���������z�  
�ª��� �j� �j�������¦�j�;�J���������[�����ª��� �j���C�.�j�����:�����ª�±�=���j�G¨��%�j�2�¦�j���ª�j�X�ª���,1�~ �K�
� ;H3
¡.�±� ���2���J�±�j�����%���²�j���ª�g�2���������*�����z�¢¨ �X�×� 	 � ¿�¨�¶t��� s � ¡.��� �.�j�����U�����ª�¤�=���j���U�j�[���j�z�5����¨�½Q�<�=�%�
57 �� 1�~ �K�
� ; �Ks � 3-�I1?� 3ba 	®�[�I� 1 7 � 1�~ �K�
� ; �Ks � 3-�I1?� 3ba�� 6� 3t�j��� 55 �� 1�~ �K�
� ; �Ks � 3-�I1?� 3ba�¡5�3�����a���j�����%��7 � 1�~ �K�
� ;��Ks � 3-�I1?�%3ba
�������%���%�<�a���ª���ª���±�j�15 � 1�~ �K�
� ;��Ks � 3-�I1?�%3baL¡*� 57 �� 1�~ �K�
� ; �Ks � 3-�I1?� 3ba�¨ �%�j� 	=	 �S�0���%�����<�=���ª���ª���¢���z�[�j�����
���%�
���j���k¡=���
 
�ª�������%�k�J���¬§j�z�5���ª��� ������� 6� 	 ¼A¨����j� 	 � ¿��t���������������%��	 	 �S�.���%� 	.¥h�J�*���z�����z�¤���z�[�j���
�����!�U�j�
���j�z�5�#�(���

� �� 1�~ �K�
� ;H3 	
�����
���
� 1�O � �Ks � � 55 � � 57 � 3�� L G h G 9 l� G 9 l�

���������

1�O � �Ks � 3���� � 1�~ �K�
� ;H3��j�����U�j�
��§j����� Y�� ���,� �
55 �� 1?�%3ba!	 55 �� 1�~ �K�
� ;��Ks � 3-�I1?�%3ba �
57 �� 1?�%3ba!	 57 �� 1�~H�K�7� ;��Ks � 3-�I1?�%3ba

� ����
����
�

©x����§j����� 1�~H�K�7� ;H3���� { G � ������	.¥h�J�A���z���%�z� ���z�[�j��� �J�j�����z���0���=�%�z���J� �:�j�¢���j�z�5���¦�j�2���*���������z�±���%�
	.¥h�J�A���z���%�z� ���z�[�j��� ������� �� 1�~H�K�7� ;H3¦�j��� ���%� 	 � *0.�.�& 6�.u*'+K6 6��u+K6%!1�f6'� �f64(�*'!1� 2R$'&)&764.
T5$'!1�f6%!j2R6
�j�����A���������z�
���%�L����� � & � �� 1�~H�K�7� ;H3
� �2¨

�%�2�������%�«�=����§*�������ä�ª�z�¦�[�A�j�ª�¯���ä�z�j���L���3�����(���=���x�U�j�X�z�j�2��	Æ�j���������=�����%� 	�	��®��� �� �=�j�¯���������z�L�j�,���=�
��� 1 {�� � � 3 G ��¨Æ���±�j�����ª���ª�����������������%�ª�ä�k���2���J�Q�j���±�����U�j�����(�,���������*�����z� 1�~ �K�
� ;�3����������F���z�S~ ( ¼��j���
�>�)( ¼ 1U�:�j�:�8��� � ¿ 3,�I���%�z��� �� ���G���=�ª�:�j�,�[�ª�!¡.���������z�
1U�|§j����� 3.�����!�%�z�ª���5¡.�j�2�%�*�*�Q�j� 1�~ �K�
� ;�3ä���!���=���t¡5�
�;�2�j�0���2�ª���ª����½g¨ú���?¨iÁ���� �r�����%�z�¬¡=�2�j��� 1�¿��+5N¾ 3 1U�t¨ 5%$+3,� � & � �� 1�~ �K�
� ;�3
� �;���j�����ª�����z�[�j�2���=�n��� 1�~ �K�
� ;H3,¨ 0 �����%�
¡.�z���j�����r���%�
���z�j�������
���n���j�z�¬�������«�������[�ª�z����� � & � �� 1�~ �K�
� ;H3
� �;���«�L�J���5§j�J�n���%¡=�����;�j�fL G h G 9 l� G 9 l� ¨
�X�����j�����j�0�ª�3���Q�z�j�������������g���=���3����1�~ � �K� � � ; � �,O"�� �Ks �� � 55 �� � 57 �� 3#+ 1�~ �K�
� ;��,O"�6�Ks �6�
5 �6�,7 � 3
 
�ª��� 1�~ � �K� � 3r�j���

»��



1�~ �K�+3k�%�j�[��� � � �j�����ª��1�O �� �Ks �� � 55 �� � 57 �� 3 � � �� 1�~ � �K� � � ; � 3����%�z� 1�O � �Ks � �
5 � �,7 � 3�� � �� 1�~ �K�
� ;H3,¨/. � ©!�%�
�����ª�p�j�X���%�����j�j�����������k�J�*���z�����z�¢�%�z�[�j�����J�j�����z���.�����%�z�=�J���������¦���j�j���������������=���ª§A�������j�a�%�z�[�j���¢�j�=�±���%�
�j�����A���������z� �ª�����r�j���¤�%��¡��!�����*���z���¢���%�g���j�j�����������[�%�z�[�j�=���j�������%���J�j�2���z���.�����������[���j�j�����������[�ª�����Q�j���
���j�j�����������k�%��¡��!�����������z�J���%�����j¨

�*�z�J���=�G�*�����«���«�ª�5�j£����(���%�
�=�2���J�
�J�j���2�z���.�����%�z���J�Q�j���¦�����[�
�j�t�ª���«�����j�.�������ª�z�z¨Æ¹(���=�����%���z�¬�:�j�(� �%�A�z�
���j�j���������������z�[�j������� �0���,�ª�*���,�Æ�������²�����J�������C 
�=���2�
�j�����ª���=�L��� �z�j�2� ���2���J�����C�.���2���*�������%��§I�j���%�n�j�
�J�%�J�z�����%�z�[�j�=�G¨ �%�j�2�¦�j���ª�j�t�U�j�p��§j������	 � J���Z��j�=��	 �	
�®�G��§j�����\�Q�j���¤��§j����� 1�O � �Ks � 3 �
L � G h � �
�ª��� � �I1�OP�4�Ks � 33¸ 5{�� � �6+ 9t�«¡.�����ª§j�z� ¡5� 1�~P�4�K�>� 3�*+ 1�~P��1?�%3�� �I1?� 3S� �>��1?� 3Ds7�I1?� 3F3�@A � 6 �. 
�%������� ��1?� 3�	 Ou�I1?� 3 �
� & ! �� 1?� 3
� ��¨n©
�%��	.¥h���2���J�[�J�j�2���z���.�����%�z���J�[�����.���2�ª�A�\�?��� � � �r¸fLM� G hU�#+ 5{�� � �Õ�¯���p���ª§j�z�C¡5� 1�OP�4�Ks7� 3 *+
|�1�~P�6�K�>� 3�� 5{�� � �PB(1�~u�5�K� � 3 �±�������[�I� � �I1�OP�4�Ks7� 3u�t¨g©
�%��	 � Tj&) D2 6�2R$u&%&76%. T5$'!1�'64!j2 6G��� � ¸'L G h�+ 5{�� �
�j�����A���������z�n��� �z�j�,� 1�OH�Ks 3[���%������� � G��� 6 � � � ��1�OP�4�Ks7� 3,¨ ©ä�
���������=���¦�U�j�¦��§j����� 	 ��J � Z �j����	 �	 �S�
���%��	.¥h���,���J�Q�J�j�2���z���.�����%�z���J�p���j�
���ª�����z���j�2���=�±�j�=������£j�z�
�%���A¥h�z�[���7���j�����J���¬§j�J�¢§��j���%�z���������J���[�=�j�J�
�������ª�����k��� � ���ª�z�¬�g��� ���������¢� �²�j�J�������������g�z�j���
���¤�=���|§j� � �U�j����§j����� �2���2� 	®�j�����U�j�g��§j���2�g�?��� � � �
���j�3���ª�����z� �j�,���=� �j���¤����£j�z���%���A¥h�z���=�7���j�=�¤�J���5§j�J��§I�j���%�z�3�������J�����a�j�J��������¨L©!�%�k���������j�«���%�k���2���J�
�J�j�����z���0���=�%�z���J���������%���2�j���L�j���������
�j�¯�ª���
�J�����¬�����2�=�����
��������� 0 ���2�| �¥7½Q��¡����z�¢�z�J���%���L�j¨(�������%�p «�j�,���
�j��½Q��¡����z� 1�¿��jÀ��+3"1U�t¨iÁ�$+3,�Æ�����[���2���J�[�J�j�2���z���.�����%�z���J� ���������������L���%�j�¯ 
�%�z� ���2�*�����±�������z���=�J�[�.�����ª���ª§j�
�J�%�J�z���3�%�z�[�j�����z�=�����=�%�!���%�� «�z�����¬�Q�j�Æ���%�g���2���J�L���*�����z� �������%�����k�J���[���A���ª���ª�z�
�:�j�Q 
�����,�¢���%���J�A�J�z�2�
�%�z�[�j�=�±�������%�p�j���z�����z����¨
�

©!�=�ª�2�G�*�ª���������ª�5�j£n�������%�p�%���U�j�=�ª�«�,�������J�j�����z���.�����%�z�=�J�Q�j���������[�Q�j�¯�ª���������j�.���������z��¨��X�×� 	�� ¿p�j���
	 �	��S¨ ���j�
�z�j�2� 1$5 �,7 3���� � G � � �ª��� 57 � 	®�[�I� 1 7H� 6� 3��j���¢�����	� � 1$5 �,7	3 	 | �[��� 1 =
?�� �z¿ 3 � ¨ 0 �����%���ª���

� � 1$5 �,7 3�	
�����
���
�
|a�[���	1�=? �z¿ 37� �ª� 7 � ¼ �
�¬¿R� �ª� 7,	®¼[�j�=� 5�� ¼ �
� ¼ �z¿�� �ª� 7,	®¼[�j�=� 5=	®¼A¨

©!�%�z�t�t�:�j�L��§j����� 	 � ¿¦�j��� 	 �	 �S�
� � ���p�¢�J���5�����5�������L�J�j���2�z���.�����%�z���J�� 
�������%���A¥h�z�����ë�j�¯�J���[�=�j�J�
�j���±�J���5§j�J�±§I�j�����z��¨ 0 �����%���ª�������z�j�������¦�����p�������	� � ���j�����������z�±�j�2���=�±�j�=������£j�z�
�%���A¥h�z�[���7�j�=�J���[�=�j�J�
�j�����J���5§j�J��§��j���%�z�z¨ �%�j����§j����� 	Æ�����������������%� 	 	 �®�;���%� 	.¥7�%���²�j���ª�g�2�����¢�J�j�����z���.�������z���J�±���C�.���2���*�
�.	�¿���� � � 6 ¸�1�9ml 6 36� G 1�9ml 6 36��+ � 6 �t���Q���%���J�j�����z���.�����%�z�=�J�� 
�=���2� ���Q���%�z�5�������j���ª� �����2�¢�j��� �����.���2���*��!� »*��� � � � ¸ 1�9 l� 3 � G 1�9 l� 3 � + � � �G���
���%�g�J�j�2���z���.�����%�z���J�g 
�����2���j�2���*���������z�3���n�z�j�,� 1$5 � �,7 � 3!���%�k�����Ga � A � � 1$5 � 1?� 3 a �,7 � 1?�%3 a 3,¨ ©!�%� 	 � �f6
"%*'15V�+ &7*'+K6k2 $'&)& 6%. T5$'!��f64!j2 6.��� � ¸S9ml� G 9 l� + ���;�j�����A���������z�g���
> 
 È�ÓÆàÐÝXßIÌÕÎiÍ|Ô×ÖNÎ�ÓhØ
æJÌ�ÌÕÍLàÐÜLÊ�àÐÜ�Ë3ÓhßIÌ�Ì�ÎÐÌ�Ê�Ì�Ü�Ó7É2ÒeÏpÔ×É,ãÕÓ¯Óhß�É2Ó¯Ô×Ø,Ò�É!ÝeÌ�î�ÖIÌÕÜIã�Ì�� ��� C G è¬àúÔ �0Ì(ÎÐÌÕÓ��� � 1 Ê!É ��ù�� � / Ç� ýäÓhßIÌ�Ü

�� ��� ����� ��� �Aå

$�¼



�z�j�2� 1$5 �,7 3(���%�L����� � G��� 6 � � � ��1$5��4�,7p� 3,¨
�%�2��� ���%�¢�=���j�.�������ª�z���j� � � ���ª�[�U�����ª�N 
�k�������¦�U�j�[��§j����� 	Æ��� � ���j�¦���ª�����z� �j�2���=� �j��������£j�z���%���A¥

�z�����ë�j�x�J�����a�j�J�L�j��� �J���5§j�J��§I�j�����z��¨ 0 �����������¦���j���[�j�(���%��	.¥h�J�A���z���%�z� �%�z�¦�j�����J�j�����z���.�������z���J�j�t�ª�
���p�z�j���¤���¤�����[�������L�:�j�g�j�¬�����z°*�%�z���J�91$5 � �,7 � � ; � 3���9ml� G 9ml� G ���x����1$5 � �,7 � � ; � 3 + 1$5 �,7H� ;H3��j���
; � � � � 1$5 � �,7 � 3X���%�z� ;�� � � 1$5 �,7 3,¨;©!�%�!�2���ª���j�.���%�r�%���²�j���ª�Æ�,�����
�J�j�����z���.�������z���J�
���Æ���������
���j�j�����������
�ª�����
�j���±�%��¡��
�������%�p�z�J���%�����±���¦�J�����=�%���L���%���%���²�j���ª���2�����j¨

©!���z���¦���%�2�����J�j���2�z���.�����%�z���J�z�g�����[�¦���2�(���[���%�����z�ª��§��j�5�g�����:�j�2�¦�����ª���C���C���%���z�J���%���L�j¨�©x���z�=���%���
�����������%�����z�[�j���±�J�j�����z���0���=�%�z���J�3����£j�z�
�%���%¥h�z�����7��§��j���%�z���j�����������
 «�������p (�j��£A���%�k 
�ª���±���J���[�=�j�J�
�j���¤�J���¬§j�J� ���=�j�J�j�G�ª���Q���r�,�%�z��£��������Q�:�j�3�j�¬�&�%�*�z� 	"��J`��Z �j��� 	 �	 �®�a 
���z�¢���2���J�z�r�j���¤�%���²�j���ª�
�2�����z�;���2�!��� 5{�� G ���j���%���j�J���ª�����Æ�j�0���j�z�¬���«�j���k���%�����5�����j�2�j���X�j�0���%�z���!�j�J���ª���=�Æ���ª�����k���%�*�z�t���%���A¥h�z�����ë�j�
�J�����=�j�J�Q�j���±�J���5§j�J�����%¡=�������j�Æ��µ«���������%�z�j�±���=�j�J�j�=���������0�z�=�%�z�¬�(�j�X�z�ª�z���z�5���
��� 5{�� G ��¨

©!���r¡.�������[�����j�2���������j�ª�z�(���%�| r�«���=���(�����Q�����(�j�ä�j���¦�������ª¡a�ª���.�j�����:�����ª�������«¡.�������%�z�¦¡.�z�ª�| ®�����%���.�z�A¥
�%�z�5�;�j� ���A�����%���.�z���%�z�5�¯�j�0�=�2���J�z�;��� 5{ � �*�����%���.�z���%�z�5�¯�j� ; �j�=�[�����%���.�z�����z�¬�X�j� 	 1 	 �	�� 3,¨ 0 �����%�*�������J�
�j�����������,���J�z�������p�����2���J���ª���.���������ª§j�j�5�����3�����(�j�¯�I³0�j�,����¡=�ª�Q�.�j�����:�����ª���«����¡.���������z�n��¡.�|§j�j¨ �A�����J�3��������§*���=���j�
�z���%�N 
���z�5���¦�����¢����� ¡.���������z�
���������������k¡.�����������j� ¡0������£j�z� ���=�%���.�z���%�z�5���j� ��¨®©!�*�����������������¦�j�
�I³.�j�2����¡=�ª�g�j�����j�=�[��������¡=�ª�p�.�j�����U�����ª�[�=���j���!�j�������%�z�ª�Q���¬�����j�,�j���r���ª�z�
�����n�����A¥h�z�����ë�j�0�J�����a�j�J���.�J���5§j�J�
����� 5h � qnh  
�=���2�±���!¡0���=���%�z��¡.�z�ª�|  ���=�%���.�z���%�z�5�«�j� 	Æ¨

Ã(�����<�=���ª���ª���t�|���%�������X�j�=�J�������=�������ª�����=���j���x���x¡0���=���%�z��¡.�z�ª�N  ¡*�L¼A¨A�A���=�J�«�����=�ª§*�������j���z���%�N 
���z�5���
���ª�;���p��¡.�������%�z�p�����x�j���p���%�������t�j�%�I³0�j�2�=��¡=�ª�;�.�j�����U�����ª���=���j�=�G���G¡.�������%�z�
1²�����%���.�z���%�z�5�a�j�4���=1�~ �K�+3 � 5{��
�j��� ;H3,�����%�������Æ�j�a�I³.�j�2����¡a�ª�(�J���=���������������L�=���j���x���x¡.�����=�%�z����¡.�N§j� 1²�����%���.�z���%�z�5�ä�j� ��� 1�~ �K�+3 � 5{�� �j���
;H3,¨;©!�5�=���5�����r�����(�j�t�I³0�j�,����¡=�ª�Q�J�����������=���ª���[�=���j���;�j���n���%�z�ª�(���¬�����j�,�j���«���ª�z�����n�������A¥h�z�����ë�j�*�J�����a�j�J���
�J���5§j�J������� 5L � qyL� 
�=���2�±���!¡0���=���%�z��¡.�z�ª�|  ¡*�±¼A¨

0 �����%�(¡5���%�<�=�=�ª���ª���G�;�ª���2���:�2��� �j�¬�����j�z�5�¦���k¡.�������%�z�
¡.�z�ª�N  ¡5��¼A¨ �A���=�J�������¢�����[�j�3�I³0�j�2�=��¡=�ª�
�.�j�����U�����ª�¤�=���j���k���k¡.���������z� ¡.�z�ª�N  1²�����%���.�z�����z�¬���j�-��� 1�~ �K�+3<� 5{�� �j����;H3,�(�������k�:�2��� �j�¬�����j�z�5�¦���
¡.�������%�z�®��¡.�|§j� 1²�����%���.�z���%�z�5���j� ���
1�~ �K�+3"� 5{�� �j��� ;H3,¨ ©!�*�����Q�0�j���z�5�����j�p�ª���2�±�:�2��� ���j�z�¬���¤�j���
�.�j���z�¬�����j�¯���j�j�2���������n�ª�����3���¤���%�k�z�J���%����� ���ª�k��� �������A¥h�z�����ë�j�t�J�����=�j�J���x�J���5§j�J������� 59 � q�9ml¢ 
�����2�
���3¡.���������z��¡.�z�ª�N  ¡5� ¼A¨"�A���[�������2�ª�j�0�0�j���z�5�����j�Æ�%��¡=�Q�N «�z�C�������j�z�5���L�j��� �.�j���z�5�����j�Æ���j�j�������������%��¡��p���
���%���z�J�������L�����ª�����¢�[�����A¥h�z�����ë�j�0�J�����a�j�J���a�J���5§j�J�����%¡=�����!�j�U9ml=¨«�Õ�Æ�%�z�J�z�������2�j�a�ª���
�=�!�����=���j�J� 59 � ¡5�
�±�������j�����J���[�=�j�J���¯�J���5§j�J� ���%¡=�����Q�j�89ml¢�������L���r¡.�����=�%�z�¤¡0�z���|  ¡*�&�������¢���¢�J���=�������%�k�������p�.�j���z�5�����j�
�%��¡����N «�z�����¦�j�5�����j�z�5�r�j�=�±�.�j���z�¬�����j�ä���j�j�����������g����¡��!�������%���z�J�������L�¢�j�����[���ª�p��� 59 � ¨

©x�¦�����¦�[���2�(���j�A�U�j��	�� 1bJ�� ZO3��j�=� 	 �	��S�%��� 5{�� G ���%���%�������
�j�¯���=���ª§A�������j�a�J�����������=���ª���±�j���
�.�j�����U�����ª�k�=���j�����j�=�����%�z�ª�
���5�����j�2�j�������ª�z����� 5L � G 5h � �j�������%�L�����
�j�x�.�j���z�5�����j�t�ª�����z�%�0�j���z�5�����j�t����¡��!�j���

$A¿



���%�z�ª�!���¬�����j�2�j���!���ª�z����� 59 � G 59 � ¨
¹(���=�����%���Æ���%�Q�J�j�����z���.�������z���J��� � ��� 5{�� G � G 5L � G 5h � G 59 � G 59 � ���ª§j�z�n¡5��� � 	�� 6� G ��.� G � :� �

 
�%���2�j��� 6� ¸ 5{�� G � + 5L � G 5h � G 59 � G 59 � ���x����§j�z�k¡5��� 6� 1�~ �K�
� ;H3�	�� & � �� 1�~ �K�
� ;H3
� ����� .� ¸ 5L � G 5h � +
5{�� ��������§j�z��¡*��� .� 1�OH�Ks 3 	�� � 1�O �Ks 3!�j������:� ¸ 59 � G 59 � + � ���!���ª§j�z��¡*����:� 1$5 �,7 3�	�� � 1$5 �,7	3,¨r©!�%�
�����j�.���������z���j�¯�����p���%�����L�J�j���2�z���.�����%�z���J�z������§j�z�¢�z���2�������!�����=�ª�¦�������	� � wz}%y��Uw�
 � w[y � � �
� � U=y � � w � wLUAW
� }����ty|}�� ���ªw±y � � Ua{ �/� ¨ �%�j���z�j�2� 	 � J�� Z �j����	 �	
�S�x�ª���"1�~ � �K� � � ; � �,O � �Ks � � 55 � � 57 � 3r¡.��� �%�A�z�
�.�����5�Q�j��� � ¨¦¶t�������p�2�%�z�2£��������� (�¦���j� �j�����¢�J���¬§j���2�j�z�¬�k���%¡=���z°5�%�z�=�J���:����� �������p���z°*�%�z���J�[�j� �%�A�z�
�.�����5�����j���±���%�L�����[�ª�(�j�x���=���!���%¡a���z°5���z���J�3���ª§j�z�
���
�j�±�z°5�=�����ª¡��,�����±¨

'Q¡*§A�ª�������ª�j�	1�~ � �K� � � ; � 3«���(�g¡0���=���%�z�¦���z°5�%�z�=�J�j¨ �A�����J��1�O � �Ks � � 55 � � 57 � 3 � � & � �� 1�~ � �K� � � ; � 3
� �2�%���%�����
�J�%���������%�U�j�
�j���������!��§j����� ���O1�O �� �Ks �� 3 ��� � 1�~ � �K� � � ; � 3(�����,�±�������

1�O � �Ks � 3 	��
&
1�O �� �Ks �� 3
� � � 55 � 	��

&
55 �� � � �j��� 57 � 	��

&
57 �� � � �

�r�����j� 1 55 �� 3 � 1?� 3 a ���g���%�j�����:�j� 55 �� 1�~ � �K� � � ; � �Ks �� 3 � 1?�%3 a �j��� 1 57 �� 3 � 1?�%3 a �:�j� 57 �� 1�~ � �K� � � ; � �Ks �� 3 � 1?�%3 a ¨�©x� �����
������� 1�O � �Ks � � 55 � � 57 � 3�����¡.���������z�G�%�ª���!���!�����p���%�p�:�����ª�| 
���%���ª�z�[�[�A¨

������� }�� 	 1�O � �Ks � 3 � " � � ;�7/0A�E
�� "N
��N7 
�0A�B
 )

T {IUVU
W ¨�¶t��� � �� 	kO �� � !-�ä�j��� � � 	�� & � �� � ��¨;©!�%�z�t�*�ª�(���(��� � ���ª�z�5�������,�%�z��£n��������1 � � �Ks � 3;���«��¡.�������%�z�
���z°*�%�z���J�j¨ 0 ��� �� � � 1²���%� � !#� 3��j�=�Qs �� � � 5s�� � �� �j�=�Qs �� �����L�=���ª�U�j�2�[�ª�91U�U�j�r�j���������!��§j����� � 3(¡.�������%�z�
¡.�z�ª�| L�21 � � �Ks � 3X���Æ¡.�������%�z�k¡.�z�ª�N �¨����j�(�%�=�0���X¡.�������=���j «�Q���j�¦�����!���������J�������k���m�5¿�������� ���_�r�j���U�����ª�N 
���
� �(
a? ��� ��	�¿�¨ ���k (�j�5�3���������g���=�����G�:�j�Q��§j�������¬� 1F1 � � 3 6 1?�%3&� 1bs � 3 6 1?� 3F3r���r¡.�������%�z����¡.�|§j�j¨�·r�j�����J�

����������¡*��� .� ���U�j�!��§j����� 1F1�~ (� 3 6 � 1b� (� 3 6 3�� 5{ � � 6 �j�=����§j���������
1�~ (� 3 6 1?� 3D1 � � 3 6 1?� 3�� 1b� (� 3 6 1?�%3D1bs � 3 6 1?� 3 � �

&
1�~ � 3 6 1?� 3D1 � �� 3 6 1?� 3�� 1b� � 3 6 1?�%3D1bs �� 3 6 1?� 3
� � 	 ¼ �

�X�×�Q�L����¡a�ª���2���2�����[�j���¢�ª��� 1F1�~ (� 3 6 1?�%3&� 1b� (� 3 6 1?�%3F3 	 1 �  � N � l  6 �� � 6� �>C>C>C � 6� � 6� �>C>C>C � 6� 3,¨�©!�%�z�G�
	 � 1bJ��nZ � ¿ 3

	 1 � � 3 6 1?�%3 6 � ¿
	 1�� � & ! � 6 1?�%3
� ��� 6 � � � & 5s 6 1?� 3
� ��� 6 3&�

©!�*����� 1 � � 3 6 1?�%3 6 ���(¡.�������%�z����¡.�|§j�j¨«­Q�����������%���2�j���������������z�5�� 
�ª�������ª³0�����z�5�����������J�z�( (�������p���������%�U�j�
��§j�����IH���Y%��1 � � 3 6 1?� 3XW!�j��� 1bs � 3 6 1?�%3ba������L¡0���=���%�z����¡.�|§j�j¨ �%�����J�_����������¡=�ª���,�����j���������C¿������J�����=�ª�����j¨� �(
a?���� �B0A�>73� ����;>0 ¨��A�%���.�����«�������;�U�j�Æ��§j�����M��� 1F1 � � 3-�  6 1?� 3&� 1bs � 3-�  6 1?� 3F3¯���¯¡.���������z����¡.�|§j�j¨ ���
 (�j�5�
���¦�������������!�U�j�
��§j�����Q�¬�O1F1 � � 3-�I1?�%3&� 1bs � 3-�I1?�%3F3�����¡.�����=�%�z����¡0�N§j�j¨(·r�j�����J���������
���%���������.������¡=���Q���=�J���������
�.���2�ª�A�I�,�����������x���%�j�Æ�j���[��������§j�����±���j�z�¬�Q���������F�=�z�

� � 1�~ � �K� � � ; � �Ks �� 3-�I1?� 3 � 1�~ � 3-�I1?� 3 ! �� 1?� 3�� � ]^�I1?�%35� 1b� � 3-�I1?� 3 � 1bs �� 3-�  6 1?�%36� �
$j»



0 ���j���G�%¡*��� .� ���U�j�!��§j����� 1F1�~ (� 3-�4� 1b� (� 3-� 3 � 5{�� � �Æ�j���±�U�j�!��§j�������¬�
1�~ (� 3-�I1?� 3D1 � � 3-�I1?� 35� 1b� (� 3-�I1?�%3D1bs � 3-�I1?� 3 � � ]^�I1?� 3�� 1b� � 3-�I1?�%3 � �

&
1bs �� 3-�  6 1?� 36� � � �

�X�×�Q�L����¡a�ª���2���2�����[�j���¢�ª��� 1F1�~%(� 3-�I1?�%3&� 1b�/(� 3-�I1?�%3F3 	 1 �  � N � l  6 �� � 6� �>C>C>C � 6� � 6� �>C>C>C � 6� 3,¨�©!�%�z�G�
	 � 1bJ`�nZ � ¿ 3

	 1 � � 3-�I1?�%3 6 � ¿
	 1�� � & ! �� 1?� 3
� ��� 6 � � � & 5s ��1?� 3
� ��� 6 35� � ]d�I1?�%3�� 1b� � 3-�I1?� 3 � �

&
1bs �� 3-�  6 1?�%36� � � �

©!�*����� 1 � � 3-�I1?�%3 6 ����¡.���������z����¡.�N§j�j¨«­Q�����%�k���%�L�2�j���������������z�5�� 
�ª���±�=�×³0���2�z�¬�!���=�����J�z�( «�������p�����������U�j�
��§j�����IH���Y%��1 � � 3-�I1?� 3XW!�j��� 1bs � 3-�I1?�%3ba����2��¡.�������%�z����¡.�|§j�j¨ �A�����J������������¡=�ª���,�����j���������¤»k���!�J�����=�ª�����j¨

�%�2��� ���%��¡0���=���%�z���%�z�2�.�j�	1�O � �Ks � 3,�� (�����j�����z�����J�;������� 1 55 � � 57 � 3G���t�!¡.�����=�%�z�p���z°*�%�z���J�j¨X©!�%�������U�j���j�
���%� ���z°*�%�z���J� 1�~ � �K� � � ; � �,O � �Ks � � 55 � � 57 � 3�����¡0���=���%�z�G¨ �!���=���j�����%���������¢���z°5�%�z�=�J�� 
�ª��� � �J���5§j�����j�z�5�
���%¡a���z°5���z���J�j�t���%���.�����g�������p�������Q���z°5�%�z�=�J�[�J���¬§j�����j�z�L��� 1�~ �K�
� ;��,O �Ks �
5 �,7 3,¨¦©!�%���%�J�A���ª�z�[�¦�������=���ª�z�
�������j~ ( ¼A¨

������� } � 	4+.-3
H"�
��N7

'0A�%
 1�~ � 3 � " � ;�7/0A�E
�� � � ��$ 9%�G;�� ¼ )

T {IUVU
W ¨«¶t���

� 6 	 < � ��� �� �U�j�
�j����	 � 1�O �� �Ks �� 3 �
� � 1�~ � �K� � � ; � 3 F �j����� . 	���� ��� ����
�:�j�
�j���fH � � �,� �!���%�� 1�O �� 3-�I1?�%3XW�� ���D�

©!�%�z� �A1�� 6	� � . 3 	 �A1	� 3,¨A�X�×�I� �,�(����¡a�ª���2���2�����j¨¯©!���z���������(�2� � ���ª�z�5�����������|§j�p���=��� 1�~ � 3-�I1?�%3(���(¡.�������%�z�
�z ��z�±�U����� ¼A¨

�A�����.����� 1�~ � 3-�I1?� 36+ ¼A¨�©!�%�z�t�5¡.�z���j����� � 1F1�~ � 3-�I1?�%3&� 1b� � 3-�I1?�%3F3 � 6 	�¿������(�g������¡.�3�������i�8��� � ¿p�j���
�j�����±���=���p���%�����[���cY��j��� � 1U���z����¡.�z�ª�z��3!����¡=���z°*�%�z���J�[�����,� �������p�U�j�L�j��� 	Æ�A1b� � 3-�I1?� 3ba<� 6

. l ¨�©!�%�������U�j���j�� : 	 < ����� �� ���%� � " � 1b� � �
5 � 3-�I1?� 3ba<� ¼ F �������������z�<�A1�� : 3 � ¼A¨�©!�=���������a���ª�z�p�������
� 6�� � . � � : ���g�%�j�
�z�����ë�j¨ ���j�g�z�j�,�9�p��� �����������5�����2���z�J�������G�Æ���j�z�¬� �p���j�
¡=�%� ���%�������ª�L�[�j���n�j���z�j�,���j�5�A�
���C�.���2���*���?�
���������\��¡*� ���ª§A���%���%� �j� ����¡=�ª���2���,���ª� ���[�j�����j�������5���j�Q�J�����2���������ª������� �.���2���*����� ¿������������\�¬¨ Ã��%�
���%�z�G�.¡*�¢���������%�������%�j�����=�����ª�7�¤�j���¤�J���¬�����*���ª�ë�j�.�:�j�p�j��� 	 ��� � ���ª�z�5���ª�¢�������j�j�. (���j���p���J���¬���2�j�=���J���ª���¤���
1�O �� �Ks �� 3 � � � 1�~ � �K� � � ; � 3,¨�©!�%�������U�j���j� 1�~ � 3-�I1?� 3 �+ ¼A¨;�Õ�����=�������j�������%�������J�����3�j�¯�j������������§j�����±���j�z�5�
���
¡.�������%�z�¤�z ��z� �U����� �������%¨�­Q�����%�����%�[���j�����������=���z�¬���j�L���¤���%�������j�������2� 0 �����N �¥7½Q��¡����z�����A�%�z�e�. (�
�J���������=�%�p������� 1�~ � 3-�I1?� 3(����¡.�������%�z���z ��z�±�U����� ¼¦�j�
�%�z�������z�G¨

©!�=�����ª�z�[�¦�¢�����=���ª�z�3�������c~8( ¼A¨�¹(���L¡a���%�z�� 
����� ���%�[�²�j�J� 1²�����¦���2�5�j���j�����%�¦�U�����ª�N 
���%�¢���z�[�[�-3
�������p�U�j�p��§j����� Y � � �,�,�ä�����>��1?�%3ba�	]¼����%�z� � & 1bs �� 1?�%36� 3ba � � 	 � & 1bs �� 1?�%3  O3ba�� � 	=s �I1?�%3ba 	 ¼A�ä�ª�3�U�����ª�N 
�Q�������
1�O �
� �� �Ks �
� �� � 55 �
� �� � 57 ��� �� 3
���r���������:�j�2�¦�ª��¡0���=���%�z� 1U�U�j���j���������Q��§j���2� � 3Q�j��� ���=�ª�:�j�,�[�ª�����¬�����j�,��¡=�ª�����z°*�%�z���J�
�������������a�������%�k¶t�z�¦�[��½g¨ú���,¨8$k�����r�����%�z�¬¡=�2�j���91�¿��+5N¾ 3 1U�t¨iº��+3,�� (���J���������=�%�p�����������%�����������j�±���¬�����j�,��¡=�ª�

$�$



�²�����J���ª��� 10�O � � �s � � �5 � � �7 � 3 �$% & �����,�±�����������U�j�
�j������������§j����� ���
10�O � �)�s � � �5 � � �7 � 3 �QJ�� � 1�O �� �Ks �� � 55 �� � 57 �� 3 �j��� �

&
10�O � �)�s � � �5 � � �7 � 3
� � 	 1�O �Ks �
5��,7	3&�

�r�����j�eJ�� � ���L�����n�����k�j�!���������������.�����5���L�j�����������z°*�%�z���J��1�O"�� �Ks �� � 55 �� � 57 �� 3,¨ �%����� ���2�j�0���2���ª�z���j�����%� 	.¥
�J�A���z���%�z�����z�[�j�����J�j�2���z���.�����%�z���J�j�= «�g�J�����������%�L������� 10�O � �)�s �6� �5 �6� �7 � 3 � � �� 1�~ �K�
� ;H3��U�����  
�����,�¢�ª�!�U���×¥
�ª�N 
�¯�������Æ�:�j�Æ�j���[�����X��§j�����<�G���%���2�(�J�%�������61�O � �Ks � 3�� � �F1�~ �K�
� ;�3Æ�����2�g�������61�O �5�Ks �5�
5)�5�,7 � 3�	 10�O"�5�)�s �6� �5 �6� �7 � 3
�j��� � & 1�O � �Ks � �
5 � �,7 � 3
� � 	 1�OH�Ks �
5 �,7	3,¨

¶ä���n���[�,�%�z��£����=��� 1�~ �K�
� ; � 1�O � �Ks � 3 �$%'& 3k���[�j� �z°*��������¡��2�����¢¨ �A�����J�j���U�j�n�j���[�����[��§j�����8����1�O � �Ks � 3,�
� � 1�~ �K�
� ;H3,�ä���%���=�2���3�J�������ª���ª��� ���¤���%�[���<�=���ª���ª�����j�(�z°5�������ª¡��2����� ���p�������������z�G¨L©x�¢�������������p���%�[���z�J�����
�j���±���=�ª�2���J�������ª�����������������%�L���<�=���ª���ª�����j�¯�z°5�=�����ª¡��,�����]���2�L���������F�=�z�G�%�ª���
���������p���%���U�����ª�| r���%���ª�z�[�[�A¨

������� } � 	
�.;�� 
�=�
'�%$ �i��� � ¿ �>0A� 
'=�
��B$ Y�� �>J � ��1?� 3�	®¼ � s �I1?�%3 	®¼ ��0A� ;3�$� 6 1?�%3ba 7p�$� 6 1?� 3ba 	
5 �$� 6 1?�%3 aE)��.;�� ��	 � ��0A� 
'=>
'�%$ �8J � � 1?�%3 	®¼ ��0D� s � 1?� 3 	®¼ )

T {IUVU
W ¨«¶t���!�=�!���������=�����J���ª�������`�5¿��������H��� � ¿R�k�j���:�����ª�| 
� �
� �(
a? ��� �2	 ¿�¨ ���¦ ��j�¬�L���������[���=�����x�U�j����§j������Y�� ��� � 6 1?� 3 	 ¼ �_s 6 1?� 32	 ¼A�X�j��� ; . 1?� 3ba 7 . 1?�%3ba 	

5 . 1?�%3baj¨ �X�×�Q�L���2¡=�ª���2���2���ª�j¨ �%����� ¶ä�z�[�[�"$*�� (�L�����L�������	� 6 1?� 3E��¼[�j���Qs 6 1?� 38� ¼A¨
0 �����%� ~ 6 1?� 3�� 6 1?�%34�\� 6 1?�%3Ds 6 1?�%3 	®����� � � & 1�~ � 3 6 1?�%3D1 � �� 3 6 1?�%34� 1b� � 3 6 1?� 3D1bs �� 3 6 1?�%3
� � 	®¼A¨«¹(����¡=���%�z�[ 
�ª���

~ 6 1?�%36( ¼ �K� 6 1?�%3�� ¼ � � 6 1?� 3E� ¼[�j����s 6 1?�%3E� ¼A�a «�L�=�z§j� � 6 1?�%3 	 ¼[�j���±�U�j�
��§j�����;Y��=�ª�U� 6 1?� 3ba � ¼[���%�z�
s 6 1?�%3ba?	 ¼A¨ 0 �����%�G�ª�e� 6 1?�%3ba?	�¼n���%�z�¤�:�j�3�j���������Q��§j����� ��� 1bs �6 1?�%3  �3ba?	 ¼����n���=���3¼ � � & 1bs �6 1?�%36� 3ba�� � 	
� & s �6 1?�%3 a � ���ys 6 1?�%3 a � ¼A¨

©x���%�z�=���J�!�������«�:�j�«��§j�����_Y%�0; . 1?�%3 a 7 . 1?� 3 a 	 5 . 1?�%3 a �5���j�����J�
�������(¼M�85 . 1?�%3 a �97 . 1?� 3 a ¨Æ©!�%�������U�j���j�5���
7 . 1?�%3ba!	 ¼A�*�����z� ; . 1?� 3ba 7 . 1?�%3ba!	 5 . 1?�%3baj¨�'3���%���� 
�����j��; . 1?� 3ba?� � � 1$5 . 1?� 3ba��,7 . 1?�%3ba 3 	 | = > � A � -?

> � A ��- �x¨ �%�����J�r�
��������¡a�ª���2�����j���������
¿p���!�J�����a�ª�����j¨
� �(
a? ��� �B0D��7 �N���C;�0 ¨��A�%�=�0�����Q���=���
�U�j�
��§j�����;Y�� ��� � �  6 1?� 3 	 ¼ �rs �  6 1?�%3�	 ¼ � ;3�I1?� 3ba 74�I1?�%3ba 	 5��I1?�%3baj¨

���¦ ��j�5�L���������¦���������:�j����§j������Y � �¬�
� �I1?�%3 	�¼ ��s �I1?�%3 	 ¼A�X�j�=� ;5�$� 6 1?�%3ba 7p�$� 6 1?� 3baD	 5��$� 6 1?�%3baj¨��X�×���
����¡=�����2���2���ª�j¨X¶t��� 1F1�~ (� 3-�I1?�%3&� 1b� (� 3-�I1?� 3F3 	 1 �  � N � l  6 �� � 6� �>C>C>CH� 6� � 6� �>C>C>C � 6� 3,¨�©!���z�G�%¡5��� .� �% «�L�=�z§j�j�

1�~ (� 3 � 1?� 3D1 � � 3 � 1?� 35� 1b� (� 3 � 1?�%3D1bs � 3 � 1?� 3
� � & � � 1�~ � �K� � � ; � �Ks �� 3-�I1?� 3 � 1�~ � 3-�I1?�%3 ! �� 1?�%3
� �
	 � & �[�I� 1F1�
 � � 3 � 1�~ � �K� � � ; � �Ks �� 3-�I1?�%3&��¼-33� � � 1�~ � �K� � � ; � �Ks �� 3-�I1?�%3 � 1�~ � 3-�I1?� 3 ! �� 1?� 3
� �
	 � a � � & 1$5 �� 3-�I1?�%3ba�� � � 1 ; � 3-�I1?�%3ba � & 1�~ � 3-�I1?� 3 6 � ]^�I1?� 3ba8� 1b� � 3-�I1?� 3ba � 1F1bs �� 3-�  6 1?� 36� 3ba�� � ��
1�~ � 3-�I1?�%3 6 � ]d�I1?�%3�� 1b� � 3-�I1?� 3ba � 1bs � 3-�  6 1?� 3
	 � a 1$5 � 3-�I1?� 3ba � 1 ; � 3-�I1?�%3ba-1 7 � 3-�I1?� 3ba8� �×¿ � 1 ; � 3-�I1?�%3ba � 1�~ � 3-�I1?�%3 6 � ]d�I1?�%3ba�� 1b� � 3-�I1?�%3ba � 1bs � 3-�  6 1?�%3ba �

$I¾



�Õ�r�U�����ª�N 
�
���=��� � ��1?�%3 6 	 ����� � 1 � � 3-�I1?�%3 6 � ¼A¨3­Q�������¦���%�k���j�������������[�z�¬�Q 
�ª���¤���×³.�����z�5�Q���=�����J�z�! (�k�����
�������	� ��1?�%3i� ¼[�j�=� s �I1?�%3i� ¼A¨

0 ���j�ª�j�j���������L��������¿��5 «�r���z§j�j~u�I1?� 31( ¼ �K� �41?� 3 � ¼ � � �I1?� 3i� ¼ �Ks �41?�%38� ¼A� ~u�I1?� 3�� ��1?�%3 �m�>�I1?�%3Ds �I1?�%3 	®¼
�j�����>��1?�%3ba 	 ¼ � s �I1?�%3ba 	 � & 1bs �� 1?� 36� 3ba � � 	 � & 1bs �� 1?� 3  �3ba � � 	 ¼A¨k©!�*����� � �I1?�%3.	]¼��j�=��s �I1?�%3.	]¼A¨ 0 �
����������� ¿��t «�n���������������U�j����§j�����QY%�x¼�� 5��$� 6 1?�%3baI� 74�$� 6 1?�%3ba[�j��� ������� ;5�$� 6 1?�%3ba�74�$� 6 1?�%3ba 	 5��$� 6 1?�%3baj¨
�A���=�J� �L��������¡=�ª���,�����j�%��������»g�����J�����=�������j¨A�X�����j���ª�j�*���%���������=���z�¬�!�2�%�| 
���%� � � 1?�%3 	®¼��j��� s � 1?� 3 	 ¼��j�����
 (�j��£*�!�:�j�c��	n��¨

©!�=�����ª�z�[�¦�¢�����=���ª�z�3�������g���%�n���z�J���=� �j���C�����ª�2�C�J�������ª���ª���=���������%���%�<�=�������ª�����j���z°*�������ª¡=�2����� �����
�j�����±���������F���z�G¨p©!�%���2���:�j���j�A1�~H�K�7� ; � 1�O � �Ks � 3 �$% & 3 �Uw±} � � � � ��� �Uv¯{ � � � ¨�©x�¢�����k�������3���%�����z�J����� �������j���z�
�������2���j�=�ª���!���!�=���p���%�p�U�����ª�| r���%���ª�z�[�[�A¨

������� }�� 	 � 7 ?E?/;I"�
*�2-/
'��
 � " ���,� "%73��-4�2-��>� �>�I1?�%3�� ���%� � !#�� 1?�%3 )*+.-/
'0!9�;�� 
'=>
'�%$ Y/J1;5��1?�%3ba � ¿ )

T {IUVU
W ¨ �A�����J��~ � ���(¡.���������z�n�| (�|�n�U����� �������%� 1�~ � 3 � 1?� 3D1²���%� � !-�� 1?�%3 � � � 1?�%3F3(���(�j�����k¡.�������%�z���z ��z���U�����
�������%¨X¶t���ä¼ ��� � ¿X¡.�;�����2���������t�U�j�ä�j��� 	Æ� 1�~ � 3-�I1?�%3D1²���%� � ! �� 1?� 3 � � �I1?� 3F3�����¨X©!�%�z� � 1�~ � �K� � � ; � �Ks �� 3-�I1?�%3`�
�[�I� 161�~ � 3-�I1?� 3 6 � ]^�I1?� 3�� 1b� � 3-�I1?�%3 � 1bs �� 3-�  6 1?� 3  � ���r¼-3��j�����:�j�
��§j����� 	 �����2�¢�������!���%���%�z�����[���������j�!�j�
���%���U�����ª�N 
���%�g�U�2�j�J���ª���������%�j�6�������%�

�[�I� 1F1�~ � 3 � 1?�%3 6 � ] � 1?� 35� 1b� � 3 � 1?�%3 � 1bs �� 3 �  6 1?� 3  � ����¼-3
1�~ � 3-�I1?�%3 6 � ]d�I1?�%35� 1b� � 3-�I1?� 3 � 1bs �� 3-�  6 1?�%3  � �[�I� 1�� � ����¼-3

� � ¿ � ��
 
�%���2�	��	 ���%� � 1�~ � 3 � 1?�%3 6 � ] � 1?�%3j� 1b� � 3 � 1?�%3 � 5s �  6 1?�%3j� ¿�¨±©!�%�������U�j���j�¯�:�j����§j������Y%�Æ�j���������L��§j����� �3�j���
��§j����� 	��yJ`�nZÆ� 1 55 �� 3-�I1?� 3bao� 1�¿ ��
� 3D1 57 �� 3-�I1?�%3bap r�%�z���J�<;3�I1?� 3bao� ¿ �

� ¨

·r�|  ���%�=�0�����¢���%����� ��� Y�� ���,�������,� ���������>�I1?�%3 � ����� � ! �� 1?�%3[�j�=�n]^��1?� 3ba � ¼A¨ ©
�%�z�y��� » �j���
;3�I1?� 3ba � ¿���� �������n���r�>�  6 1?�%3ba�	�¼ ���%�z� ���%���%�z�¦�j��� �����n�j�p�j���������[��§j���2� ���j�z�¬�����[�z�[���7�� 
�����2�
�J���5���2�j�����J���L���%�[�%�<�=�������ª�����j���j���z°*��������¡��2�����¢¨�©!�5�=���5�>�  6 1?�%3 � ¼A��;3�I1?� 3���¿��j�������%���z°*�������ª¡��2���=� ���
�%���A¥h���,�ª§*���j�e¨

� �����
�A�����I����� �6��
�� � ��� �I��� �����

���±�����������z�J�������G���(�0�����¬�����%�
�������� ��z�A�
���� 
�=���2�� (�L�[�|���[�*�����:�¦�j�=�±�J�*���z�=�¢���%�����A�%�z�e¨
�������%�Q���*���z�e�¬���J���z�=�ª�������¦�ª�Æ���;���.�z���(���z�����[�����ª���X�j�G�����
�j�������«�j�«���[�=���ª���X�j�G�j�*�*� H 	�¿ 1²�%���.�z�������%�

���n���%�r�j�������«���������2�¦�[�����,�×��3,¨ �r�| (��§j���z�% (�Q�����[���������z�«�j¡=������§j�Q�������«�g�J���z�����������[���;�������.�z���(�=�z�¦���n�����ª���
�j�X§I�j���%�j¨Æ�ë�r�����z�j�������¦���A���ª�U�¦�����L���A�%�z�.���¦�j���ª�N  �U�j�r�j���[�������ª¡=�����ª�7�k�j�Æ���.�j�����U�����ª�k�=���j�����n�%���.�z�������
§��j���%�Q�j�t�������[�����z�n���z���ª§j�����[���=�����z�j�¦�j�¯°5�=�j�¬���ª�ë�j¨Æ�ë�ä «�3���z���j�[�Q�j���¦�������ª¡a�����ª�ë�g���n���%�3���A�%�z�a�j��°*���j�5���ª�7�
�j���[�������ª¡=�����ª�7�p�j���¦���j���A¡5�g§��j���%�!�j���[�������ª¡=�����ª�7�3���%�!�j�=�[��������¡=�����ª�ë�3�j�.�3�.�j�����U�����ª�3�=���j���%���.�z�������%�r����§��j���%�

$jÀ



�j�(�������[�����z�¤���z���ª§j�������j�=�����������%�z���[�J���=�J�����������±���z���<�=�%�k���%��¡=�����j���3�j�=���%�z�[�j�����������z�ä (���j�����7 (�
�%�<�=�=�ª���ª�����ä�j�=�z°*�������ª¡=�2�����±¨ �r�| (��§j���z�¬��§j���2���z°*��������¡��2�����® r�ª����°*���j�5���ª�7�k�j���[�������ª¡=�����ª�7�Q���X�j�����p�j�k�z°*�������ª¡�¥
�2���=�� 
�ª����§��j���%���j���[�������ª¡=�����ª�7�[�j�=�±§*���J�p§j���2���A¨ 1²©!���������!¡0�z���j�=�������������%�n�����%�j�������������7�±�j���¢�J���5�����*���ª�7�
�j�ä�=�����:���2�z���J�z�!�����a���ª�z�;���=���!������§j�����n�z°*�������ª¡��2���=� �  
�%�����%���� 
������°*���j�5���ª�7���j��§��j���%�p�j���[���2���ª¡=�����ª�7� �
���%�g���2���J�g�j�;��§j�������j�5�A� ���r�0���2�ª���ª§j�j¨3©!�%�������U�j���j�.���%�g¡=���%�j���3�����3 
�ª���¤°5�=�j�¬���ª�ë���j���[�������ª¡=�����ª�7���j���¤���%�
���%�� r�ª����§I�j���%���j���[���2���ª¡=�����ª�7���J�����������%�p�j���¢�%�z���J�����[�%�[���%�����z�[�j���¢�������z¨ 3

�������j� �j�����n�J�*���z���¤���%�g���A�%�z�ä���������������%���j���������Q 
�=���2���������[�����������=�z���������j���g�����j�����%�g�j�5�A�G¨
©!�����[���j� ¡.�������%���j�n�:�������| 
��¨®©!�%��¡=�j�����¢�J���=�J���������!�J�%�J�����¦�������j�����=�������ª�����¦��¡0�����[�=�z�j��³G���j�p�j��¥
���������x���z�[�j��� �����[���j���j¨�©!�%���=�|�j��³.�L�j�«�����[�j���������L�����.���2���*���?�ä���������t�n�����[�����¦�[���2�(���z� ¡*���QJ G Z
�[�����2�ª��]d��1?�%3,¨��Õ����HKY�¥h�����J�����.���%�z�5���j]d�I1?�%3XW � a �Æ���.�z���(���z������� 1²�%���%¥7�%���������ª§j� 3L�=�z�j��³ �j�
�j��������Y¤��� �.�J¥
�2�ª�A�g�,�������������±��� �����2�[�g�j�
�j�*�*��H�¨ 0 �����C�������[�*�%�z�h�X�j�2���������������k�U�j�g��§j���2���¬�e] 6 1?�%3��������%���������
�[�����2�ª�C�j���C���¤��� ���z�J�k���%���%���.�z���%�z���J�n�j�
�j�������g�������%�,���L��� ���%�����%�U�j�2�[�����ª��� �z§��j������¡=���j�X�j�2�������n�������
�U�j�¦��§j�����y�?�E]d�I1DC 3[��� ���²¥7�[�z�j���%�2��¡=���j¨ 0 � �j�2�����n�����,���J���%�������¦�C�J�����ª�z�J���ª��� �j���j�2�����¦���������2� �[�����,���J�z���
] 	 1b] � 1?�%3F3 A � � ¨g©!���g�,�ª���¬�����j�(�J���z�=�ª���j�2�p�j�����%��¡=���j�2�3���z�[�j��� �����[���j���j¨�©ä�¢���������2�[���%�k���%���a���j�������j�
�.�����ª���ª�����j�«�j� ���j�z�5���ä���¤�j���ä�����k���<�=���ª���ª���=���=���2�J¥7���������ª�=�ª�m]d�I1?�%3
¡5� ~P��1?� 3r���������z�j���j�5~P�I1?� 3 6 ¨ 0 �J�2�z���ª�
�����¦�ª�L�U�j�¦���j�z�5���L���k���J���5�����5�������k�U�=���J���ª��� " � ¸ � G 9 l� + 9 N l� ���=���¦���g «�z��£A�ª���%�z�J���z�j�����%�����95;¨
0 ���������%�p���A�%�z�e�%�j�������[�Q���������z�j���%�2��¡a�����ª�ë�¦�j����¡.�������%�z�=�%�z���(�J�������ª���ª���=�(�j�=���j�2�������p���������U�j����§j�����
H���Y � � �,�Q r�ª��������� � ¿�� �A1
| � ��� ��� ���%� 
 %	, � � A ��- � = % .10G " � 1b�
�
5�3-�41?�%3XW � a � ¼i��3<� ¼±�j�����ª�8�>��1?� 3ba 	 ¼����%�z�
�A1 < � ��� �� " �F1b�7��¼-3-�L1?� 3XW � a 	®¼ F 3 	 �A1	� 3,¨ 0 �.�j�����U�����ª���=���j��s �Q��� 1 " �5�b~ �K�
� ;�37¥��j�=�[��������¡=�ª�¦�ª���U�j����§j�����
�.���2�ª�A�tH ��Y�� ���,�� 
�����m�8��� � ¿��

���ä���%���������d� (��Q�d�I1?� 3(�j��� H (�� ¿p 
����� ]d�$� 6 1?��((3XW & � a � ¼ ���%�z�
] �$� 6 1?� 3XW � a 1bs �� 1?� 3  3 a � " � 1b�7�
5)�F1�~H�K�7� ;��Ks � 3F3 � 1?�%3XW � a �j���%���� r�����j� 1bs �� 1?�%3  3 a � " � 1b�
�
5 ��1�~ �K�
� ;��Ks � 3F3 � 1?�%3XW � a �
©!�%���ª�z�¦�[�Q���k¡0���=���L�����j�2�����;���j�ª�z�X���z�¦�j�����X���2�%���j�Æ���������z�t¨Æ�ë���X���2�5�j�0�%���z���X�j���j¡*§*�ª���=�¯�[�*�����=�������ª���G¨
©!�%�n¡=���%�j���g�������;�%�z�[�j�=� �������Æ�z�J�������L�
�j���C�z°*�������ª¡��2���=� �������%�<�=���z� �j�g��� ���%�n���A�%�z�e¨�©!�%���j���z� ¿
���z�[�j���������,�%�r�j�����������z�G¨«©!�%���j���z� »��������,�%�r�ª�Õ�*��§j�����5 r�%�����3���n�����«���������z�[�z�¬���% (�3�����=���j�J�EYg¡5� H ��Y�¨;©!�%�
�����*�j�²�p���z°*���ª�����[�����j�L�j�����j¡*§*�����������A���(�=��������������¨[©!�%���J�%�j���=���[�j¡5§A�ª�����2�ª�����z�¦�j�����p���2���j¨¦©!�*�����t (�
���j�¢�J�A���z���±�����L���A�%�z�.���¦�����������%�3�j���������! r�����2���=�����[�����3���n�=�z�����±���j���L�����j�±���%���j�*�A�G¨

�������j�®�j�����
�J���L¡=���%�������z���¤�[�*�����=�������ª�����n�j��� �J�A���z�����������¦�����%���2��§j���
���*���z�r���  
�����,� �j���������
�������¦�����¦�%�z���ª§j����� �j�
�[�j�5���j�5�A���g�j���
���  
�=���2� �j���[�����2�ª¡=�������7�¢�j�!���.�j�����:�����ª�¢�=���j� �%���.�z�����p��� §��j���%�
�j�(�������[�����z���%�z���ª§j�����j¨ 0 §j���2���ª��� �j�(���%�[�ë «�����%���j���z�[�����p���2�%�k�U�j�L�j�¬� �z�J���%����� ���������z���z�¬���z��¡*�¤�������
�%���2��§j�z�±���*���z�t�j�������%���J�%�j���=���p���ª§j�z�¢�������%���2�����������Q����§��j�����G¨

©x�±�J�����������%�j�G�ª���p���Q���z���j���x���=�����������%�����j���k���z�j�����������L�������j�Æ�j���¤�z�J���%���[���k���������ª���%���ª�����z�=���%�����A�%�z�

$jº



��� �������L�=���.���g���=�J�j���.�j�2�����z�g¡=�j�%£*�2�%�����J����� �j�z�%���2�j�(�z°*�������ª¡=�2�����±¨����C�����������A�%�z�e�X���%���2�����g�������z���%���z�
�ª�z���=���%�%�I���%���2�ª���5���x�j�a�%��¡����j�2�Æ�j���g�J���z�������j�2�X�������%���2�ª§j�z�g�U����� ���%���J�A���������%�r�������j�A�:�2�j�[�� «�j��£0���j�k���j�z�¬�<;Ð�
�%���²�j���ª�����������j�2�[�I³0�z�J���!�=�����²�%���%�2�
���2�j�����%���j�=�0�j�2�������ª�ë�[�j����¡=�j�%£*�2�%�����J�[���2�����z�����n�k�[�j�=�%���(�2���[�������«���
 
������ «�n�j¡=������§j�j¨¢µ�§j����� �z�J���%����� ���������z���z�¬���z� ¡5�����=�������A�%�z�;���j�g�j� �z°*�������ª¡��2���=� �j���C 
�ª��� �¦���%�j�
�j���������ª�����j�t�j���2���������ª���=������§j�����¢�z�J�������L�¤���j�
���%���A¥h���2��§*���j�t�z°5�������ª¡��2�����±¨�©!�=���!���A�%�z�ä���
���j¡a�����
�������%�
���z�����p�������
�������%���ª���% «�����j�¢�z�j�������n������ (�z���×¥h£A�%�N 
�± (�z�ª�U���2�p�J³0�z�J���r�j�x¡a�j�%£5�,�%�����J�j¨

��� �²�%���%�2�� (�j��£a�r�������%�C�����������*���z�
�j���S¡=�����������%�¤���®�ª���! (�¤���j�®���5§j�z�����ª����������� ���j��� �%�����j���r���%�
�J³.�z�J���L��� �J���[�0���������ª§j�[�[����£j�����L�j���=�×³0���2�z�¬�p¡=�j��£5�2�������J���2�=�ª�z�
1U�J�*�z�[�����ª�������ä���z�J�|§j�������,���ª�z���t�=�2�ª�j�2�ª�ë�
�2�����z�43,���j�G���×³.�����z�5���J���z���ª�«�����[�ª�Æ���A�����z�[� 1U���%�
 (�z�ª���5�;�������(���%�������k¡.�!�a�%�Æ���¦�j�n���j�z�¬�<;Ð���%���²�j���ª�;���������j���j�
��� 1U�J�A�.�z�J�������ª�����L�j�433�����p�²�%���%�2�k�����J�����j�ä���C�2����£A���%�z�2�r�j���j���������43p�j��� �j���,���j�����2�z�j�J���ª�����,1U�����[�����ª�[�j�
�.�z�������¦���������r�J�*�.�z�J�������ª���=���a�J���5�������������%���j�����[�����ª���������%�����%�L�J³0�z�J���r�j�Æ�����2�¢���z�j�J���ª�������a���%���������p�j�X�J�2�z���ª�
�����¦�ª���
�j�����J�A�z�������ª�����Q���������j�=�����������%���j�=�¤�J���5�������������%�¦���=�2�¤���z�j�J���ª�����L3,¨3©
�����Q���*���z�t�=�%���3���r���¤���%�
�=���������[�g¡.���������!�����%���,�����j�����������j�x¡a�j�%£5�,�%�����J�[�����j�z�%���2�j�.�z°*�������ª¡��2���=� �j���±���z���������(�������%�� ��z�����[�
¡.���������¯�=���%���2�����j�=�����%���j���g�%�z���ª���L�j�=�=���j�������j���j���g�ª�����j�¬���=�����ª���%���ª���=�G�������ä�²�j���������������«�����*�j�����U���=�J���ª�������%�
�j�Æ�J�����.�����ª���ª§j���[���2£j������¨

$+5



� � �����A��

� �

©x��¡=���[¿
� 6 	kO 6 ��O . 1�¿ 35�®¿�¼j¼0O . 1e»+3 � ! 6 	 1�¿��z¿�¼ �z¿ 3
� . 	kO 6 � ¿�¼j¼0O . 1�¿ 35��O . 1e»+3 � ! . 	 1�¿��z¿��z¿�¼-3

Å�����£j�����;���2����¡=���z� 0 �j�z�5��¿ 0 �j�z�5�r»
���2���J�z� ½r���²�j���ª� �����j� ­r�������ª�ë� �«���j� ­r���������7�

�r����� O 6 s 6 � 6 O2. s-. ��.

µ��=�%�| 
�[�z�¬� 1�¿���¿�¼A��¿ 3 ¿j¿j¿ 1�¿���¿���¿�¼-3 ¿j¿j¿

Ä3µ�� 1 66�� . � 6��?66�� . 3 1�¿���¿�¼A��¿ 3 ¼ ¿j¿j¿ 1�¿���¿���¿�¼-3 ¼ ¿j¿j¿
�-1�¿ 3 	�¿���� 1e»+3 	�¿�� " 6 1b��3 	 " . 1b�+3 	 Á0�
Ã��j�%£*�2�%�����J� 1 6. � 6. 3 1²¼A��¿ 3 1e»*�8�*��¿ 3 ¥2¿ ¿j¿j¿ 1²¼A�i»*��¿�¼-3 ¿ »A¿�¼

1 6
.
� 6
.
3 1�¿��Ð¼-3 1²¼A��¿�¼A�i»+3 ¿ »A¿�¼ 1e»*��¿��8�+3 ¥2¿ ¿j¿j¿

¿�� � 1�¿ 3E� º
��� 1e»+3�	�¿�� " 6 1b�+3 	 " . 1b�+3 	 Á0�
Ã��j�%£*�2�%�����J� 1 6. � 6. 3 1²¼A��¿ 3 1e»*�8�*��¿ 3 ¥2¿ ¿j¿j¿ 1²¼A�i»*��¿�¼-3 ¿ »A¿�¼

1 6. � 6. 3 1�¿��Ð¼-3 1²¼A��¿�¼A�i»+3 ¿ »A¿�¼ 1e»*��¿��8�+3 ¥2¿ ¿j¿j¿
º � � 1�¿ 3�� ¿�¼ � �-1e»+3�	 ¿�� " 6 1b�+3 	 " . 1b�+3 	 Á0�
Ã��j�%£*�2�%�����J� 1 6. � 6. 3 1�¿��Ð¼-3 1²¼A��¿�¼A�i»+3 ¿ »A¿�¼ 1e»*��¿��8�+3 ¥2¿ ¿j¿j¿
¿�¼ ��� 1�¿ 3&��¿�¼ � �-1e»+3,� " 6 1b�+3 	 " . 1b�+3 	 Á0�
Ã��j�%£*�2�%�����J� 1�¿��Ð¼-3 1�¿���¿ 3 1�¿���¿�¼A��¿ 3 ¼ ¿j¿j¿ 1�¿���¿���¿�¼-3 ¼ ¿j¿j¿

$jÁ



©x��¡a�ª�L»
� 6 	�¿�¼j¼0O 6 ��O . 1�¿ 3:��À�¼0O . 1e»+3 � ! 6 	 1�¿��z¿�¼ �z¿ 3
� ..	kO 6 �®¿�¼j¼0O . 1�¿ 33��O . 1e»+3 � !�.!	 1�¿�¼ �z¿���¼-3

Å�����£j��� �;���,����¡=�ª�z� 0 �j�z�5�L¿ 0 �j�z�¬�r»
�;�,���J�z� ½r���²�j���ª� �«���j� ­r�������ª�ë� �����j� ­
�������ª�7�

�r����� O 6 s 6 � 6 O . s . � .

µ«���%�| r���z�¬� 1�¿���¿�¼A��¿ 3 ¿zº�¼ 1�¿�¼A��¿��Ð¼-3 ¿j¿�¼

0 �����N �¥7½Q��¡����z� 1 .
�
� .
�
� 6
�
3 1�¿j¿��Ð¼A��¿ 3 ¿j¿zÀ�¼ 1²¼A��¿j¿��Ð¼-3 ¿j¿�¼j¼

Ä3µ�� 1 66�6 � 6��6�6 3 1�¿j¿��8�*�Ð¼-3 ¥2¿ ¿j¿�¼+� 1²¼A�i»*��¿ 3 ¿ »�¼%¿

� 1�¿ 3�	�¿���� 1e»+3�	�¿�� " 6 1b�+3 	 6 � � �6�� �*� " . 1b�+3 	 6 �6�� �
Ã��j�%£*�2�%�����J� 1 �6 � � 6��6 � 3 1²¼A��¿ 3 1�¿j¿���¿���¿ 3 ¥ � ¿j¿zÀA¿ 1²¼A��¿�¼A�Ð¼-3 � ¿�¼j¼j¼

� 1�¿ 3�	®¼ ��� 1e»+3�	�¿�� " 6 1b�+3 	 »�¼ �*� " . 1b�+3 	®»0�
Ã��j�%£*�2�%�����J� 1 6. � 6. 3 1²¼A��¿ 3 1�¿j¿��Ð¼A��¿ 3 ¥2¿�¼ ¿j¿zÀ�¼ 1²¼A��¿j¿��Ð¼-3 ¿�¼ ¿j¿�¼j¼

©!�%���=�×³0���2�z�¬���=���,�j���������2�(�z�����ª���=�����ª§j�z�¢���¢���%�p���J�*�r�����L�����¦�[���2�(���z�±���������L�%�J�A���=���j�j¨

$��



�X���2�j���������,�(�z�����ª������¸

	 ¶ä�����-1�¿ 3 	�¿���� 1e»+3�	�¿ �j�=�±�:�j� �*���×¿��I� �h� �ª��� " 6 1b�+3 	 � 6�� � � � �

6�� �*� " . 1b�+3 	 6�� � �

6�� �*¨�©
�%�z�
1�~ 6 �K�+3 	 1 �

6�� � �
� 6��6�� � �

3&� ;�	 1²¼ �z¿ 3&�
O 6 	 1�¿j¿��z¿�¼ � � �z¿ 3&�^s 6 	 � � � O . 	 1²¼ �z¿8� � ��¼-3&�^s . 	 �

���!�j�±�z°*�������ª¡=�2�����] 
�ª���±�%�������ª���ª�z��1�� 6 ��� . 3�	 1�¿j¿zº�¼ � � �z¿�¼j¼ �®¿�¼j¼��-3,¨

	 ���j�.� � � ¼ �z¿������ª�����-1�¿ 3 	 � ���-1e»+3 	�¿�� " 6 1b�+3 	 � . �  � ��� 6��  � �
6�� �*�!" . 1b�+3 	 � . �  � ��� 6  � �

6�� �*¨;©!�%�z�
1�~ 6 �K�+3 	 1 6��  �

. �  �
� 6��
. �  �

3&� ;=	 1²¼ �z¿ 3&�
O 6 	 1�¿j¿��4� �z¿ 3&� s 6 	 � � ¿�¼ � O . 	 1²¼ �z¿j¿ � � ��¼-3&�rs . 	�¿�¼ � �

���!�j�±�z°*�������ª¡=�2�����] 
�ª���±�%�������ª���ª�z��1�� 6 ��� . 3�	 1�¿j¿zÀ�¼r��� �z¿j¿�¼j¼ � ¿�¼j¼��-3,¨

¾�¼



� � 
 �A� �A���	� �

�������	��
���
��	������������������� �"!#�$
 1�¿�����¼-3,¸���¶t�����j� �
�z�����2���J���������3��� �;�,�ª§I�����n¹����¬���2�j�J���k¹��j��µ��=���j���J�
µ � ���ª�z���J�j�
�&% ;�7/�%0A��� ;G9 � � � J�' �K;>0A;��!����" ��0A�)( �CME��0
�+* �>����;>0 �.º=1e»+3,� $jÁA¿-,¬¾�¼+�*¨

��!-./�"����01�324�5�6�����879�;:������<�"
=
 1e»�¼j¼j¼-3,¸ ��µ � ���ª�z���J�j�.µ�°*�������ª¡��2���=�±�¬�j��� 0 ���������;�,�������%�� 
����� �
����£��j�
½Q���²�j���ª���
�>' �K;�0A;>�*
N���B�C�K� �.ºjÁ=1U¾ 3,�	5�5�À?, 5%�+55¨

���@��A=BC�D���9�5�������FEG�6
3��HJIK��� 1�¿������+3,¸ ��Ã��j�%£*�2�%�����J�±���±�nÅ¢�A�%�z�.�j�Æ­r�=���z���%���z��¹����j���[���
�k�[�������%¨

�4����
���
=L��"�����5�MEG�ONP���RQ@!#���;�������GS3� NT�	!UIK�=�@�5HVQ 1�¿����jº+3,¸ ��©!�%�,�¯�����j�������j� 0 ���J�z�ª���2�����j���j���C©!�%�
�X���ª���5�����9W3�=�j���ª�7�j�
� +.-3
YX 
'=&�C
 � ; 9 ' �K;>0A;��!����" ��0A� � �R�8��� "'������" � 5�Á=1�¿ 3,�X¿-,a¿zÀ*¨

Z ��[K����A��;N\� 1�¿��jÀ��+3,¸ +.-/
 +.-/
�;>�B$ ; 9^] �>� 7

 ¨a·
�� `_;�j�2£a¸ �S�������j¨

Z A=[K�Rab�c
��5�T:"�cNP�1�"
���L"�"d�!U�3He�4�����fEG��SK�=A=[��$L 1�¿����+5�3,¸ ��½r���²�j���ª�n�j��� µ � ���ª�z���J����� � ÄQ�z�����2�j�
µ«°5�������ª¡��2�����]Å��*�%�z�ä 
�ª���������J�����=��������Å����2£j�������
��Å��������%¨aÃ(�j���z������¹��| 
�ª�z���%�������=�����ª����½3�������=�����ª���
�X���.���
·r�%¨ 5*¿�$*�¯¿�����¼A¨

Z A=[K�Rab�=
��5��:=�6N��1�"
=�"L"��d�!U�3He�@�����^gh�3i��"�M� 1�¿����+5�3,¸ �2¹(�������������2�j�e�A½r���²�j���ª���j���±Å�����£j���r¹(�2�j�2�%�z���
�
Å��������%¨

Z A=
"HJI@�"�M[3jk:��;�mlJ�nS6�cgo� 1�¿zÁ��jÁ+3,¸ ��©!�%���%�z�����2�j��Ã��j�%£*�2�%�����J�S¶ä�z L�
�Gp ;�� �����C�K��� � �N�C
�0A�B
rq 7 ���%�(
��B��$ �
¿�$=1U¾ 3,�Gº�¼�º?,*ºA¿zº*¨

s d�HVQ@�1�$
D� Z �DN\� 1�¿����jÀ+3,¸ �Q��0�
&�%7&?D�R��$ ��0A�t( �2-3
'�Mu!
 � �R;�� O � ��
������R;��#� � � " ¨ ���z��� ���%¡=�������������g¹(�%¨

���"�RQ6��v\�5�������w:=�YEx�3�"��� 1�¿����I¾ 3,¸ � 0 ©!�%���j�����j�p½Q��¡��nÃ��j���z�S��� ���%�������j���ª�z�=��¡=�����ª�ë� �j� �Q���[�j�
¹����a�ª���j�e�
� �zyN
 �t¿�¼+�=1U¾ 3,�GÁI¾�¿-,*Á+5%�*¨

���$!U{"��
=[K�@�"
={b�=go� 1�¿��+5N¾ 3,¸ � ;���
!��0A� ' �N7/� ��� � �B�C�@; 9 � � ���CM 
 ' �K;�0D;��!$ ¨ �;�2�����J�������¢­Q���ª§j���2�����7� �;���z���z¨

| ���"�"�"�K}~�	�=����� Z �=���R."�	
=� 1�¿�����$+3,¸ ��½Q��¡���¥Õ¹(���������2�j���%�z� 0 �2�����(Å�����£j�������
� +.-/
<X 
'=&�C
 � ; 9 ' �K;>0A;��!���
� ��7 ���R
%" �aº�¼�1U¾ 3,�GÁjºjÀ?,*ÁjÁjÁ*¨

| �ma3��Q#�"L����Y�9�5�4������:"�<Ex�3�"��� 1�¿����+5�3,¸ �2¹����z���ª�[¹(�A���ª�z���
�r% ;�7/�%0A��� ; 9 p ;����������B��� ' �B;�0A;��!$ �Q¿�¼�À=1e»+3,�
»A¿j¿-,*»I¾¬Á*¨

| ��IK�=����!e�"L"��QU�D�"�9� 1�¿����jº+3,¸ �������=�����������ª�������j�Æµ � ���ª�z�¬���
����£7�A�����,���%�g 
�ª���%���%�r¹����[�[�ª�������z�5���
� +.-3

X 
�= �R
 � ; 9 ' �K;�0A;>� �C� � ��7 ���R
%" �aº�$=1U¾ 3,�.À��jÀ?,*º�¼+�*¨

¾�¿



E �=�=�	!#!��3EG�5�������FEG� � A=�$
"0 �5� 1�¿����jº+3,¸ +.-3
�;��%$S;G9��B0A�K;>� ?D�P
N�(
�� ��� 
>
N�2" ¨aÅ���© �;���z�2��¨

Ex��{=�	I��D�TEG�5���\���4A"HVQK�	IK���	
���������� :=��� EG�Y}D�"!U!U��
 1�¿������+3,¸ ��­r�=�z ������z�%�z�����j��� Ã��j�%£*�2�%�����J�0¸ 0
ÄQ�z�����2�j�tµ�°*�������ª¡��2���=�]Å¢�A�%�z�e�
�9' �K;>0A;��!���4+.-3
�;��%$ �x¿z»*¨

SK�=A"[��	Lb�3EG� 1�¿��+5�»+3,¸ �2¹(���[���A���ª�ë��Å��*���z�e� '3���ª�j�j�.���ª�j��¹(���z�����(�j���±Ã��j�%£*�2�%�=���J�n�����¦ÄQ�z�%���,�j�Gµ�°*�������ª¡�¥
�2����� Å¢�A�%�z�e�
��� 
%"%�(
��B0 ' �K;�0A;>� �C� % ;�7/�B0A�>� �¯¿�¼A�a»I¾ , $jÁ*¨

SK�=A"[��	Lb��EG�5�������
	T�4g �$!/H?��
 1�¿��+5�5�3,¸ ��©!�%� '3�������[�j��Ã��j�%£*�2�%�����J� �r���ª�¢��� �C©ä�2�j�=���%� µ��J�������L�
­Q�����%�,�¯�����QÅ����%���j�
��� 
'���2"'��-E�B� 9'�A9%7/��
 �>���C;�0A� 
I�F; 
>;�0A;��!�R
�� % ;>7��%0A��� ; 9 ' �B;�0A;��!�C�'"�� � $+5 1 $+3,� $�$+5V, $jÀI¾%�
�
�����2���5���z�±�j�Q¹(�N 
�ª�z�6���������������ª��� �¯���.���
·r�%¨�¾¬ºjÀ*¨

SKQK�	��!e�	Q�01�3:"�5�=�����F�9�"g �1�5H?H 1�¿��jÁA¿ 3,¸ �2¹(���z����� �r�����ª���������k���¢Å�����£j�����
 
�ª���������.�����:�z�J�r¹������.�����ª���ª���G�
�
� �L
��B�C�K��0 ' �K;�0A;>� �C�cX 
�= �R
 � ��5*¿+1 $+3,�	$���$?,¬¾�¿�¼A¨

}����9
"HV��
"{D���>� 1�¿��+5%�+3,¸ �I'3�������[�j�t¹(���5���2�j�J���
�j�=��¹(�����.�����ª���ª§j��Å�����£j�����! r�ª����¹(�������ª� �*������� �Æ���2���=���I¥
���ª���t�
�&% ;>7��%0A��� ; 9 ' �B;�0A;��!�C�4+.-/
�;>�B$ �G»A¿+1e»+3,�0»jºjÀ?,*»���$*¨

gx�"
"�b���9��� :=�5�������&EG�1g ���	QK� 1e»�¼j¼j¼-3,¸ � 0 �"'3�������[�j� �x���,�������j�AÃ��j�%£5�,�%�����J� �����*�J�z�=�%���«�j�=� �����j�.�����z�
�
���:�j�2�¦���
�&% ;�7/�B0A�>��; 9Q��
RME�>� � ��7 ���R
%" �a»��=1�¿ 3,�0»jÀjÀ?,*»jÁjº*¨

gx�"������
D��	T� 1�¿���$jÀ+3,¸ �Q��0�
&�%7&?D�R��$@�20�� 0 ���(
�� � �R�>�(
'"��#� "%�R;>�B$ ¨ �Q����§����2�¢­Q���ª§j���2�����7� �;���z���z¨

g ���	Q@�=�TEG��:=� 1�¿����jÁ+3,¸ � �®�5� ½Q���	;ú��Å��j�����
���=���z�%�������,�X���ª�¢�U�j��Ã��j�%£*�2�%�=���J�����
�`% ;�7/�B0A�>�Q; 9 � � � J
' �K;�0A;>� �C�'"!��0A�)( ��M ��0 � *N�>���C;�0 �X¿J¾ 1e»+3,�0»�¼�À?,*»�$A¿�¨

i��"�M�=� go� 1�¿�����$+3,¸ ��µ � ���ª�z���J� �j�������%� �
���ª���j��½r���²�j���ª� �®�%�z� �*�z�����2�ª�7��Å�����£j�����L�����������J�����a�ª�����j�
�
� �L
��B�C�K��0 ' �K;�0A;>� �C�cX 
�= �R
 � �aÁ�$=1eÀ+3,�X¿j¿J¾¬»?,a¿j¿zºI¾%¨

¾¬»


